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BIHE 3
MLBEA A& A (ERGERIZ M)

{txml version="1.0" encoding="UTF-8"7> .
<UGCT_IN200100UV0L ITSVorsion="XML_l. 0" xsi:schemalocation="urn:hl7-org:v3 MCCI_IN200100UV01, xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www, w3, org/
2001/)0{.Schema=instance”>
<id extensien="N. 1.2" root="2.16.840. 1, 113883.3.989. 2.1.3.22"/>
== N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
¢l=~ N, 1.5: Date of Bateh Transmission —>
<responseModeCode codex"D"/>
{interactionld extension="MCCI_IN200100UY01" root="2.16.840. 1. 113883. 1. 67/> .
<name code="N. 1. 1" codeSystem="2.15. 840. 1. 113883.3.989.2. 1. 1.1°/>
<l-- N.1.1: Type of Messages in Batch —=>
(|~ Hessage #1 -->
{PORR_ING49016UV>
<id extension="N.2.r.1” rocot="2.16 840.1.113883.3.989,2.1,3,17/>
¢l=~ N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
<l— N.2,r.4: Pate of Message Creation —>
{interactionld extension="PORR_INO4S016UV" reot="2, 16, 840, 1, 113883, 1,6"/>
{processingCode code="P"/>
{processingiodeCode code="T7/>
<acceptAckCode code="AL"/>
{receiver typeCode="RCV™>
{device classCode="DEV” determinerCode="INSTANCE™>

<id extension="N.2.r.3" root="2.16.840:1.113883.3.989. 2. 1. 3. 12"/> \
¢t— N.2.r.3: Message Receiver Identifier —>
{/device> ‘ .
<freceiver>

{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.Z.r.2" rost="2, 16, B40. 1. 113883, 3, 989, 2. 1, 3. 117/>
<{l— N.2.r.2: Message Sender Identifier —>
</device>
{/sender>
{controlActProcess classCode="CACI” moodCode="EVN">
<code code="PORR_TE049016UV" codeSystem="2. 16. 840. 1, 113883.1, 187/>
!~ HL7 Trigger Event ID —>
effectiveTime value="20101214151617"/>
¢l== (, 1,2: Date of Creation )
<subject typeCode="SUB]">
<investigationEvent classCede="INVSTG™ moodCode="EVN™>
<id extension="C.1.1" root="2,16.840. 1. 113883.3.989.2. 1. 3. 1" />
¢I— C.1.1: Sender’s {case) Safety Report Unique Identifier -~>
{id extension="C.1.8.1" root="2, 16.840. 1. 113883. 3.980.2. 1.3.2"/>
€l— C.1.8.1: Worldwide Unique Case Identification Number -—>
<id extension="]J2.1b" root="2. 16, 840, 1, 113883, 3,989,5,1,3.2.3,. I"">
<|— 88d)2. 1b: WRIFES (FH —
<code code="PAT_ADV_EVYNT* codeSystem="2. 16, B40, 1, 113883, 5, 4"/>
{text>H. 1</text>
¢l== H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information —»
{statusCode code="active™/>
<|— 88aJ2. 7.1 £T. RETESZS —>
{effectiveTine>
{low value="200901017/>
¢1— C.1.4: Date Report Was First Received from Source —>
{/effectiveTime>
<availabilityTime value="200901017/>
¢l— C.1.5: Date of Most Recent Information for This Report ——>
¢reference typefode="REFR™>
<docunent elassCode="D0C” moodCode=~"E¥N™>
<{code code="1" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 27" displayName="documentsHeldBySender” />
{title>C, L 6. L r. 1{/title>
¢l==C,1.8.1.r.1: Documents Held by Sender (repeat as necessary) 1 -—>
<text mediaType="application/pdf” representation="B64">C. L.6. 1. r. 2¢/text>
{l— C.1.6.L.r.2: Included Documents #1 —=>
{/document)
{/reference>
<reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
<code code="1" codeSystem="2, 16, B40, 1, 113883, 3,989, 2, 1, 1. 277 displayName="documentsHeldBySender”/>
{title>C. 1,6.1, r. 1¢/title>
¢l— €, 1.6,1, 1. 1: Documents Held by Sender (repeat as hecessary} #2 —>
{text mediaType="image/jpeg” representation="B64" compression="DF7)C. L. 6. 1. r.2¢{/text>
{l== €, 1.6.1.1.2: Included Documents #2 —>
</document>
{/reference>



{reference typeCoda="REFR™>
<document classCode="D0C" moodCode="EVN">
(code code="2" codeSystem="2, 16. 840. 1. 113883, 3.0989, 2.1, 1. 277 displayName=" 11teratureReference )
<titledJ2. 17, ré/title>
<1 898J2. 17.r B/ HROSE #H1 -
Ctext mediaType="applicatien/pdf” representation="B64™>C.4.r.2¢/text>
¢I— €.4.1.2: Included Documents #1 —>
<hibliographicDesignationText>C. 4. r. 1{/bibliographicDesignationText>
¢l— C.4.r.1: Literature Reference(s) #1 —>
<participation typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG"™ detcrminerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY" determinerCode="INSTANCE™>
¢code code="J2.15.r" codeSystem="1.0.3166.1.2.27/>
<l— eeeJz. 15.r AE K1 —
</location>
{/asLocatedEntity>
{/reprosentedOrganization?
{fassignedEntity>
{/participation>
{/dacument>
{/reference>
¢reference typeCode="REFR™> .
<document classCode="DOC” moodCode="EVN™>
{code code="2" codeSystem="2. 16, 840. 1. 113883. 3, 989.2. 1.1, 27" dlsp]ayﬂane— 1iteratureReference” />
<titled]2. 17, ré/titled
1— @8a72. 17 r BB HRoSE 2 o
Stext mediaType="application/pdf” representation="BB47>C.4.r. 2¢/text>
<1— C.4.r.2: Included Documents #2 —>
<biblicgraphicDesignationText>C. 4. 1. 1</bibliographicDesighationText>
{l— C.4.1.1: Literature Referencef{s) #2 —>
{participation typeCode="AUT">
¢agsignedBntity classCode="ASSIGNED™>
¢representedOrganization classCode="0RG” determinerCode="INSTANCE™
¢aslocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY" determinerCode="INSTANCE">
Ccode code="J2. 15. " codeSystem="L. 0.3166, 1.2.2"/>
¢1— @@aJz. 15. r AME #2 — .
</lacation?
</asLocatedBntity>
(/representedOrganization>
{/assignedEntity>
{/participation>
</document>
¢/reference>
<component typeCode="COMP™>
¢adverseEventAssessment classCode="INVSTG™ moodCode="EVN™>
¢subjectl typeCode="SBJ">
{primaryRole classCode="INVSB]">
<playerl classCode="PSK” determinerCade="INSTANCE™>
<{name>D. 1</name>
¢<!— D.1: Patient (name or initials) —>
¢administrativeGenderCode code="1.5" codeSystem="1.0.52187/>
{I— D.5 Sex —>
{birthTime value="200901017/>
<l— 0,2, 1: pate of Birth —
{deceasedTime value="200901017/>
¢!~=D.9.1: Date of Death —>
¢asIdentifiedEntity classCode="IDENI™>
¢id extension="D.1.1.L" root="2, 16,840, 1, 113883.3.989.2. L.3.7°/>
¢le- D.1.1.1: Patient Medical Record Number(s) and Source(s} of the Record Number (GP Medical Record Nunher) —>
<code code="1" codeSystem="2. 16, 840. 1. 113883, 3,989.2.1.1. 47 displayName="GP"/>
{fasldentifiedEntity>
¢nsldentifiedBntity classCode="IDENT™>
¢id extension="D.1.1.2" reot="2. 16 840.1 1138E3.3.989,2.1.3. 87
¢]— D.1.1.2: Patient Medical Record Number{s} and Source{s) of the Record Nuber {Specialist Record Number) —>
<code code="2" codeSystem="2. I6. 840, 1, 113883, 3, 959. 2. . 1. 47 displayName="Specialist™/>
(/asldentifiedEntityd
{asIdentifiedEntity classCode="IDENT™>
¢id extension="D. 1. 1. 3" root="2.16. 840. 1. 113883, 3,989,2.1.3.9"/>
¢l— D, 1. 1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record Number} —>
<code code="3" codeSystem="2. 16.840. 1. 113863.3.989. 2. 1. 1. 4" displayName="Hospital Record”/>
¢/asldentifiedEntity)>
¢asldentifiedEntity classCode="IDENT™>



<id extension="D. 1. 1.4" root="2.16.840. 1. 113883. 3. 988. 2. 1. 3. 10" /> .
¢!— D.1.1.4: Patient Medical Record Number{s) and Source(s} of the Record Number (Investigation Number) —>
<code code="4" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 4" displayName="Investigation™/>
</asldentifiedEntity>
<role classCode="PRS™>
<code code="PRN” codeSystem="2. 16.840. 1. 113883. 5. 1117/>
<associatedPerson classCode="PSN” determinerCode="INSTANCE">
<nome?D, 10. [{/name>
<1— D. 10, 1: Parent Identification —>
{administrativeGenderCode code="D. 10.6" codeSystem="1.0.52187/>
{1~ D.10.6: Sex of Parent —>
<birthTime value="200301017/>
<1—D,10,2.1: Date of Birth of Parent —>
{/associatedPerson>
¢subjectOf2 typeCode="SB]">
{observation classCode="0RS" moodCode="EVN™>
<code code="3" codeSystem="2. 16. 340. I. 113883. 3. 989. 2. 1, 1. 197 displayName="age"/>
{value xsi:type="PQ” value="10" unit="D.10.2.2b"/>
¢!— D.10.2.2a: Age of Parent (number) —>
<|-- D.10.2.2b: Age of Parent (unit) —>
{/vbservation>
{/subjectOf2>
<subjectDf2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN™>
<code code="22" codeSystem="2. 16, 840, 1, 113883, 3. 989, 2, 1, 1, 19" displayName="lastMenstrualPeriodDate”/>
{value xsi:type="T8" value="200901017/>
¢l=r D.10.3: Last Menstrual Period Date of Parent —»
</observation>
¢/subject0f2>
{sub ject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
<code code="7" codeSystem="2. 16, 840, 1, 113883, 3,989, 2, 1, 1, 19" displayName="bodyWeight”/>
<value x5i:type="PQ” value="580" unit="kg"/>
¢}~ D.10.4: Body Weight (kg) of Parent —>
<{/observation>
</subjectDF2>
{subject0f2 typeCode="SB]">
{abservation t¢lassCode="0BS" woodCode="EYN">
Ccode code="17" codeSystew="2. 16, B40. 1, 113883, 3,989, 2. 1. 1. 197 displayName="height”/>
{value xs5iitype="PQ" value="160" unit="ecm"/>
<!— D.10.5: Height {cm) of Parent —>
{fobservation>
¢/subject0£2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
<cade code="1" coadeSystem="2. 16. B40. 1. 113883, 3. 989. 2. . 1. 20" displayName="relevantMedicalHistoryAndConcurrentConditions”/>
<component typeCode="COKP™>
<observation classCode="0B5" moodCode="EVN™>
{code code="D.10.7.1.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="D.10.7.1.r.1a"/>
<I— D.10.7. 1. r. la: MedDRA Version for Medical Histery #1 —>
{I— D.10,7. L. r. th: Medical History (diseasze / surgical procedure/ etc.} (MedDRA code) #1 ==>
CeffectiveTire xsi:type="IVL_TS™>
<low value="200901017/>
<t— D.10.7. 1. r. 2: Start Date #1 —>
<high value="200901017/>
¢t— P 10.7. 1. x.4: End Date #1 —>
{/oeffectiveTime>
<outboundRelationship2 typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1. 1. 19" displayName="comment”/>
{value xsi!type="ED">D.10.7.l.r.5¢(/value>
¢I— D.10.7.1.xr. 5! Comments #1 ——>
</observation>
£/outboundRelationship2>
<inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS” moodCode="EVN™>
{code -code="13" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" displayName="continuing”/>
<value xsiltype="BL" value="true”/>
<I—D.10.7. 1.x.3: Continuing #1 —>
</observation>
{/inbotundRelaticnship>
{/ebservation>
{/component>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>



Zeode code="D. 10.7.1.r.1b* codeSystem="2. 16. 840. 1. 113883 6, 163" codeSystemVersion='D. 10.7.1, . 12" />
¢!~ D.10.7.1.r.1a: MedDRA Version for Hedical History 2 —>
<l=- D.10.7. 1. . 1b: Medical History (disease / surgical procedure/ etc.) (HedDRA code) #o—
<effectiveTime xsi:type="IVL_TS">
<law value="20090101"/>
¢!— D.10.7.1.1.2: Start Date 2 —>
<high value="200901017/>
¢l— D.10.7.1.r.4: End Date #2 —>
{/effectiveTime?
{outboundRelationship2 typeCode="COMP™>
{ohservation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 19" displayName="comment”/>
{value xsi:type="ED">D. 10, 7. L r. 5¢/value’
<t— D,10,7.1.r.5: Comments #2 —>
{/observation>
</outheundRelationship2>
<inboundRelationship typeCode="REFR™>
(observation classCode="0BS” moodCode="EVN™>
{code code="13" codeSystem="2. 16, 840, 1. 113883.3.989.2. 1. 1, 197 displayName="continuing f>
<value xsi:type="BL" value="true"/>
¢!— D.10.7. 1. 1. 3: Continuing #2 —>
</observation>
</inboundRelationship>
{/ohservation>
¢/component>
{component typeCode="COMP™>
{observation classCode="0BS" mocdCode="EVN™>
¢code code="18" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. L, 19" displayName= hlstoryAndConcurrentCnndltmnText'/)
Cwalue xsi:type="ED"D, 10.7.2</value>
¢l D.10,7.2: Text for Relevant Medical History and Conecurrent Conditions of Parent —>
{/observation>
{/component>
{/organizer>
</subject0f2>
<subject0f2 typeCode="SBJ">
Corganizer classCode="CATEGORY” moodCode="EVN™>
¢code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. L. 1. 20" displayName="drugHistery />
{component typeCode="COMP™>
{substanceAdninistration classCede="SBADM™ moodCode="EVN™>
<effectiveTime xsi:type="IVL_TS">
<low value="200901017/>
¢1— 1. 10, 8. r.4: Start Date #1 —>
<high value="200801017/>
¢1— I, 10.8.1.5: End Date #1 —>
¢feffectiveTimed
{consumable typeCode="CSH™>
<instanceOfKind classCode="INST">
(kindOfProduct classCode="MMAT" determinerCode="KIND*>
<code code="D. 10. 8. r. 2b" codeSystem="TBD-WPID" codeSystemVersion="D. 10.8.r.2a"/>
¢{l— 1. 10,8, r. 2a: MPID Version Date / Number §1 —>
¢!— D.10.8 1. 2b: Medicinal Product Identifier {(WPID} #1 —
<hamedD. 10. 8. r. 1</name>
¢1— D.10.8. 1, 1: Name of Drug as Reported §1 —>
{/kind0fProduct>
</instance0fKind>
{/consumable?
<outboundRelationship? typeCode="RSON">
¢observation classCode="0BS" moodCode="EVN™>
{code code="19" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.197 displayName="indication™/>
<value xsi:type="CE" code="D. 10, 8, . 6b” codeSysten="2. 16. 840 1. 113883. 6. 1637 codeSystemYersion="D, 10. 8. 1. 6a"/>
<l— D.10.8.r.6a: MedDRA Version for Indication #I —>
¢l— D.10.8.r.6b: Tndication (HedDRA code} #1 —>
</ohservation>
</outhoundRelationship2>
¢outboundRelationship? typeCode="CAUS™>
{observation classCode="0BS™ moodCode="EVN™>
Ccode cade="20" codeSystem="2. 16.840.1. 113883, 3.989. 2, 1, 1. 19" displayNeme="reaction”/>
<value xsiitype="CE” code="D. ID. 8. r. Tb” codeSystem="2. 16.840. 1. 113883, 6, 1637 codeSystemVersion="D. 10. 8. 1. 7a"/>
¢l— D.10.8.r.7a: MedDRA Version for Reaction #1 —> .
¢I— D,10.8.r.7b: Reactions (MedDRA code} #1 -—
£/observation>
</outboundRelationship2>
</substanceAdministration>
</component>
{component typeCode="COMP™>



{substanceAdministration classCodé="SBADM"~ moodCode="E¥YN">
{effectiveTime xsi:type="IVL_TS">
<lew value="20050101"/> .
¢l— D.10.B.1,4: Start Date {2 ~>
<high value="200901017/>
<!— D.10.8.1r.5: End Date #2 —>
{/effectiveTime>
Cconsumahle typeCode="CSW™>
" <instanceOfKind ¢lassCode="INST">
<kind0fPreduct classCode="MMAT" determinerCade="KIND">
<code code="D. 10. 8. r. 3b" codeSysten="TBD-PhPID” codeSystemVersion="D. 10.8.r, 3a”/>
<l— D.10.8.r. 3a: PhPID Version Date / Number #2 —>
{l=w D.10.8.x. 3b: Pharmaceutical Product Identifier (PhPID} #2 —>
<name?D, 10, 8. r. 1<{/name>
¢!— D.10.8. 1. 1: Hame of Drug as Reported #2 —>
{/kindOfProduct>
</instanceQfKind>
</consumable>
<outboundRelationshipZ typeCode="RSON™>
{observation classCode="0BS" moodCade="EVN™>
(code code="19" codeSyston="2. 16, 840, 1. 113883, 3,989, 2, 1, 1, 18" displayName="indication”/>
<value xsi:type="CE~ cede="D. 10.8.r.6b" codeSystem="2. 16.840. 1. 1¥3883. 6. 163" codeSystemVersion="D. 10.8.1. 62" />
<!— D.10.8.r.6a: MedDRA Version for Inditcation #2 —->
¢l== D.10.8.r.6b: Indication (MedDRA code) #2 —>
{/observation?
{/outboundRelationship2>
¢outboundRelationshin? typeCode="CAUS™>
<observation classCode="0B5" maodCode="EVN">
{code code="29" codeSystem="2. 16, 840. 1. 113883 3. 989, 2. 1. 1. 19" displayName="reaction”/>
<value xsi:type="CE” code="D. 10.8.r.7b" codeSystem="2, 16, 840, 1, 113883, b, 163" cadeSystemVersion="D, 10, 8., Ta"/>
<l—~ D.10.8.r.7a® MedDRA Version for Reaction #2 —>
<l—— D.10.8.r. 7h: Reactions (MedDRA code) H#2 -=>
{/observation?
¢/outboundRelationzhip2>
¢/substanceAdministration’
</component?>
{forganizer>
</subject0f2>
</role>
</playerl)
¢{subjectOf1 typeCode="SB]">
{researchStudy classCode="CLNTRL" moodCode="EVN™>
<id extension="C.5.3" root="2.16.840.1.113883.3.989.2.1.3.5°/>
<|— C.5.3: Sponsor Study Numher —>
¢eode code="C.5.4" codeSystem="2, 16, B40, 1, 113883, 3,989, 2,1, 1.87/>
¢1-— C.5.4: Study Type Where Reaction{s) / Event(s} Were Observed —>
<{titledC. 5. 2</title> )
¢l== C,5,2: Study Name —>
<autherization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN™>
<id extension="C.6.1.r.17 root="2,16.840, 1, 113883.3,989.2,1,3.6"/>
¢l— €.5.1.r.1: Study Registration Numher #1 —>
Cauthor typeCode="AUT">
{territorialAutherity classCode="TERR">
¢{governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code cade="C.5. L. r.2" codeSysten="1.0.3166.1.2.2"/>
<l=~ C.5.1.r.2: Study Registration Country #1 -~>
¢/governingPlace>
</territorialAuthority>
</author>
{/studyRegistration?
</authorization>
<authorization typeCode="AUTH™> '
{studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C.5.1.r. 1" reot="2. 16. 840, 1. 113883. 3. 989. 2. 1. 3.6"/>
<l— C.5.1.r.1 Study Registration Number #2 —>
<author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY™ determinerCode="INSTANCE™>
<code code="C. 5. 1.1, 2" codeSystem="1,0, 3166, 1,2.2"/>
<!1—— C.5.1.r.2: Study Registration Country #2 —>
</governingPlace>
</territorialAuthority>
</author>
<{/studyRegistration>



</authorization>
{/researchStudy?>
{/subjectOf1>
{subject0f2 typeCode="SBJ">
¢observation classCode="0BS™ moodCode="EVN™>
<code code="3" codeSystem="2. 16. 840. 1. 113883.3.989.2.1. 1. 19" displayName="age”/>
¢value xsi:type="PQ* value="10" mnit="1.2.2b"/>
¢1— D.2.2a: Age at Time of Onset of Reaction / Event (number} -->
¢<I— D.2.2b: Age at Time of Onset of Reaction / Event {unit) -=>
</ohservation>
{/sub ject0E2>
{subjectOf2 typeCode="SBJ]">
{observation classCode="OBS™ moodCode="EVN™)
<cade code="16" codeSystem="2, 16, B40. 1. 113883, 3. 989. 2, 1, 1, 18" displayName="gestationPeriod”/>
¢value xsi:type="PQ” value="10" wnit="D.2.2.1b"/>
¢l— P, 2.2.1a: Gestation Period When Reaction / Event Was Observed in the Foetus (number) —>
¢I— D,2.2. 15 Gestation Periad When Reaction / Event Was Observed in the Foetus {unit) ~>
<fabservation)
{faub jectOf2>
¢subject0f2 typeCode="SB]">
¢observation classCode="0BS" moodCode="EYN™>
<eode code="4" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 197 displayNane="ageGroup™/>
<value xsiitype="CE” code="D.2.3" codeSystew="2.16.840.1.113883.3.989.2.1.1.9°/>
<J— D.2.3: Patient Age Group (as per reporter) —>
{/ubservation?
{/subject0f2>
(subject(f? typeCode="5B]">
¢observation classCode="0B5" maodCode="EVN">
¢code code="7" codeSystem="2. 16. 840. 1. 113883, 3,989. 2. 1. 1. 19" d1splayName— hodyWe1ght'/>
¢value xsi:type="PQ" value="48,2" unit="kg"/>
¢1-- D.3: Body Weight {(kg) —>
{/chservation> ’
</subject0f2>
¢subjectDf2 typeCode="SBJ">
{observation classCode="0BS" moodCade="EVN™>
¢code code="17" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 18" displayName="height"/>
Cvalue xsi:type="PQ” value="152" unit="cn"/>
¢le- D.4: Height (cw) —>
</observation?
<{/subjectdf2>
<subjectOf2 typeCoede="SBJ">
{observation classCode="0BS” moodCode="EVYN">
¢code code="22" codeSystem="2. 16, 840, 1. 113883. 3,989, 2. 1. 1. 19" displayName="lastMenstrualPeriedDate”/>
<value xsiitype="T5" value="20090101"/>
{1— D.4: Last Menstrual Period Date —>
{/observation>
¢/subjectOf2>
(subjectDf2 typeCade="SBI">
{organizer classCode="CATEGORY” moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 112883, 3.989. 2. 1. 1. 20 displayName= *relevantWedicalHistoryAndCencurrentConditions™/>
<component typeCode="COMP™>
{ohservation classCode="0BS" moodCade="EVN™>
¢code code="D. 7. L r.1b" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystenVersion="D. 7. L. 1. 1a"/>
¢l— D.7.1.x. la: MedDRA Version for Medical History #1 —>
¢l— D.7.1.x 1b: Medical History (disease / surgical procedure / etc.) (MedDRA code) #1 —
<effectiveTime xsi:type="IVL_TS">
<low value="200901017/>
(== D.7. L r.2: Start Date §1 —>
<high value="200901017/>
¢|— D.7.1.r.4: End Date #1 —>
{feffectiveTime>
<outboundRelationship2 typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
Ccode code="10" cadeSystew="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 197 displayName="comment”/> -
<value xsiztype="ED7>D. 7. 1. r. 5¢/value> ’
{!— D,7.1.r.5: Comments §1 —>
</observation?
</outboundRelationship2>
<outhoundRelationship? typeCode="EXFL">
<observation classCode="0BS” moodCode="EVN">
¢code code="38" codeSystem="2. 16,840, 1, 113883. 3.989. 2, 1, 1. 18" displayName="familyHistory”/>
¢value xsiztype="BL" value="txue /> N
<l— I.7.1.r.6: Pamily History #1 —>
{/observaticn?
{/outboundRelationship2>



{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moadCode="EVN™>
{code code="13" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="continuing”/>
¢value xsi:type="BL" value="true"/>
¢]l— D, 7.1.r,3: Continuing #1 —>
</observation>
{/inboundRelationship?
</observation)
</ccmponent>
{component typeCode="COMP™>
{observation classCode="DBS" moodCode="EVN">
¢cade eode="D.7.1. r.1b" codeSystem="2. 16. B4D, 1, 113863, 6. 1637 codeSystemVersion="D.7.1.r.1a"/>
{l=— D.7.1.r.la: MedDRA Version for Medical History #2 —>
{I— D.7.1.r. 1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 —>
(effectiveTime xsiitype="IVL_T5™>
<low value="20090101"/>
<l== D.7.1.r.2: Start Date §2 —>
<high value="200901017/>
<!— D.7.1.x.4: End Date #2 —>
</effectiveTimed>
<outboundRelationship2 typeCode="COMP™)>
<observation classCode="0BS" moodCode="EVN">
<code cade="10" codeSystem="2, 16. 840, I. 113883, 3. 989. 2. 1. 1. 18" displayName="comment”/>
{value xsi:itype="ED">D.7.1.r.5¢/value)
<}— D.7.1.r.5: Comments H#2 —>
</observation
{/outboundRelationship2>
<outboundRelationship2 typeCode="EXPL™>
{observation classCode="0BS” moodCode="EVN™>
<code code="38" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2. 1. 1. 19" displayName="familyHistory™/>
<value xsi:type="BL” value="true”/>
<I— D.7.1.r.6: Family llistory H2 —>
</observation>
</outboundRelationshin2>
{inboundRelationship typeCode="REFR™>
{ohservation classCode="0BS" moodCode="EVN™)
<code code="13" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="continuing”/>
{value xsi:type="BL” value="true”/>
¢!— D.7.1,r.3: Continuing #2 —>
{/observation>
</inboundRelationship>
{/abservation>
{/component>
<component typeCode="COMP™>
{ohservation classCode="0BS" moodCode="E¥N"> .
{code code="18" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 19" displayName="historyAndConcurrentConditionText”/>
{value xsi:type="ED">D.7.2{/value>
¢f— D.7.2: Text for Relevant Medical History and Concurrent Conditions {not including reaction / event) —>
</observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS" meadCode="EYN">
{code code="11" codeSystem="2. 165. 840. 1. 113883. 3, 989. 2, L. 1. 18" displayName="concomitantTherapy™/>
<value xsi:type="BL" value="true”/>
<I— D.7.3: Concomitant Therapies —>
{/observation>
{/companent)
{/organizer>
{/subjectOF2>
<subjectOf2 typeCode="SB]">
{organizer eclassCode="CATEGORY” moodCode="EVN™>
{code code="2" codeSystem="2, 16, 840, 1, 113883, 3. 989, 2. 1. k. 20" displayName="drugHistory”/>
<component typeCode="COMP™>
{substanceAdministration e¢lassCode="SBADH" moodCode="EVN™>
{effectiveTima xsi:type="IVL_TS™>
¢{low value="20080101"/>
¢I— D.8.r. 4 Start Date §1 —>
¢high value="200901017/>
<!— D.8.r.5: End Date #1 —>
{/effectiveTime>
<consumable typeCode="CSH">
<instanceQfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{cade code="D.8,r1.2b" codeSysten="TBD-MPID" codeSystemVersion="D.8.r.2a"/>
(l== D. 8. r. 2a: MPID Version Date / Number #f —>
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¢!— D.8.r.2b: Medicinal Product Identifier (MPID) H1 —>
<name?D, 8, r. 1</name>
¢l— D.B.r.1: Name of Drug as Reparted #¥1 —>
</kind0fProduct>
¢/instancedfKind>
</consumable>
<outbottndRelationship2 typeCode="RSON™>
<observation classCode="0BS™ mocdCode=" EVN™>
¢code code="19" codeSysten="2. 16.B840. 1. 113883. 3.589. 2.1, 1. 197 displayNane="indication”/>
¢value xsi:type="CE” cade="D.B.r.6b" codeSystem="2.186. 840, 1. 113883. 6. 163" codeSystemVersion="D.8.r.6a"/>
¢1— D.B.r.6a: MedDRA Version for Indication #1 ——>
¢l— D.8 1.6b: Indication (MedDRA code) #1 —>
¢/observation?
{/outboundRelationship2>
{outhoundRelationshipZ typeCode="CAUS">
Cobservation classCodes"0BS” moodCode="EVN™>
¢eode code="28" codoSystem="2. 16,840, 1, 113883, 3. 989. 2. 1, 1, 19° displayName="reaction”/>
{valtte xsi:type="CE” code="D.8,r. 7b" codeSystew="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="D.8.1.7a"/>
<l— 1.8.r. Ta: MedDRA Version for Reaction #I —>
¢}— D.8.r.7b: Reaction (ledDRA code) #1 —>
</observation®
</outboundRelationship2>
¢/substanceAdninistration>
<fcomponent>
<component typeCode="COMP™>
¢substanceAdministration classCode="SBADM" moodCode="EVN™>
<effectiveTime xsi:type="IVL_TS™>
<low value="20090101%/>
¢l—— D.B.r.4: Start Date #2 —>
<high value="200901017/>
¢l—= D.8.r.5: End Date #2 ~~>
{feffectiveTime>
{consumable typeCode="CSM">
¢instanceOfKind classCode="INST™>
<kindOfProduct classCode=" MAT* determinerCode="KIND™>
¢cade code="D. 8.r.3b" codeSystem="TBB-FhPID" codeSystemVersion="D.8.r.3a"/>
{i— D.B.r. 3a! PhPID Version Date / Numbor —>
¢!— D.8.r.3b: Pharmaceutical Product Identifier (PhPID} #2 —>
<nane’D, 8. r. 1{/name>
¢l—= D, B.r.1: Name of Drug as Reported ¥2 —>
</kind0fProduct>
¢/instanceOfKind>
</consumable>
CoutboundRelationship2 typeCode="RSON">
{observation classCode="0B5" moodCode="EVN™>
<code code="19" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19" displayName="indication”/>
<value xsi:type="CE” code="D.8.r.6b" codeSystem="2.16.840.1.113883.6. 163" codeSystemVersion="D, 8, r, 6a"/>
¢|— D.8.r 6a: MedDRA Versicn for Indication §2 —>
¢I— D.8.x.6b: Indication (MedDRA code) #2 —>
{/observation>
¢/outboundRelationship2>
{puthoundRelationship? typeCode="CAUS™>
{observation classCode="0BS" moodCode="EVN™> -
¢code code="29" codeSystem="2. 16, 840. 1. 113883.3.989.2. L. 1. 19" displayName="reaction”/>
¢value xsiitype="CE” code="D.8.r1.7b" codeSystemn="2. 16, 840, 1. 113883, 6. 163" codeSystemVersion="D. 8. r. Ta™/>
¢l— D.8 r.7a: MedDRA Version for Reaction #2 —>
<l— D.8.r.7b: Reaction {WedDRA code) #2 —>
{/observation>
{/outboundRelationship2>
{/substanceAdministration?
{/component>
{/forganizer>
{/subjectOf2>
{subject0f2 typeCode="SBI">
¢observation elassCode="0BS" moodCode="EVYN™>
(code code="32" codeSystem="2, 16. 840, 1, 113883. 3.989. 2. 1. 1. 19" displayName="reportedCauseOfDeath”/>
¢value xsittype="CE" code="D.9.2.r.1b" codeSysten="Z. 16. B40. 1. 113883. 6. 163" codeSystemVerzion="D.9,2.r 1la™>
¢l— D,9,2.r. 1la: MedDRA Version for Reported Cause(s) of Death #1 —>
¢l— D.9.2.r. 1b: Reported Cause(s) of Death {(MedDRA code} #1 —>
<originalText>D. . 2. 1. 2</original Text>
¢!— D,9.2.r.2: Reported Cause(s) of Death (free text) #L —>
<fvalue>
{/observation>
</subject(}f2>
{subject0f2 typeCode="SB]">



{observation classCode="0BS" moodCode="EVN">
{code code="32" codeSystem="2. 16.840. 1. 113883. 3. 089. 2. 1. 1, 19” displayName="reportedCauseOfDeath™/>
$value xsiitype="CE” code="D.9.2.r.1b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D.9.2.r. 1a">
<l 1,9,2, 1. 1a: HedlRA Version for Reported Cause(s) of Death H2 —>
{1— D.9.2.r.1b: Reported Cause{s} of Death (MedDRA code) H2 —>
<originalText>D. 9. 2. r. 2¢/originalText>
<l—D.9,2,1.2: Reported Cause(s) of Death (free text) §2 —>
</value>
</abservation>
{/subject0f2>
{subject0f2 typeCode="SB]">
{ohservation classCode="0BS" moodCode="EYN">
{code cade="5" codeSystem="2. 16. 840. 1. 113883. 3.989, 2. 1. 1. 197 displayName="autopsy”/>
{value xsi:type="BL” value="true”/>
¢l=- D,9.3 Was Autopsy Done? —>
{outboundRelationship? typeCode="DRIV">
{observatien classCode="0BS" moodCode="E¥N">
{code code="8" codeSystem="2. 168401 113883.3.989.2 1,1, 197 displayName="cause0OfDeath™/>
{value xsiitype="CE" code="D.9.4.r. 1b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystenVersion="D.9.4.r.1a">
¢l==D,9.4.r. la: MedDRA Version for Autopsy-determined Causze(s) of Death #1 —»
¢l— D, 98, 4.xr.1b Autopsy—determined Cause{s) of Death (MedDRA cade) #1 —
CoriginalText>D. 9. 4. r. 2¢/originalText>
1 D.9, 4. 1. 2: Autopsy-determined Cause{s) of Death (free text} #1 —>
{/value>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCade="DRIV">
{observation classCode="0B5" moodCode="EYN™>
{code code="8" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="causeOfDeath”/>
<value xsi:type="CE” eode="D. 9, 4.T. Ib” codeSystem="2. 16. 840. !, 113883. 6. 163~ codeSystenVersion="D.9.4.r, 1a™>
¢!— D.9.4.r. 1a: MedDRA Version for Autopsy~determined Cause(s) of Death #2 —>
¢1— D9, 4. r. 1b Autopsy-determined Cause(s) of Death {MedDRA code) #2 ——>
{originalText>D. 9. 4.r. 2¢/originalText>
<!— D.9.4.r.2: Autopsy-determined Cause(s) of Death {free text) #2 —5
</value>
<fobservation>
</outhotndRelaticnship2>
{/observation>
</subjectDE2>
<{subfect0f2 typeCode="SB]™>
{observation classCode="0BS" moodCode="EVN™>
<id root="154eb889-958b—45f2-a02f-42d4d6f4657£"/>
{code code="29" codeSystem="2. 16.840. 1. 113863. 3. 989. 2. 1. 1. 197 displayName="reaction”/>
<offectiveTime xsi:type="IVL_TS">
<low value="200901017/>
{|— E.i.4: Date of Start of Reaction / Event $#l —>
<high value="20000102"/>
¢l=~ E.i,5: Date of End of Reaction / Event #1 —>
</effectiveTime>
{value xsi!type="CE” code="E.i.2. 1b" codeSystem="2. 16. B40. . 113883. 6. 163" codeSystemVersion="E. 1,2, 1a">
¢l E.i.2 la: MedDRA Version for Reaction / Event #1 —>
{!— E.i.2.1b: Reaction / Event (MedDRA code) #1 -=>
{originalText language="E.i. 1. 1b">E.i. 1. la$/originalText)
¢!— E.i. L 1a: Reaction / Event as Reported by the Primary Sowrce in Native Language #1 —>
¢!— E.i. L. ib: Reaction / Event as Reported by the Primary Source Language $1 —>
<{fvalue>
<location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY”" determinerCode="TNSTANCE™>
{code code="E.1.9" codeSystem="1,0, 3166,1,2,2°/>
¢l E.i,9: Identification of the Country Where the Reaction / Event Occurred #1 —)
</locatedPlace>
{/locatedEntity>
</location>
<outboundRelationship2? typoCode="PERT™)
{ohservation classCode="0BS" moodCode="EVN">
<code code="30" codeSystem="2. 16. 840. I. 113883. 3. 989, 2. 1. 1. 19" displayName="reactionForTranslation™/>
{value xsi:type="ED"DE. L. 1l.2</value>
¢!— E.i.1.2! Reaction / Event as Reported by the Primary Source for Tramslation #1 —>
{/observation)
¢/watboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code eode="37" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. L. 1. 19" displayName="ternHighlightedByReporter™/>
<value xsi:type="CE” code="E.i.3.1" codeSysten="2.16.840. 1. 113883, 3.989.2,1.1. 10"/>
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¢l— E.i.3.1: Texrm Highlighted by the Reporter #1 —>
{/cbservation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
¢observation classCode="0BS" moodCode="EWN">
(code code="34" codeSystem="2. 16.840. 1. 113883, 3,988.2.1.1.19" displayName="resultsInDeath”/>
¢value xsittype="BL" value="true”/>
¢l— E.i.3.2a: Results in Death #1 —>
</obgervation?
{foutboundRelationship2>
<outboundRelationship2 typeCode="FPERT">
<observation classCode="0BS” moadCode="EVN™>
<code code="21" cedeSystem="2, 16.840. 1. 113883, 3.989. 2. 1. 1, 197 displayName="islifeThreatening”/>
<value xsiitype="BL" nullFlavor="NI"/>
<l— E.i,3.2b: Life Threatening #1 ~>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
Ccode code="33" codeSystem="2. 16. 840, 1. 113883, 3,989, 2, 1.1.197 displayName="requiresInpatientHospitalization™/>
¢value xsi:type="BL" value="true”/>
¢l— E.i.3.2c: Gaused / Prolonged Hospitalisation 1 —>
</ohservation?
</outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
(observation eclassCode="0BS" moodCode="EVN">
¢code code="35" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
¢vyalue xsi:type="BEL" nullFlaver="NI"/>
¢l E.i.3.2d: Disabling / Incapacltatmg #1—>
</observation?
&foutboundRelationship2>
<outboundReletionship2 typeCode="PERT">
{chservation classCode="0BS™ moodCode="EVN">
<code code="12" codeSystem="2. 16. 840. 1, 113883,3.989.2. 1. 1. 19" displayName="congenitalAnomalyBirthDefect”/>
¢value xsi:type="BL” nullFlavar="NI"/>
¢l— E. i 3.2" Congenital Apomaly / Birth Defect 1 —>
{/observation?
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="26" codeSystem="2. 16.540. 1. 113883, 3,989.2.1.1.197 displayName="otherMedicallyInportantCondition”/>
<value xsi:type="BL" value="true”/> :
(1=~ E.1i.3.2f: Other Medically Important Condition #1 ~->
{/observation?
</outboundRelationship2>
SoutboundRelationship2 typeCode="PERT™> .
{ebservation classCode="0BS" moodCode="EVN">
<code code="27" codeSysten="2. 16. 840, 1. 113883, 3.989.2.1. 1. 19" displayName="outcome™/>
<value xsi:type="CE" code="E.i.7" codeSystem="2.16.840, 1 113883.3.989.2.1. 1. 115
{!— E.i.7: Qutcome of Reaction / Event at the Time of Last Observation H#1 -->
</cbservation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EVN™>
¢code code="24" codeSyster="2. 16, 840, 1. 113883. 3. 989.2. 1. 1. 19" displayName= medxcalConflrmats.onByHenlthPrnfessmnal h
<value xsi!type="BL” value="true™/>
<l== E.i.8: Medical Confirmation by Healtheare Professional #1 —»
{/observation>
</outboundRelationship2>
<outhoundRelationship2? typeCode="PERT™>
¢observation classCode="0BS” moodCode="EVN™>
¢code codo="11" codeSystem="2. 16. 840, 1. F13883.3.989.5.1.3.2. 1. 107 displayName="351 + EE&D"/>
Cyalue xsi:type="CE” code="J2.14.i" codeSysten="2, 16,840, 1, 113883. 3.989.5. 1. 3. 2. L. 87/
¢l-- g@dJ2. 14. i k80 - BEA #1 —>
</observationd '
</outboundRelationship2>
</observation?
</subjectOf2)
CsubjectOF2 typeCode="SB]">
Cobservation classCode="0BS” mocdCode="EVN™>
¢id root="2baa2Bd6-cOe8-4e6c-93e9-5b860b3142207/>
<cade code="29" codaSystem="2. 16. 840, . 113883, 3. 989.2. 1. 1. 19” displayName="reaction™/>
<effectiveTime xsi:type="IVL_TS™>
<low value="200001017/>
¢1— E.i.4: Date of Start of Reaction / Event #2 —>
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{width value="24" unit="E. i.6b"/>
{!— E.i.6a: Duration of Reaction / Event {number} #2 —
¢l=— E. i, 6b: Duratien of Reaction / Event (unit} #2 —>
¢/effectiveTime>
{value xsi:type="CE” code="E, i, 2, 1b" codeSysten="2, 16, 840. 1. 113883, 6, 1637 codeSystenVersion="8.1.2. 1a™>
<l— E.1i.2.1a: MedDRA Version for Reaction / Event #2 —=>
<!— E.i.2.1b: Reaction / Event (MedDRA code) #2 -->
{originalText language="E.i.1.1h">E. {. 1. la¢/originalText>
{l—— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #2 —
<!~ E.i.1.1b: Reaction / Event a5 Reported by the Primary Source Language #2 —>
</value)
<location typeCode="LOC™>
<locatedEntity classCode="LOCE™»
{lacatedPlace classCode="COUNTRY™ determinerCode="INSTANCE™>
{code code="E.i.8" codeSystem="1.0.3166.1.2.2°/>
¢{}— E.i.9: Identification of the Country Where the Reaction / Event Occurred #2 —>
</locatedPlace>
{/locatedEntity>
{/location> .
{outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCede="EVN™>
{code code="30" codeSystem="2, 16. 840, 1. 113883, 3,989, 2. L. L. 19" displayName="reactionForTranslatien™/>
<value xsi:type="ED">E. i.1.2¢/value>
¢I— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —>
{/observation>
¢/outboundRelationship2>
<outhoundRclationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
Ccode code"37" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, I, 1. 197 displayName="termHighlightedByReporter®/>
<value xsi:type="CE" code="E.i.3.1" codeSysten="2.16.840.1. 113883. 3.989.2.1. 1. 10°/>
I E.i.3.1:Term Highlighted by the Reporter #2 —>
</abservation> .
{/outboundRelationship2>
{outboundRelaticnship2? typeCode="PERT">
{abservation classCode="0BS" moadCode="EVN™>
<code code="34" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
¢!— E, i3 2a: Results in Death #2 —>
{/observation>
<{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCede="EVN"> . .
{code code="21" codeSystewm="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 197 displayName="isLifeThreatening”/>
<value xsi:type="BL" nullFlavar="NI"/>
¢!— E.i.3.2b: Life Threatening #2 —>
¢/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
¢observation classCode="0BS” moodCode="E¥N™>
{code code="33" codeSystem="2. 16, 840, 1, 113883. 3. 989, 2. 1. 1. 19" displayName="requiresInpatientHospitalization™/>
<value xsi:type="BL" value="true”/>
¢l== E.i,3, 2c: Caused / Prolonged Hospitalisation #2 —>
</observation>
</outboundRelationship2>
<outboundRelationshipZ typeCode="PERT™>’
{observation classCode="0B3" moodCode="EYN™>
<eode code="35" codeSystem="2. 16. 840, 1. 113883, 3, 989.2.1. 1. 197 displayName="resultsInPorsistentOrSignificantDisability™/>
<value xsi:type="BL" nullFlavor="NI"/>
¢I~~ E.i.3.2d: Disabling / Incapacitating #2 —->
{/ubservation’
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
{observation elassCode="0BS" moodCode="EVN™>
{code code="12" codeSystem="2, 16. §40. 1. 113883. 3. 980. 2. 1. 1. 19" displayName="congenitalAnomalyBirthDefect™/>
<value xsiitype="BL" nullFlaver="NI"/>
¢!== E, i, 3, 2e: Congenital Anomaly / Birth Defect #2 —>
{/observation>
</outboundRelationship2)
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCade="EVN™>
{eode code="26" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2, 1, 1. 19" displayName="otherMedical lyImportantCondition™/>
¢value xsi:type="BL" value="true”/>
¢!— B.i.3.2f: Other Medically Important Condition #2 ~=>
</aobservation>
{/outboundRelationship2>
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¢outboundRelationship2 typeCode="PERT™>
{observation classCodes"0BS” moodCode="EVN™>
{code code="27" codeSystem="2, 16. 840. 1. 113883. 3, 989.2.1.1. 19" displayName="outcone”/>
¢value xsi:type="CE” code="E.i.1" codeSystem="2, 16.840.1.113883.3.988.2. 1. L, 117/
¢l-= E,i.7: Outcome of Reaction / Event at the Time of Last Observation #2 -->
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
Cobservation ¢lassCode="08S" woodCode="EVN™>
<code code="24" codeSystem="2. 16, 840, 1. 113683.3.989,2.1,1.197 displayName="medicalConfirmationByHealthProfessional™/>
<value xsiitype="BL” value="true”/>
¢l—- E.i.8: Medical Confirmatien by Healthecare Professienal #2 -—>
</observation>
{/outboundRelationship2>
¢outhoundRelationship2 typeCode="PERT™>
{chservation classCode="0BS" woodCode="EVN™>
<code code="11" codeSystem="2, 16. 840. L. 113883. 3. 989, 5. 1. 3. 2. 1. 10" displayName="5%41 - BE"/>
¢value xsiitype="CE™ code="J2.14.i" codeSystem="2. 16.840. 1. 113883, 3.989.5.1.3. 2. 1, 87/
<J-- GABJ2.14. 4 k& - B 42 >
{/observation>
{/cutboundRelationship2>
{fobservation>

¢/subject0f2>

{subject0f2 typeCode="SB]™>
{observation classCode="08S" moodCode="EVN™>
¢id root="3a8626ch-9f1b~4caR-Babf-e0ff34430adf" />
{code code="29" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 187 displayName="reaction”/>
LeffectiveTime xsi:type="IVL_T$™>
{width value="24" umnit="E.i.6b"/">
¢l~- E.i.6a! Duration of Reaction / Event (number) #3 —->
¢l— E. i.6b: Duration of Reacticn / Event {unit) #3 —
<high value="201012017/>
¢l— E.i.5: Date of End of Reaction / Event #3 —>
¢/effectiveTime>
Cvalue xsiitype="CE™ code="E.i.2.1bh"” codeSysten="2. 16.840.1. 113883.6. 163" codeSystemVersion="E, i.2.1a™>
¢t~ E.i.2. 1a: MedDRA Version for Reaction / Event #3 —>
¢1— E.i.2.1b: Reaction / Event (MedDRA code) #3 —>
<originalText anguage="E.i.1.1h">E. i, 1.1al/originalText>
¢l— E.i. 1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #3 —>
¢l E.i.1.1h! Reaction / Event as Reported by the Primary Seurce Language #3 —=>
<fvalue>
<location typeCode="LOC™>
¢locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY™ deterwinerCode="INSTANCE">
¢code code="E. i.9" codeSyster="1.0.3166.1.2.2°/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #3 —>
{/locatedPlace>
</locatedEntity>
¢flocation>
{outhoundRelationship2 typeCode="PERT">
" (observation classCode="0BS” moodCode="EVN™>
(code code="30" codeSysten="2.16. B40. 1. 113883, 3, 989. 2. 1. 1. 187 displayName="reactionForTranslation™/>
<value xsi:type="ED"JE. i. 1, 2¢{/value>
¢!— E.i,1.2: Reaction / Event as Reported by the Primary Source for Translation H3 —=>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. I6. 840. 1. 113883. 3. 98%. 2. 1. 1, 19" displayName="ternHighlightedByReporter”/>
<yalue xsi:type="CE” code="E.i.3.1” codeSysten="2, 16, 840.1.113883.3.089.2.1. 1, 107/>
¢!— E.i.3.1:Term Highlighted by the Reporter #3 —
{/ohservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
¢observation classCode="0BS” moodCode="EVN™>
<code code="34" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1.1.19" displayName="resultsInDeath”/>
<value xsi:type="BL* value="true”/>
¢t— E.i.3.2a: Results in Death #3 —>
{/ohservation>
</outhoundRelationship2>
CouthoundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCade="EVN">
<code code="21" codeSysten="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 197 displayName="isLifeThreatening™/>
¢value xsi:type="BL” nullFlavor="NI"/>
¢l— E.i.3.2b: Life Threatening #3 —> -
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{/observatian>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{cbservation classCode="0BS" moodCode="EVN™>
{code cade="33" codeSystex="2. 16. 840. 1. 113883, 3. 989, 2. 1.1, 19" displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" valuc="true”/> :
¢l— E.i.3.2: Caused / Prolonged Hospitalisation H3 -—>
{/ohservatian>
</outhoundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{code code="35" codeSystem="2. 16.840. 1. 113683, 3. 989. 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL™ nullFlavor="NI"/>
<!l— E.i.3.2d: Pisabling / Incapacitating #3 —>
{/chservation> .
<foutboundRelationship2>
<outhoundRelationship2 typeCade="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="12" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL" nullFlaver="NI"/>
¢l— E.i.3.20: Congenital Anomaly / Birth Defect #3 —>
{/observation>
{/outboundRelationship2>
CoutboundRelationship? typeCode="PERT™>
<abservation classCode="0BS" moadCode="E¥N™>
<code code="26" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 197 displayName= otherMedicallyTmportantCondition™/>
<value zsiitype="BL" value="true"/>
¢lw~ E.i.3.2f: Other Medically Important Condition #3 —>
{/ohservation>
</outboundRelationship2?
{outboundRelationship2 typeCode="PERT™>
<abservation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2, 16.840. 1. 113883. 3, 989, 2. L. 1. 19" displayName="outcome”/>
<value xsi:type="CE" eode="E.i.7" codeSystem="2.16.840.1.113883.3.989.2. 1. L. 11"/
{!— E.i,7: Dutcome of Reaction / Event at the Time of Last Observation #3 —>
</observation>”
</outbotndRelatiohship2>
CoutboumdRelationship? typeCede="PERT™>
¢abservation classCode="0B5" moodCode="EVN">
{code code="24" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. L. 1. 19" displayName="medicalConfirmationByHealthProfessional”™/>
<value xsi:type="BL” value="true"/>
¢l— E.i,8: Medical Confirmation by Healtheare Professional #3 —>
{/observation> .
</outboundRelationship2>
¢outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code code="11" codeSystem="2, 16.840.1. 113883. 3. 989.5, 1. 3. 2. 1. 107 displayName="340 - BEAN"/>
{value xsiltype="CE" code="J2 14.1i" codeSystem="2, 16.840 1 113883.3.989.5.1.3.2.1..8">
<l- o88J2, 14. i & - BEa #3
{/observation>
</autbeundRelationship2>
</observation>
{/subjectDf2>
<subject0f2 typeCode="SB]">
<observation classCode="0BS" moodCode="EVN"™>
<id root="2e99840f-08b4-499c-B0Ff-ddB415f4f8a5"/>
<code code="20" codeSystew="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 197 displayName="reaction”/>
{effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="IVL_TS™Y
<low value="200901017/>
{l-- E.i.4: Date of Start of Reaction / Event #4 —>
<high value="201012017/>
<[~ E.i.5: Date of End of Heaction / Event #4 —>
<fconp>
{comp xs5i:type="IYL_TS” operater="A">
<width value="24" unit="E.i.6b"/>
(!— E.i.6a: Duratien of Reaction / Event {number} #4 —>
{1— E.i.6b: Duratien of Reaction / Event {unit) #4 —>
{/conp?
<feffectiveTime>
<value xsi:type="CE” code="E.i.Z2.1b" codeSysten="2. 16. 840. 1. [13883. 6. 163" codeSystemVersion="E. i, 2.1a">
<!— E.i.2 la: McdDRA Versicn for Reaction / Bvent §4 —>
{l-~ E.i.2.1b: Reaction / Event (MedDRA code} #4 —>
<originalText language="E.1, 1, Ib™3E, i, 1, la¢foriginalText>
{l-— E.i. L. 1a: Reaction / Event as Reported hy the Primary Seurce in Native Language #4 —>
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¢}— E.i.1.1b: Reaction / Event as Reported by the Primary Source lLanguage #H—

</value>
¢location typeCode="LOC">
<locatedEntity classCode="LOCE™>
ClocatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code eode="E.i.9" codeSystem="1.0. 3166, 1,2.2"/>

¢<I— E,i.9: Identification of the Country Where the Reaction / Event Occurred #4 —>

¢/locatedPlace>
{/locatedEntity>
</lecation>
CoutboundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EYN">
(cade code="30" codeSystem="2. 16.840. 1, 113883, 3,989, 2, 1. 1. 197
<value xsi!type="ED"JE. 1. 1. 2¢{/value’

displayName="reactionForTranslation”/>

¢!— FB.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 —>

{/observation>
</outbeundRelationship2> -
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS™ moadCode="EVN™>
{code code="37" cndeSysteh='2.16.840.1.113883.3.989.2.l.l.19'

displayNawe="ternHighlightedByReporter™/>

¢value xsi:type="CE” code="E.1.3.17 codeSysten="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 10°/>

¢l— B.i.3. 1:Term Highlighted by the Reporter #4 ——>
{/observation>
¢/outboundRelationship2>
¢outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
Ccode code="34" codeSystem="2, 16.840. 1.113883.3,989.2,1.1,197
¢value xsiitype="BL" value="true"/>
¢1— E.i,3.2a! Results in Death #4 —>
{/abservation?
</outboundRelationship2>
<outboundRelationship? typeCade="PERT™>
{observation classCode="0BS" moodCode="EVN">
<code code="21" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1, 1. 197
{value xsiitype="BL” nullFlavor="NI"/>
¢l— E.i.3.2b: Life Threatening #4 —>
{/observation>
¢/outhoundRelationship2>
CautboundRelationship2 typeCode="PERT">
{ohservation classCode="0BS* moodCode="EVN">
¢eode code="33" codeSysten="2, 16, 840, 1, 113883. 3. 989. 2. L. 1. 19"
¢value xsi:type="BL” value="true"/>
¢l— E.i.3.2c! Caused / Prolonged Hospitalisation #4 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS™ moodCode="EVN™>
¢code code="35" codeSystem="2, 16.840. 1. 113883. 3. 989.2.1.1,197
Cvalue xsi:type="BL” nullFlavor="NI"/>
(l— E.i.3.2d: Disabling / Incapacitating #4 —>
{/ohservation>
</outhcundRelatienship2>
{outboundRelationship? typeCode="PERT">
Cohservation classCode="DBS" moodCade="EYN™>
¢code code="12" codeSystem="2. 16, 840, 1, 113883. 3.988. 2, L. 1, 19"
¢value xsi:type="BL” nullFlavor="NI"/>
¢l— E.i.3.2: Congenital Anomaly / Birth Defect #4 —>
¢/observatiand
<foutboundRelationship2>
{outboundRelaticnship? typeCode="PERT™>
(observation classCode="085" mocdCode="E¥YN™>
<code code="26" codeSystem="2, 16, 840, 1. 113883.3.989.2.1. 1. 19"
¢value xsi:itype="BL” value="true”/>
¢I— E,i.3.2f: Other Medically Important Condition #4 —>
{/observation>’
{/outboundRelationship2>
¢ontboundRelaticnship? typeCode="PERT >
<cbservation classCode="0BS" moodCade="EVN">
<eode code="27" codeSystemF'2.16.84D.l.113383.3.989.2.111.19'

displayName="resultsInDeath™/>

displayBame="isLifeThreatening”/>

displayName="requiresInpatientHospitalization™/>

displayNane="resul tsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect™/>

displayName="otherMedicallyImportantCondition™/>

displayName="outcome”/>

¢value xsi:type="CE” code="E.1. 7" codeSystem="2. 16, 840. 1. 113883, 3.989. 2. 1. L. 117/>
¢!— E.i.7: Outcome of Reaction / Event at the Time of Last Chservation #d4 —>

<{/cbservation>
</outboundRelationship2>
{putboundRelationship? typeCode="PERT™>
¢observation tlassCode="0BS" moodCode="EVN">
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{code code="24" codeSysten="2. 16. B40. 1. 113883 3. 989. 2. 1. 1. 19" displayName="medicalConfirmationByteal thProfessional” />
<value xsi:type="BL" value="true”/>
{l— E.i.8! Medical Confirmation by Heslthcare Professional #4 —>
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="E1" codeSysten="2.16. B40. 1. 13883, 3. 989, 5, 1. 3.2.1. 10" displayName="g2H0 - BEM"~/>
{value xsiitype="CE” code="]J2.14.i" codeSysten="2, 16,840, 1. 113883.3,989.5.1.3.2.1.8"/>
<I— g2, 14. 1 5@ - BEE # —
{/ohservation>
{/outboundRelationship2>
{/observationd
{/subject0f2>
<subjectOf2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVNT) .
<id root="1071064c-cf10~4a3b=83c1-34f9ddbTeabd” /> ' .
{code code="29" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. L. 1. 18" displayName="reaction”/>
{effectiveTime xsi:type="IVL.TS™>
<law value="20090101"/>
<l— E.i.4: Date of Start of Reaction / Event #5 —>
{/effectiveTimed>
<value xsi!type="CE" code="E.i.2.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="E. 1.2 Ia™>
{!— B.i.2.1a: MedDRA Version for Reaction / Event #5 —>
<l— E.i.2,1b: Reaction / Event (MedDRA code) #5 —>
{originalText language="E.i. 1, 1b")E, i, L, la{/originalText>
{!-- E.i.l.1a: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
¢{!— E.1i.1.1b: Reaction / Event as Reported by the Primary Source Languoge #5 —>
{/value>
¢location typeCode="LOC">
{locatedEntity classCode="LOCE™>
<lacatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E.i.9" codeSystem="1,0.3166,1,2,27/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
{/locatedPlace>
</locatedEntity>
</location
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0B5" moodCode="EVN">
<code code="30" codeSystem="2, 16, 840, 1. 113863, 3. 989, 2, 1, 1. 19" displayName="reactionForTranslation™/> !
{value xsi:type="ED">E. i, 1. 2¢/value>
<l~= E.i.1, 27 Reaction / Event as Reported by the Primsry Source for Translation #5 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2. 16, 340. 1. 113883. 3. 989. 2. L. 1. 19" displayName="ternHighlightedByReporter”/>
¢value xsiitype="CE” code="E.i.3.17 codeSystem="2.16.840.1.113883.3.989.2.1. 1. 10°/>
i~ B.1i.3, 1:Term Highlighted by the Reporter #5 —>
{/abservation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT>
<ohservation classCode="0BS” moodCode="EVN">
<code code="34" codeSystew="2. 16. 840. I. 113883, 3. 989.2.1. 1. 19" displayName="resultsInDeath”/>
Cvplue xsi:type="BL” value="true"/>
<!— E.i.3.2a: Results in Death #5 —>
{/observaticn>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" macdCade="EVN™>
Ccode code="21" codeSystem="2, 16, 840, 1, 113883, 3,989, 2, 1, 1. 19" displayName="isLifeThreatening”/?
{value xsi:type="BL" nullFlaver="NI"/>
¢|— E i,3,2b: Life Threatening #5 —>
{/observationd
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{abservation classCode="0BS" moodCode="EVN">
{eode code="33" codeSystem="2, 16, 840, 1, 113863, 3. 589, 2, 1, 1. 19" displayName="requiresInpatientospitalization™/>
{value xsi:type="BL™ value="true”™/>
{l— E.i.3.2¢c: Caused / Prolonged Hospitalisation H5 —>
</observation>
{/outbeundielationship2>
{outhoundRelationship2 typeCode="PERT™>
{chservation classCode="0BS" moodCode="EYN">
{code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
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¢value xsi:type="BL" nullFlavor="NL"/>
<|— E.1.3.2d: Disabling / Incapacitating #5 —>
{/observation®
</outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS™ moodCode="EYN™>
<code code="12" codeSysten="2. 16. 840, 1, 113883. 3. 989, 2. 1. 1. 197 displayName= " congenitalAnomal yBirthDefect />
¢value xsi:type="BL" nullFlaver="NI"/>
¢l— B.i.3.%: Congenital Anomaly / Birth Defect #5 —>
{/ohservation>
</outboundRelationshipn2>
¢outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodGode="EVN">
<code code="26" cudeSystenh 2. 16. 840, 1. 113883, 3. 589. 2. 1. 1. 19° displayName= “otherMedicallyImportantCondition™/>
<value xsi:type="BL" value="true”/>
¢l E.i.3. 2f: Other Medically Impertant Condition #§ —>
</observation>
<foutboundRelationshipZ>
<outboundRelationship2 typeCode="PERT™>
¢observation classCode="0BS" moodCode="EVN™>
{code code="27" codeSystem="2. 16, 840, }.113883.3.989.2. 1. L. 197 dlsplayName- outcome”/>
¢value xsi:type="CE” code="E.i.7" codeSystem="2. 16, 840. 1. 113883.3.989.2. 1. 1. 117/
¢l— E. i, 7: Outcome of Reaction / Event at the Time of Last Observation #5 —>
{/observation?
</outboundRelationship2>
SoutboundRelationship? typeCade="PERT™>
{ohservation classCode="0BS" maodCoda="EVN™>
{code code="24" codeSystem="2, 16. 840. 1. 113883, 3.980. 2, L. 1. 19" displayName= “medicalConfirmationByHealthProfessional />
{value xsi:type="BL" value="true™/>
<|-- E.i.8: Medical Confirmation by llealthcare Professicnal #5 —>
{/observation> .
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
<observation classCode="0BS™ moodCode="EVN™>
¢code code="11" codeSystem="2. 16. 840, 1. 113883, 3. 989.5. 1. 3,2, 1. 10" displayNeme="7RfH » B
Cvalue xsi:type="CE" code="J2.14.i" codeSystem="2. 16.840. 1. 113883. 3.989.5.1.3.2. 1. 87
<l— @aeI2. 14.i #H - BEA #5 —> :
{/observation>
</outboundRelationship2>
{/observation?
</sub ject0f2>
¢subject0f2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN™>
¢id reot="1f9272B3~10b6-4334-9d43-¢925640£b1817/>
¢code code="29" codeSystem="2, 16.840. 1. 113883, 3. 98, 2, 1. 1. 197 dizplayName="reaction”/>
¢effectivelime xsi:type="IVL_T157>
<high value="20090101"/>
¢l== E. i.4: Date of Start of Reaction / Event #6 —>
¢feffectiveTime’
Cvalue xsiitype="CE” code="E.i.2.1b" codeSystem="2.16.840. L. 113883, 6. 163" codeSystemVersion="E.i.2.1a™>
¢t— E.i,2 la: MedDRA Vorsion for Reaction / Event #6 —>
¢{!— E.i.2 Ib: Reaction / Event (MedDRA code} #6 —>
{originalText language="E. i.1.1b7)E. i. L la{/originalText>
¢1— E.1i. L 1a: Reaction / Event as Reported by the Primary Seurce in Native Language H6 —>
¢l— E.i.L 1lb: Reaction / Event as Reported by the Primary Source Language f#s —
</value?
<location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
¢locatedPlace classCade="COUNTRY” determinerCode="INSTANCE™>
Ceode code="E.i.9" codeSystem="1.0.3166.1.2.27/>
¢l— E.i.9: Identification of the Country ¥here the Reactien / Event Occurred #6 —>
<{/locatedPlace>
{/locatedEntity>
" ¢/location?
{outboundRelationship2 typeCade="PERT™>
¢observation classCode="0BS" moodCode="EVN">
{code code="30" codeSystem="2.16. 840, 1. 113883.3.980.2.1. 1. 19" displayName="reactionForTranslation”/>
<value xsi:type="ED"ME.{i. 1. 2¢/value>
¢le~ £ i.1.2: Reaction / Event as Reported by the Primary Source for Translation #e —>
</ohservation>
¢/outhoundRelationship2>
¢outboundRelationship? typeCode="PERT">
¢observation classCode="0BS" moodCode="EVN">
(code code="37" codeSystem="2. 16. 840, 1.113883.3.989.2.1. L, 19" displayName="termitighlightedByReporter™/>
¢value xsi:type="CE” code="E. i.3. 1" codeSystem="2. 16, 840. }, 113883.3.980. 2. 1. 1. 107>
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<!—= B.i.3.1:Toerm Highlighted by the Reporter ¥6 —>
{/ohservation)
</outboundRelationship2>
<autboundRelationshipZ typeCode="PERT™>
{vbservation classCode="0BS" moodCode="EVN">
{code code="34" codeSysten="2. 16. 840. 1. F13883. 3,989. 2. 1. 1. 19" displayName="resultsInDeath”/>
{value xsi:type="BL” value="true”/>
¢!— B.1i.3.2a: Results in Death #6 —>
{/observation>
¢/outhoundRelationship2>
<outboundRelationshipZ? typeCode="PERT">
{observation classCode="0BS" mocdCode="EVN">
Ccode code="21" codeSystem="2. 16, 840. I. 113883, 3. 989. 2. 1. 1. 19" displayNeme="isLifeThreatening”/>
Cvalue xsiltype="BL” nullFlavor="NI"/>
¢[~— E.1,3.2b: Life Threatening #6 —«—>
<{/observation?
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
<observation classCode="085" moodCode="EVN™>
<code code="33" codeSystex="2, 15, B40, 1, 113883, 3, 989, 2, 1, 1, 19” displayName="requiresInpatientHospitalization™/>
<value xsi:type="BL" value="true”/>
{l— E.i.3.2c: Caused / Prolonged Hospitalisation ¥6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="35" codeSystem="2. 16. 840, 1. 113883, 3. 489, 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlavor="NI"/>
¢l— E.i.3.2d: Disabling / Incapacitating #f —>
{/observation>
</outboundRelationship2)>
{outboundRelationship? typeCede="PERT™> i
{observation classCode="0BS" moodCode=TEVN">
<eode eode="127 codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, 1, 1, 197 displayName="congenitalAnopalyBirthDefect”/>
<value xsi!type="BL" nullFlavor="NI"/>
¢l— E.i.3.2e: Congenital Anomaly / Birth Defect ¥6 —>
{/ohservation>
</outhoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS" mocdCode="EVN">
{code code="26" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2, 1. 1. 19" displayName="otherMedicallyImportantCondition”/>
<yalue xsirtype="BL" value="true”/>
{l~~ E.i.3.2f: Other Medically Important Conditicn #6 —>
</observation> .
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" mooadCode="EVN™>
{code code="27" codeSystem="2, 16, 840. 1. 113883, 3. 98%. 2. 1. 1. 19" displayName="outcome”/>
<value xsi:type="CE" code="E.i.7" codeSystem="2.16.840.1.113883.3.5989.2.1.1.11°/>
¢l— E.i. 7! Outcome of Reaction / Event at the Time of Last Observation #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{chservation classCode="0B5" moodCode="EVN™>
<code code="24" codeSystew="2, 16. 840, 1, 113883, 3, 989. 2, . 1, 18" displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
<!— E.i.8: Medical Confirmation by Healthcare Professional #6 —>
</observation>
{fouthoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0B5" moodCode="EVN">
{code coda="11" codeSystem="2. 16,840, 1, 113883, 3.989,5, 1. 3. 2. 1. 10" displayName="3<30 - BE@"/>
{value xsi:type="CE" code="]2,14,1" codeSystem="2, 16, 840, 1. 113883, 3.989.5.1.3.2. 1.8"/>
<— @ef]2. 14. 1 i - A #6 —>
{/observation>
¢/outboundRelationship2>
{/observation>
{/subject0f2>
<subjectOf2 typeCode="SBJ™>
{observation classCode="0BS" moodCode="EVN">
<id root="e0342969-38he—4231-b6bb—-celdbc279dBe”/>
{code cade="29" codeSystew="2, 16. B40. 1. 113883. 3, 989. 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS™>
<width value="24" unit="E. i.6b"/
¢!-— E. i.6a: Duration of Reaction / Event (number) #7 —>
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¢J— E.i.8b: Duration of Resction / Bvent (unit) #7 —>
¢/effectiveTine)

¢velue xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystemVersion="E. 1.2, 1a™>

&l— E,1i,2.1a: HedDRA Versien for Reaction / Event #7 —>
¢l—- E,i.2.1b: Reaction / Event (MedDRA code) 87 —>
CoriginalText language="E.i.l.1b")E. i. L. la</originalText>

¢l— E.i.1,1a: Reaction / Event as Reported by the Primary Source in Native Language BT —>
¢l-= E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #7 —>

{/value>
¢location typeCode="LOC™)
{locatedEntity classCode="LOCE™>
ClocatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
code code="E.i.9" codeSystem="1,0.3166.1.2 27/

¢l— E.i.9: Tdentification of the Country Where the Reaction / Event Occurred #7 —

</locatedPlace>
</locatedEntity>
</location?
CoutbotndRelationshinZ typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">

<code code="30" codeSystem="2, 16, 840, |, 113883. 3. 989. 2. L. 1. 19" displayName="reactionForTranslation”/>

<value xsi:type="ED"DE. i.l.2<{/valuc>

¢lm= E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 —

</observation>
<foutboundRelat ionship2>
CoutboundRelationship? typeCode="PERT >
{observation classCode="0BS” moodCode="EVN™>
{eode code="37" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. L. 1. 197

displayName="ternilighlightedByReporter™/>

¢value xsi:type="CE” code="E.i.3.1" codeSystex="2.16. 840.1. 112883, 3.988. 2. L. L. 10°/>

{le~ E.i.3. 1:Term Highlighted by the Reporter ¥7 —>
{/observation>
</outboundRe}ationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCade="EVN">
¢code code="34" codeSysten="2. 16. 840. 1. 113883.3.989. 2, 1. 1. 197
{value xsi:type="BL" value="true”/>
<!— E.i.3.2a: Results in Death #7 —>
{/vhservation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
<code code="21" codeSystem="2, 16. 840, L. 113883, 3,989. 2. 1. 1. 19"
<value xsi:type="BL" nullFlaver="NI"/>
¢!— E.i.3.2b: Life Threatening #7 —>
</ohservation>
¢/outboundRelationship2?
¢outhoundRelationship2 typeCode="PERT™>
¢observation classCode="0BS” meodCode="EVN™>
¢code code="33" codeSystem="2. 16. 840. 1. 113883. 3,989, 2. 1. 1. 197
<value xsiitype="BL" value="true”/>
¢l— E.i.3.2c® Caused / Prolonged Hespitalisation #7 —
{fobservation?
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT>
(observation classCode="0BS" moodCode="EVN">
<code codo="35" codeSystem="2, 16, 840, 1, 113883.3.989,2, 1. 1. 197
Cvalue xsi'type="BL* nullFlaver="NI"/>
¢|—= E.i.3.24: Disabling / Incapacitating &7 —>
{/observationy
</outboundRelatianship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS™ moodCode="EVN™>
code code="12" codeSysten="2. 16.840. 1. 113883, 3. 989, 2. 1. L. 19"
<value xsi:type="BL” nullFlavor="NI*/>
(l— E.i.3. 2e: Congenital Anomaly / Birth Defect #7 -->
</observation>
¢/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
(observation classCode="0BS” moodCode="EVN™>
Ceade codes”26" codeSysten="2. 16. 840, 1.113883.3.989.2. 1, 1. 197
<value xsiltype="BL" value="true"/>
<l— B, i.3.2f: Other Medically Important Condition #7 —>
{/observation> ’
¢/putboundRelatianship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" mocdCode="EVN™>
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Ccode code="27" codeSystem="2. 15.840. 1. 113883.3. 989, 2. 1, 1. 19" displayName="cutcome”/>
Cvalue xsi:type="CE" code="E.i.7" codeSystew="2.16.840.1. 1}3883.3.989.2,1,1,11°/>
{l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #7 —>
{/observation>
</outhoundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moadCode="EVN">
Ccode code="24" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2. 1. 1, 19” displayName="medicalConfiramationByHealthPrafessional”/>
Cvalue xsi:type="BL" value="true®/>
¢|— E.i.8: Medical Confirmation by Healthcare Professional #7 «>
</observation?
</outboundRelationship2>
<outheundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN">
Ccode code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 6. 1. 3. 2. 1. 10" displayName="3k% - BEXD"/>
{value xsi:type="CE” code="]2.14.i" codeSystem="2.16.840. 1. 113883.3,989.5,1.3,2,1,87/>
l— @8aJ2. 14. i ki - BEM #7 ~>
{fobservation?
</outboundRelationship2>
</obscrvation>
{/subjectOf2>
<subject0f2 typeCode="SB)™>
{observation clazsCode="0BS" moodCode="EVN">
<id root="albbe(92-B070-426d-af 14-6863263443c07/>
{code code="29" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS™
<{low value="200901017/>
¢]— B.i.4: Date of Start of Reaction / Event ¥8 —>
<width value="24" unit="E. i, 66"/
¢|— E.i.6a‘ Duration of Reaction / Event (number) #8 —
{l—~ E.i.6b: Duration of Reaction / Bvent {unit) #8 —>
{/comp>
<comp xsi:type="IVL_TS" cperator="4">
<high value="201012017/>
<!— E.i,5: Date of End of Reaction / Event #8 —>
</comp>
¢foffectiveTime)
{value xsi:type="CE” code="E.i.2.1b" codeSysten="2, 16, 840, 1, 113883, 6, 163" codeSystemVersion="E.i.2. la">
{l— EB.i.2.1a: WedDRA Version for Reaction / Event #8 —>
<l— E.i.2.1b: Reaction / Event {MedDRA code) H8 —>
{originalText language="E.1, L, 1h"E, i, 1. fa¢/originalText>
¢]1— E.i. 1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #8 —>
{l— E.i. 1.1k Reaction / Event as Reported by the Primary Source Language #8 —>
{fvalugd>
¢location typeCode="LOC™>
{locatedEntity classCode="LOCE">
¢locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E. .9 codeSysten="1.0.3166.1.2.27/» N
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #§ —>
{/locatedPlace>
{/locatedEntity>
</location>
CoutboundRelationship? typeCode="PERT™>
<observation classCode="0BS" woodCode="EVN™>
<code code="30" codeSysten="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="rcactionForTranslation”/>
<value xsi:type="ED}E. i. 1, 2</valuc>
<!— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 —>
</observatign} -
</outboundRelationship2y
<outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="37" codeSystem="2. 16, 840, 1. 113883, 3. 885, 2. 1. 1. 19" displayName="termHighlightedByReporter/>
Cvalue xsitype="CE" code="E.i.3.1" codeSystem="2.16.840. . 113883.3.982.2, 1, 1,107/>
<{l— E.i.3.1:Term Highlighted by the Reporter £8 —>
{/ohservation>
{/ocutboundRelationshipn2>
<outboundRelationshin? typeCode="PERT">
<observaticn classCode="0BS" moadCode="E¥N">
{code code="34" codeSystew="2. 16, 840, 1, 113883, 3, 989. 2. I, 1, 18" displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
¢l-- B.i.3.2a Results in Death #8 —>
{/observation)
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
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{chservation classCode="0BS" moodCode="EVN™>
<code cade="21" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 197 displayName="isLifeThreatening”/>
¢value xsi:type="BL" nullFlavor="NI"/>
¢]— E.i.3.2b:. Life Threatening #8 —>
¢/observation>
</outboundRelationship2>
¢outhoundRelationshipZ typeCode="PERT™>
{abservation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 197 displayName="requiresInpatientHospitalization”/>
Cvalue xsi:type="BL® value="true™/>
¢l— E.i.3.2c: Caused / Prolonged Hospitalisation #8 —>
</observation> .
</outboundRelaticnship2>
<outboundRelationship2 typeCode="PERT™>
¢observation classCode="0BS” moodCade="EVN™>
{code code="35" codeSystex="2. 16, 840. L. 113883, 3,989.2,1,1,18” displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlavor="NI"/>
¢1— E.i.3.2d: Disabling / Incapacitating #8 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
¢observation classCode="0BS” moodCade="EVN"> :
¢code code="12" codeSystem="2. 16, 840. 1. 113883, 3.989. 2.1, 1,197 displayName="congenitalAnomalyBirthDefect™/>
¢value xsi:type="BL" nullFlaver="NL"/>
¢<l-- E.i.3.2e! Congenital Ancmaly / Birth Defect $8 —>
{/observation? ' .
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="26" codeSystem="2, 16. 840, 1, 113883. 3. 989. 2. L. 1, 197 displayName="otherNedicallylmportantCondition™/>
{value xsi:type="BL” value="true”/>
¢l—— E.i.3.2f: Other Medically Important Condition #8 —>
</observation>
</outboundRelationship2>
<putboundRelationship? typeCode="PERT™>
¢observation classCode="0BS" mocdCode="EVN™>
¢code code="27" codeSystem="2. 16. 840. 1. 113883, 3,989.2. 1. 1. 197 displayName="outcome” />
{value xsi:type="CE” code="E.i.7" codeSystem="2.16.840.1.113883.3.989.2.1. L 117/
¢l— E. i.7: Outcome of Reaction / Event at the Time of last Observation #8 —>
{/observation>
</outboundRelationship2>
<outheundRelationship2 typeCode="FERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19 displayName= “medicalConfirmationByHealthProfessienal”/>
¢value xsi:type="BL" value="true”/>
¢l— E. i.8: Medical Confirmation by Healthcare Professional #8 —>
</observation>
{/autboundRelationship2>
<outboimdRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
Ceode code="11" codeSystem="2. 16. 840 1.113883.3.989.5. £. 3. 2. 1, 107 displayName= 515931 Bm
¢value x3iitype="CE” code="J2.14.i" codeSysten="2.16.840.1.113883.3.989.5. 1. 3. 2. 1. 8"/
<1~ @8AJ2. 14.1 RE0 - (KA #8 —>
<fobservation}
</outboundRelationship2>
{/observation>
</subject0f2>
{subject0f2 typeCode="SB]™>
¢organizer classCode="CATEGORY” moadCode="EVN™> :
<code code="3" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 20" displayName="testsAndProceduresRelevantToThelnvestigation’ ¥
{conponent typeCode="COMP">
{observation classCode="0BS” moodCode="EVN™>
Ceode tode="F. T. 2. 2b" codeSysten="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.1. 2. 2a™>
¢l— F.r. 2. %: MedDRA Version for Test Name #1 —>
¢l— F,r.2.2b: Test Name (MedDRA code) #1 —>
<originalText>F. r. 2. 1<{/original Text>
¢l— F,r.2. 1: Test Name (free text) #1 —>
{fcode?
(effectiveTine value="200901017/>
<I— F.r.1: Test Date #1 —>
¢yalue xsiztype="IVL_PG™>
{center value="10" unit="mg/d1"/>
¢l-= F.r.3.2: Test Result (value / qualifier} #1 —>
¢— F.r.3.3: Test Result (unit) #1 —>
</value>
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<interpretationCode code="F.r.3.1" codeSysten="2.16. 840, 1. 113883. 3. 989, 2, 1. L. 12"/»
{l— F.r.3.1% Test Result {code) B1 —>
{refercnceRange typeCode="REFV™>
<observationRange classCode="085" moodCade="EVN.CRT™>
<value xsiitype="PQ" value="40" unit="mg/d1"/>
<!— F.1.4: Normal Low Value #1 —>
<interpretationCode code="L" codeSystem="2, 16.840. 1. 113883. 5. B3"/>
</observationRange>
{/referenceRange>
{referenceRange typefode="REFY™>
{chservationRange classCode="0BS" moodCcde="EVN.CRT">
<value xsi:type="PQ" value="110" unit="mg/d1"/>
{!— F.r.5: Normal High Value #1—>
<interpretaticnCode code="H" codeSystem="2. 16. B40. 1. 113883. 5. 83"/>
</observationRange>
</referenceRange>
<cutboundRelationship2? typeCode="PERT">
{observation clossCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="comment”/>
<value xsi:type="ED7>F.r.6<¢/value>
{!— F.r.6: Comments (free text} #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™> X
<code code="25" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" displayName="morelnformationdvailable”/>
<value xsi:type="BL" value="true”/>
¢!—-F.r.7: More Information Available #1 ~->
</observation?
{foutboundRelationship2>
¢/observation>
</component>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2. 16.840. 1, 113883. 6. 163" codeSystemVersion="F.r, 2, 22>
<I— F.r.2.2a: MedDRA Version for Test Name B2 —>
{!— F.r.2 2b: Test Name (MedDRA code) {2 —>
<originalText>F. r. 2. 1</ariginalTexty
{l— F.r.2.1: Test Name (free text) #2 -=>
</code>
CeffectiveTime value="200901017/>
{l— F.r.1: Test Date #2 —>
<value xsi:type="IVL_PQ™>
<low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inclesive="false”/>
<fvalued
¢l— F.r.3.2: Test Result {value / qualifier) 2 —>
{l=— F.r.3.3: Test Result (unit) #2 —>
(lus LT 10 ng/dl #2 «=>
{/observation>
{/eomponent>
{component typeCodes”COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="F.r. 2.2b" codeSystem="2. 16. 840. 1. L13883. 6. 163" codeSystemVersion="F.r. 2. 2a™>
¢}— F.r.2 2a: MedDRA Version for Test Name #3 —> '
{l— F.r.2.2b: Test Name (MedDRA cade) #3 -=>
CoriginalText>F. r. 2. 1{foriginalText>
{}— F,r.2.1: Test Name (free text) #3 —>
</code’
CeffectiveTime value="20090101"/>
(l== F, 1, 1: Test Date #3 —>
<value xsi:type="IVL_PQ™>
<low nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="true”/>
{/valued
{!— F.r.3.2: Test Result (value / qualifier} #3 -->
§l=- F.r.3.3: Test Result (unit) R3 -->
<l— LE 10 mg/dl H3—
¢/observation>
</component>
{component typeCode="COMP*>
{observation classCode="0BS" moodCode="EVN">
{code code="F, . 2. 267 codeSystem="2. 16. 540, 1, 1138B3. 6. 163" codeSysten¥ersion="F.r. 2 2a">
¢l-= F,r.2. 2a: MedDRA Version for Test Name #4 —>
{!— F.r.2.2b: Test Name (MedDRA code) #4 -=>
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¢originalText>F.r. 2. F¢/originalText>
¢— F.r.2. 1: Test Neme (frec text) #4 —>
</code>
CeffectiveTime value="200901017/>
<l— F.r.1: Test Date #4 —>
Cvalue xsi:type="IVL_PQ™>
Clow value="10" unit="mg/dl” inclusive="false"/>
<high nullFlavor="PINF"/>
</value¥
¢l— F.r.3.2: Test Result (value / qualifier) #4 —>
¢l— F.r.3.3: Test Result (unit) B4 —>
{1— GT 10 mg/dl H#4 —>
{/chservation?
</component>
¢companent typeCode="COMP™>
Sobservation classCode="085" moodCode="EVYN™>
Ceode code="TF.r.2.2b" codeSysten="2. 16.840. 1. 113883, 6. 163" codeSystemVersion="F,r.2.2a">
{l=— F.r.2.2a: MedDRA Yersion for Test Nawe &5 —>
{l— F.r.2.2b: Test Name (MedDRA code) #5 ~—>
<priginalText>F. r. 2. I{/originalText>
¢l— F.r.2.1: Test Name (free text) #5 —>
{/code>
{effectiveTime value="200801017/>
<I— F.r. 1 Test Date # —>
{value xsi:type="IVL_PQ™>
Clow values"10" unit="mg/dl” inclusive="true”/>
<high nullFlaver="PINF"/>
</value>
¢I— F.r.3.2: Test Result (value / qualifier) &5 —>
<l— F.r.3.3: Test Result (unit) #5 —>
¢!— GE 10 mg/dl #5 —>
{/observation>
</component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
Ccode code="F.r. 2. 2b" codoSystem="2. 16.840. 1. 113883, 6. 163" codeSystenVersion="F.r. 2, 2a">
¢!— F.r.2 22! KedDRA Version for Test Name $6'—>
¢l— F.1,2 2b: Test Name (MedDRA code) #6 —>
CoriginalText>F. r. 2. 1{/original Text>
¢l— F.r.2.1: Test Name (free text) #6 —>
{/cade>
(effectiveTime value="200901017/>
¢{t— F.r.1: Test Date #6 —>
¢value xsi:type="ED">F.r. 3, 4</value>
¢]— F.r.3.4: Result Unstructured Data (free text) #6 —>
</observation>
</component> i
{forganizer>
¢/ subjecthf2>
(subject0f2 typeCode="SB]™>
{organizer classCode="CATEGORY” moodCode="EVN™>
<code code="4" codeSystem="2, 16, 840. 1. 113883, 3.989.2.1,1.207 displayName="drugInformation”/>
<l— G.k Drug(s) Information {repeat as necessary} #1 —>
{component typeCode="COMP™>
¢substanceAdninistration classCode="SBADK" woodCode="EVN">
¢id root="3¢91bdd5-e038-4aTa-9c30-67671b0ef9e4"/>
{consumable typeCade="CSH )
<instanceOfKind classCode="INST">
Ckind0fProduct’ classCode="MWAT™ determinerCode="KIND")
¢code code="G. k. 2. 1. Ib” codeSystew="TBD-MPID" codeSystemVersion="¢.k.2. 1. Ia"/>.
<l— G.k.2.1.1a: MPID Version Date / Number #1 —>
¢i— G.k.2.1,1h: Medicinal Product Identifier (MPID) #1 —>
<name?G, k. 2. 2{/nams>
¢l— G.k.2.2: Medicinal Product Name as Reported by the Primary Seurce #1 —>
¢asManufacturedProduct classCode="MANU">
<subjectOf typeCode="SB]™>
{approval classCode="CNTRCT moodCode="EVN™>
¢id extension="G.k. 3.1 root="2. 6. 840. 1. 113683, 3.989.2. 1.3.47/>
¢l— G.k.3.1: Authorisation / Application Number #1 —>
<author typeCode="AUT">
(territorialAuthority classCode="TERR">
Cterritory classCode="NAT” determinerCode="INSTANCE™>
<code code="G.k 3.2" codeSystem="1.0.3166. 1.2.2"/>
¢<!— G,X%.3.2: Country of Authorisation / Application #1 —>
<Sterritory>

- 92 —



{/territorialAuthority>
{/author>
<pertinentInformaticn typeCode="PERT™>
{policy classCode="POLICY” moodCode="EVN™>
{code code="]J2.5. %" codeSystem="2, 16.840. 1.113883.3.989,5,1,3,2. 1. 47/>
<|— @8d]2,5.k: —AERREOV RIENS #1 —
{/policy>
</pertinentInformatian}
</approval>
{/subject0f>
{subjectOf typeCode="SB]">
{characteristic classCode="0B5S" moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3. 2. 1. 10" displayName="5iEIKHE OWRES"/>

{value xsi:type="CE” code="]J2.4.k" codeSystem="2, 16. 840. 1. 113683.3.989.5.1.3.2.1.3"/>
<l @80]2. 4. k: FERRFORRES #1 —
{/characteristic>
¢/subject0f>

</asManufacturedProduct>
{asSpecializedKind classCode="GEN™>
<generalizedMaterialKind classCode="MAT” determinerCode="KIND">
<code>
{originalText>J2. 12¢/originalText>
<1— @aJ2. 12: WRESLE -
<{/code)
</generalizedMaterialKind>
{/as8pecializedKind>
{ingredient classCode="ACTI™>
{guantity>
Cnumerator value="10" unit="G. % 2.3.r. 3b"/>
<l-~ 6.k 2.3.r.3a: Strength (humber) #1-t -~>
{l-- G.%. 2.3.r.3b: Strength (unit) #1-1 —>
{denominator value="17/>
</quantity>
<ingredientSubstance elassCode="MMAT" determinerCode="KIND">
{code code="G,k, 2, 3.r,2h" codeSystem="TBI—Substance” codeSystemVersion="G.k 2.3.r.2a"/>
<!— G. k. 2. 3.r. 2a! Substance / Specified Substance TermID Version Date / Number #1-1 -——>
<!— G.k.2.3.r.2b: Substance / Specified Substance TermlD #1-1 ——>
<name>G. k. 2. 3. r. 1{/name)
{!— G.k.2.3.r.1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
</ingredient>
<ingredient classCode="ACTI>
{quantity>
{numerator value="10" unit="G.k.2. 3.r.3b"/>
¢l— 6. k.2.3.r.3a: Strength (number) #1-2 ——>
¢1— G.k.2.3.r.3b> Strength (unit) #¥1-2 —>
{denominator valus="1"/>
<{/quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
{cade code="G. k. 2,3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>
<I— G.k.2.3.r.2a: Substance / Specified Substance TermlD Yersion Date / Number £1-2 —)
<l— 6.k 2.3.1.2b; Substance / Specified Substance TermID #1-2 —>
<nameXG. k., 2. 3. r. 1</name>
|-~ G.k.2.3.r,1: Substance / Specified Substance Name ¥1-2 —>
</ingredientSubstance>
</ingredient>
</kindOfProduct>
<subjectOf typeCode="SB]™>
{productEvent classCode="ACT™ moadCode="EVN">
{code code="1" codeSystem="2, 16. 840, 1. 113883, 3. 989, 2. 1, 1. 18" displayName="rctailSupply”/>
{performer typeCode="PRF™> .
<assighedEntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
{addr>
<countrydG. k. 2. & /country>
<!— G.k.2.4: Identificatien of the Country Where the Drug Was Obtained #1 --
{/addr>
{/represeniedOrganizetion>
</assignedEntity>
</performer>
</praductEvent>
<{/subject0f>
<subjectOf typeCode="SB]">
<ohservationBvent classCode="0B5" moodCode="E¥N">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3,989, 6. 1. 3, 2. 1. 107 displayName="{REMES D AFEE"/>
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Reaction #1 —>

Reaction #1 —>

Reaction #2 —>

Reaction #2 —>

Reaction #3 -

Reaction #3 —>

Reaction #4 —>

Reaction #4 —>

¢value xsi:type="CE" code="]JZ 6.k” codeSysten="2.16.840. 1, 113883.3.980.5.1.3.2. 1. 57/
I— gee)2. 6.k —BAERROATER 1l —
{/observationEvent>
<{/subject0f>
¢finstancedfKind>
</consumable’
¢outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1"/>
¢l~— G.k.9.i.3. la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,

¢l-— G.k.9.i. 2 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

<actReference classCode="0BS” noodCode="EVN™>
¢id root="154ebBEI-958h-4512-a02f~42d4dGF465TE />
{/actReference>
¢/outboundRelationshipl>
CouthoundRelaticnshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.1.3.20"/> \
<l-- G. k.9 i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug #I, Reaction #1 —

¢l— G.k.9.4.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #1 —>
¢actReference classCode="0BS” moodCode="EVN">
<id root="151eb8B9~05Bb-45f2-a02f-42d4d6£4657E"/>
{/actReforence>
¢/outhoundRelationshipl>
¢outboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="6.k.9.i.3.1b"/>
¢le- G.%.9.1.3. la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,

¢le~ G.k.D.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #I,

¢actReference classCode="0BS” mondCode="EVN">
<id root="2haa28d6-c9c8—4e6c-93cI-5b860bI142207 />
{/actReference>
</outboundRelationshipl>
¢outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k 9.1.3.2b7/>
<l— 6.k.9.4.3,2a; Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #2 —

¢1=~ G.k.9. i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit} Drug #1, Reaction #2 —>
¢actReference classCode="0BS” moodCode="E¥YN™>
<id reot="2baa2Bd6~cleB-4ebe-93e0-5b860b3142207/> '
</actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.%.i.3.Ib"/>
<l1— G.k.9.1i.3.1a: Time Intervai hetween Beginning of Drug Administration and Start of Reaction / Bvent (number) Drug #t,

¢l— G.% 9.1.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {unit) Drug ¥1,

¢actReference classCode="0BS" moodCode="EVN™>
<id root="3a8626cb—9f1b=4eaB-8a0f-elf{34430adf™/>
<factReference
</outhoundRelationshipl>
CoutboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. 9.i.3.2b"/>
¢i— G.k.9.i.3.2a: Tine Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #l. Reaction 3 —

¢1== G. k9. i.3.2b Time Interval between Last Dose of Drug and Start of Reaction / Event {unit) Drug ¥1, Reaction #3 —>
CactReference classCode="0BS" moodCode="EVN™>
<id root="3a8626cb-0f1b—4ea8~8a0f-e0ff34430adf™/>
¢/actReference>
<foutbaundRelationshipl>
CoutboundRelationshinl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
¢<l— .k 9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {(number) Drug #1,

¢l— .k 8.i.3.1b: Time Interval betweon Beginning of Drug Administration and Start of Reaction / Bvent (unit) Drug #1,

¢actReference classCode="0BS” moodCode="EVN">
<id root="2e89840f-08b4-499c-ROFf-dd8415£4fBa5"/>
{/actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="6.k 9.i.3.26"/7>
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Reaction H#& —>

Reaction #5 ~->

Reaction #6 —>

Reaction #6 ——>

Reaction #7 —>

Reaction #7 —>

Reaction #8 —>

Reaction #8 —>

{l— G.k.9.1.3.2a: Time Interval between Last Dose of Drug

€l~- G, k.9.i.3,2b: Time Interval between Last Dose of Drug
<actReference ¢lassCode="0BS” moodCode="EVN™>
€id root="2e09840f~08b4-499c-B0F F-ddB4E5F4f8a" />
</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauscQuantity value="10" unit="G.k. 9.1i.3. 1b"°/>
¢l— 6.k.9.4.3. 1a: Time Interval between Beginning of Drug

¢l— G.k.9.1.3. 1b: Time Interval between Beginning of Drug

{actReference classCode="0BS" moodCode="EYN™>
{id root="1071064c~cfE0-4alb-8ic1-3419ddbTeabd™/>
{/actReference> .
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauscQuantity value="10" unit="G.k.9.1.3.26°/>
<l— G.k.9.1i.3.2a: Tine Interval between Last Dose of Drug

{[=- G,k.9.i.3,2b: Time Interval between Last Dose of Drug
<actReference tlassCode="0B5" mocdCode="EVN">
<id root="1071064c—cf10-4a3b~83c1-3419ddbTeabd” />
{factReference)
</outhoundRelationshipl>
<outhnundRelationshipl typeGode="SAS™>
{pauseQuantity value="10" unit="G. %, 91,3, 1b"/>
¢I-~ G.k.9.i.3. la: Time Interval between Beginning of Drug

<!— G.k.9.1.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS" moodCode="EVN™>
<id root="1927283~10b6-4334-9d43-e925640fb18E"/>
{/actRefersnce>
</outboundRelationshipl>
<cutboundRelationshipl typeCode="SAE™>
(pauseQuantity values"107 unit="G. k. 9,i,3.267/>
{l— G.k.9.i.3.2a: Time Interval between Last Dose of Drug

¢l— G.k.9.1.3,2b: Tire Interval hetween Last Dose of Drug
<actReference classCode="0BS” moadCades"EVN™>
<id roet="1f927283-10b6-4334-9d43-e925640fb1BE" />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G, k. 9.1,3.16"/>
¢1—- G.k.9.i.3. 1a: Time Interval between Beginning of Drug

¢}— G.k.5.i.3. 1b! Time Interval between Beginning of Drug

{actReference classCode="0BS” moodCode="EYN™>
<id root="e0342960-38be-423f-b6bb-celdbc279d8e" />
{factReference?
<foutboundRelationshipl>
CoutboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
€l~= G.k.9.1i.3,2a: Time Interval between Last Dose of Drug

<!— 6.k.9.i.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN">
{id root="e0342969-38be~423f-bEbb~cel4bc279dBe” />
</actReference>
</outboundRelationshipl>
{outhoundRelationshink typeCode="SAS™>
{pauseQuantity value="10" unit="G, k. 9,i.3.1b"/>
¢t=- G.k.9.i.3. la: Time Interval between Beginning of Drug

¢I-- G, k. 9.1. 3, 1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” meodCode="EYN™>
<id root="al5be092-8070-426d-af04-6863263443e07/>
</actReference>
</outboundRelationshipl>
<outboundRelaticnshipl typeCode="SAE">

_25_

and Start of Reaction / Event (number) Drug #1, Reaction #4 —

and Start of Reaction / Event (unit) Drug #1, Reaction #4 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reactien / Event (number) Drug #1, Reaction #5 —

and Start of Reactioh / Bvent (unit) Drug #1, Reaction #5 —>

Adwinistration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (humber) Drug #1, Reaction #5 -

and Start of Reaction / Event {unit} Drug ¥1, Reaction §6 —>

Administration and Start of Reaction / Event (number) Drug #1,

Adwinistration and Start of Reaction / Event (unit) Drug #I,

and Start of Reaction / Event {number) Drug #1, Reaction §7 —

and Start of Reaction / Event {unit) Drug #1, Reaction #7 —Y

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event {unit) Drug #1,



<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢l— 6.k 9.1.3, 22 Time Interval between Last Dose of Drug and Start of Reaction / Bvent (number) Drug #1, Reaction 8 —

¢l— 6.k.9.4.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #8 —>
<actReference classCode="0BS” moodCode="EVN">
¢id root="215be092-8070-426d-af04~6863263443e07/>
{/actReference>
{/outboundRelationshipll
¢outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
¢code code="6" codeSysten="2. 16, 840, 1, 113883 3. 989, 2. 1. 1. 19” displayName="blinded />
{value xsi:type="BL” value="true™/>
¢l~~ G.k.2.5: Investigational Product Blinded #1 —>
</observation>
<foutboundRelationship2> . R
¢outboundRelationship2: typeCode="COMP™>
¢l== G.%. 4. r: Dosage and Relevant Information (repeat as mecessary) #1-1 —>
{substanceAduinistration classCode="SBADM" moodCode="EVN">
<textdG. k. 4. r. B/ text>
¢l— 6. k. 4.1.8: Dosage Text #1-1 —>
<effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k.4.r.3"/>
¢l— G.k.4.1.2: Number of Units in the Interval #1-1 —>
¢l— 6.k 4.r.3: Definition of the Time Interval Unit #1-1 -—>
{/comp>
(comp xsiitype="IVL_TS" operator="A">
<low value="200901017/>
¢{!— 6.k 4.r.4: Date and Time of Start of Drug #1-1 —>
<high value="200901017/>
<)—— G.k 4.r.5: Date and Time of Last Administration #1-1 —>
£/fcomp> )
<comp xsi:type="IVL_TS™ operator="A">
¢width value="4" unit="G.k.4.r.6b"/> .
. ¢l— G.k 4.r.62: Duration of Drug Administration {numher) #1-1 —>
<}— G.k.4.1.6b: Duration of Drug Administration (unit) #1-1 —>
</fconp>
{/effectiveTime>
<routeCode code="G.k. 4. 1. 10,2h” codeSysten="2, 16, 840, 1, 113883. 3. 989. 2. 1. 1, 147 codeSystemVersion="G. k. 4. 1. 10, 2a™>
¢{J— G.k.4.1.10, 2a: Route of Adwinistration TermID Version Date / Number £1-1 —>
¢l— G.k.4.1.10,2b: Route of Administration TermlID Hl-1 —>
CoriginalTextYG. k. 4. 1. 10, 1</originalText>
<}— G.k.4.71.10, 1: Route of Administration {free text) $1-1 —>
</routeCode>
{doseQuantity value="10" unit="G.k 4.r.1b"/>
<}— G.k.4.1.1a Dose (number) #1-1 —>
<l-- G.k 4.r.1b: Dose (unit} #1-1 —>
¢consumable typeCode="CSH™>
<instanceGfKind classCode="INST">
<{productIpstanceInstance classCode="MBAT" determinerCode="INSTANCE™>
<lotNusberText3G. k. 4. r. 7¢/1lotHusherText>
<]— G.k.4.r.7: Batch / Lot Number #1-1 —>
</productInstancelnstanced
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
¢fornCode code="G.k 4.r.9.2b" codeSysten="TBD-DoseForn” codeSystenVersion="G.k. 4.r.9,2a">
¢l— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-1 -—>
¢l— 6.k 4.1.9.2b! Pharmaceutical Dose Form TermIDt #1-1 —>
{originalText>G. k. 4. r. 9. 1¢/originalText> ’
<1— G.k. 4.1.9.1: Pharmaceutical Dose Form {free text) #1-1 ~—>
</formCade>
</kindOfProduct>
</instance0fKind>
</consumable>
{inboundRelatfonship typeCode="REFR™>
¢observation classCode="0BS" mocdCode="EVN™>
(oode code="28" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2.1, 1, 19" displayName="parentRouteQfAdninistration”/>
<value xsi:type="CE" code="G.k.4.T.1l, 2b" codeSystem="2, 16,840, 1. 113883.3.980.2. L. L. 14" codeSystemVersion="G. k. 4. 1.
11.2a™>
¢l— G.k.4.r.11.2a: Porent Route of Administratjon TernID Version Date / Number #1-1 -—>
¢l== G.X% 4.1, 11,2b: Parent Route of Administration TermID £1-1 -—>
<originalText>G. k. 4. r. 11, 1{/eriginalText>
¢<I— G.k.4.x.11.1: Parent Route of Administration (free text} #i-1 —>
</value>
</observation>
</inboundRelationship>
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</substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
¢!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
{substanceAdministration classCode="SBADM" moodCode="EYN™>
<text>G. k. 4. r. B¢/ text>
¢l-- G.k.4.r.8: Dosage Text #1-2 —>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G. k. 4.r.3"/>
{l~= G.k.4.r.2: Nomber of Units in the Interval #1-2 —>
<l G.k. 4, r.3: Definition of the Time Interval Unit #1-2 —>
</conp>
{comp xs5irtype="IVL_TS" operator="A">
<low value="2009101"/>
{l— G.k. 4.1, 4: Date and Time of Start of Drug #1-2 —>
<high value="200901017/> .
{l— G.k.4.r.5: Date and Time of Last Administration #1-2 ==>
{/comp>
/effectiveTime>
{routeCode code="G. k. 4.r.10.2b" codeSysten="2.16.840. 1. 113B83. 3. 980. 2. 1. 1. 14" codeSystemVersion="G, k. 4. r. 10, 22"
<l— G.k.4.r.10.2a: Route of Administration TermiID Version Pate / Number #1-2 —>
¢!— G.k.4.r.10,2b: Route of Administration TermID #1-2 =->
CoriginalText>G. k. 4. r. 10. 1{/originalText>
¢}— G.k.4.1.10.1: Route of Administration (free text} #1-2 —>
</routcCode>
<doseQuantity value="10" unit="G.% 4.r. 15"/>
!-~ G.k. 4.r, la Dose (number) #1-2 ——>
<l G.k.4.r. 1b: Dose {unit) #1-2 —>
<consumable typeCode="CSK™>
{instanceOfKind classCode="INST">
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™}
{lotNumberText>G. k. 4, r. 7¢/lotNunberText>
{!— G.k.4.xr.7: Batch / Lot Mumher #1-2 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G. k. 4.1.9. 2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k 4,r.9 2a™>
{l=— G.k.4.1.9. 23! Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
{l~= G.k, 4, 1.9, 2b: Pharmaceutical Dose Form TermID #1-2 —>
{originalText)G. k. 4.1.9. 1{/originalText>
¢l=- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-2 —~>
</fornCode>
{/kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR">
<observatien classCode="0BS" moadCode="EVN™>
. {cade cads="28" codeSystem="2, 16. 840. 1. 113883. 3. 989, 2. 1. L. 19" displayName="parcntRouteQfAdministration”/>
{value xsi:type="CE" code="G.k 4.7, 1. 2b" codeSyston="2. [6. 840, 1. 113883, 3,989, 2. 1. I. 147 codeSystenVersion="G k. 4. r.
11.2a">
<!— G.k.4.1.1l. 2a: Parent Reute of Administration TermlD Yersion Date / Number #1-2 —3
¢l=- G, k.4, 1. 11. 2b: Parent Route of Adnministration TernID #1-2 —
{originalText>G. k. 4. r. 11. i{/originalText>
¢l— G.k.4.r.11.1: Parent Reute of Administration (free text) #1-2 —>
</value>
</abservation®
</inboundRelationship>
¢/substanceAdninistration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{l— 6.k.4.r: Dosage and Relevant Informatien (repeat as necessary) #$1-3 —>
{substanceAdministration classCode="SBADH™ moodCode="EVN™>
{text>G. k. 4. r. 8{/text>
l=- Gl 4.r.B: Dosage Text $I-3 —)
<affectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.37/>
<l— G.k.4.r.2: Nusher of Units in the Interval #1-3 -=>
<l— G.k.4.r.3: Definition of the Time Interval Unit #1-3 —>
{/comp>
Ccomp Xsi:type="IVL_TS” operator="A">
<low value="200901017/>
¢1— G. k. 4. 1. 4: Date and Time of Start of Drug #1-3 —>
<width value="4" unit="G.k.4.r1.6b7/>
<}— G.k.4.r.6a; Duration of Drug Administratien (numher) #1-3 —>
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. <l— G.k.4.r.6b: Duration of Drug Administratien (unit) #1-3 —>
¢/ eomp>
</effectiveTime>
¢routeCode code="G.k. 4.1 10.2b" codeSysten="2. 16.840. 1. 113883. 3, 989. 2. 1. 1. 147 codeSystenVersion="6. k. 4.r. 10, 2a™>
{|— G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #i-3 —>
¢1— G. k. 4.1.10,2b: Route of Administration TermID £1-3 —>
CoriginalText)G. k. 4. 1. 10, 1{/originalText>
¢I— G, k. 4.1.10.1: Route of Administration (free text} Hi-3 —
</routeCode>
¢doseQuantity value="10" unit="G.k.4.1.1b"/>
¢1— G.k.4.r.1a Dose (number) #1-3 —>
{l== G.k.4.r. 1b: Dose (unit) #1-3 —>
¢eonsumable typeCode="CSM™>
<instanceOfind classCode="INST™>
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText)G. k. 4. r. 7¢/lotNumberText>
{— G k. 4.1r.7: Batch / Lot Number $1-3 —>
{/productInstancelnstance>
<kind0fProduct elassCode="WMAT" determinerCode="KIND™>
<formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9. 2a">
¢|— G.k.4.r.9.2a: Pharmsceutical Dose Form TermlP Version Date / Number #1-3 —>
<]— G.k.4.r.%. 2b: Pharmaceutical Dose Ferm TermiD #1-3 —>
<eriginalText>G. k. 4. 1. 9, 1</originalText>
¢!— G.k.4.7.9.1: Pharmaccutical Dose Form (free text) #i-3 —>
</formCode>
£/kind0fProduct>
{/instance0fKind>
</consumable>
(inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS" moodCode="EVN™>
¢code code="28" codeSystem="2. 16.540. 1. 113883.3,989.2. 1. 1. 197 displayName="parentRouteOfAdninistration”/>
¢value xsittype="CE™ code="G.k.4.r.11,2b" codeSystem="2.16.840.1, 113883.3.985.2. L. 1, 14" codeSystenVersion="G. k. 4.r.
11.2a™>
. ¢1— G.k. 4.7, 11, 2a: Parent Route of Administration TermlD Version Date / Number £1-3 —>
¢1— G.k.4.r.11.2h: Parent Route of Administration TermID #1-3 —>
<originalText?G. k. 4. 1. 11. 1<{/original Text>
¢l— G.k.4.1.11. 1: Parent Route of Administration (free text) #1-3 —>
{/value>
{/observation>
{/inboundRelationship>
</substanceAdministrationd
</outboundRelationship2>
CoutboundRelationship2 typeCode="COMP™>
¢!— G,k 4.r: Dosage and Relevant Informaticn (repeat as necessary) #l-4 —>
(substanceAdministration classCode="SBADH moodCode="EVN™>
Ctext>G. k. 4. r. B/ text>
¢}— G k.4.1.8: Dosage Text #1-4 —>
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
<periocd value="10" unit="G. k. 4.r.37/>

¢}~ G.k.4.1.2: Number of Units in the Interval #1-4 —>
¢!~- G.k.4.r.3: Definition of the Time Interval Unit #1-4 ~—>
{/comp>

<comp xsi:type="IVL_TS™ operater="A">
¢width value="4" unit="G.k.4.r.6b7/>
{l— G.k.4.r.6a% Duration of Drug Administration (number) #l-4 —>
¢l— G.k 4 r.6b: Duration of Drug Administration (unit) #1-4 —>
<high value="200001017/>
¢le~ G.k.4.r.5: Date and Time of Last Administration #1-4 —>
</comp>
. /effectiveTime>
¢routeCode code="G.k. 4. r. 10.2b” codeSystem="2, 16.840. 1. 113883, 3.989. 2. 1. 1. 147 codeSystenVersion="G. k. 4. r. 10. 2a”">
¢l— G.k. 4.1, 10.2a: Route of Administration TermlD Version Date / Number #1-4 —>
¢1—= 6.k.4.r.10.2b: Route of Administration TermID #1-4 —>
CoriginalText?G. k. 4, r. 10. 1</originalText>
¢1— G.k.4.1.10. 1: Route of Administration (free text) #1-4 —>
{/routeCode> .
¢dosefuantity value="10" unit="G.k.4.r, 16"/>
¢l— G, k.4.r.1a Dose {phumber) H#i-4 —>
¢l-- G.k. 4.1, 1b: Dose {unit) #1-4 —>
<consumable typeCode="CSH™>
{instance0fKind elnssCode="INST™> \
(productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumherText)G. k. 4, r. 7</lotNumberText>
¢]— G.k.4.r.7: Batch / Lot Number #1-4 —>
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{/productInstancelnstance>
<kindOfPreduct classCode="MMAT” determinerCode="KIND">
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForn” codeSystemVersion="G,k.4.1.9,2a")
<l— G k419 2a; Pharmaceutical Dose Form TermID VYersion Date / Number #1-4 —-3
<1— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-4 —>
<originalText>G. k. 4. 1. 9. 1</original Text>
<l— G.k,4,r,9.1: Pharmaceutical Dose Form (free text} #l-4 ~=>
{/fornCode?
</kind0fProdust?
</instance0fKind>
{/consumable?
{inboundRelationship typeCode="REFR™>
<obgervation classCade="0BS" moodCode="EVN">
<code code="28" codeSystem="2, 16, 840, 1, 113883, 3,989, 2,1, 1, 19" displayName="parentRoute0fAdministration™/?
{value xsi:type="CE” code="G. k.4.r.1l.2b" codeSystew="2. 16.840. 1. 113883. 3. 989. 2. 1. L. 14" codeSystemVersion="G, k. 4, r,
11.2a">
<l-- G.k.4.1. 1L 2a: Pareat Route of Administration TermID Version Date / Number #1-4 —>
{}— G.k.4.r.15.2b? Parent Route of Administration TermID §1-4 —>
CoriginalText>G k. 4.r. 11 1{/ariginal Text>
<l—— G.k.4.r. 1L 1: Parent Route of Adwinistration (free text) #l-4 —>
</value>
{/observation>
</inboundRelationship>
{/substanccAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢~ G.k. 4. r: Dosage and Relevant Information (repeat as necessary} #1-5 —>
¢substancefdministration classCode="SBADK™ moodCode="EYN™>
{text>G. k. 4. r. 8{/text>
¢1— G.k 4.r.B: Dosage Text #1-5 —>
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS5™>
<low value="20090101"/>
¢l— G k. 4.7.4: Date and Tiwe of Start of Drug #1-5 —>
<high value="200901017/>
{l=~ G.k.4.1r.5: Date and Time of Last Administration §1-5 —>
{/comp>
{comp xsiitype="IVL_TS” operator="A">
{width value="4" unit="G.k. 4.r. 6b"/>
¢]— G.k.4.r.6a: Duration of Drug Administration {number) #1-5 —>
{1— G.k.4.r.6b: Duration of Drug Administration {unit) #1-5 —>
</comp>
{/effectiveTime>
<routeCode code="G.k.4.r.10,2b" codeSystem="2, 16, 840. 1, 113883, 3,989, 2, 1. 1. 14" codeSystenVersion="G. k.4.r. 10, 2a">
¢l-- G. k. 4.r. 10, 2a: Route of Administration TermID Version Date / Number #¥1-5 —>
<l-- G.k. 4.1.10. 2b: Route of Administration TermID #1-5 ~>
. {originalText>G. k. 4. r. 10. 1<¢/originalText>
¢l-— G.k.4.r.10. 1: Route of Administration (free text) #1-§ —)
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r1.1b"/>
<!|— G.k.4.r. 1a Dose {number) H{1-5 —=>
{1~ G.k. 4.r. 1b: Dose (unit) #1-5 —>
{consumable typeCode="CSM™>
{instance0fKind classCode="INST™>
{preductInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/lotNumberText>
<l— G. k. 4.1, 7: Batch / Lot Number #1-5 —>
<{/productInstancelnstance>
<kindOfProduct c¢lassCode="MMAT" determinerCode="KIND™>
<formCode code="G.k.4.r,9.2b" codeSystem="TBD-DoseForm™ codeSystemVersion="G.k.4.r.9.2a">
{]— G.k.4.r.9.2a* Pharmaceutical Dose Porm TermID Version Date / Numher #1-5 —)>
{l— G.k.4.7.9. 2b: Pharmaceutical Dese Form TermID #1-5 —>
<originalText>G. k. 4.1. 9. 1</originalText>
{l-- 6.k.4.r.9,1: Pharmaceutical Dose Form {frce text) #1-5 —>
{/formCode>
{/kind0fProduct>
¢/instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR">
<cbservation classCode="0BS" moodCode="EVN™>
<code code="28" codeSystem="2. 6. 840. 1. 113883. 3. 989. 2. 1. 1. 197 displayName="parentRouteQfAdministration™/>
<value xsiitype="CE” code="G.k.4.r.11.2b" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4. 1.
11.2a"> .
{l=- G, k.4, r.11, 2a: Parent Route of Administration TermID Version Date / Number $1-5 —>
{)— G.k.4.1.11.2b: Parent Route of Administration TermlD #1-5 —
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CoriginalTextG. k. 4. r. 11, 1{/originalText>
¢i— G.k.4.r. 11.1: Parent Route of Aduinistration (free text) H#1-5 —>
</valued
</observation>
</inboundRelationship>
¢/substancepdministration>
</outboundRelationship2>
¢outhoundRelationship? typeCode="COMP™>
¢<l— 6.k 4.r: Dosage ond Relevant Information (repeat as necessary) #1-6 —>
¢substanceAdministration classCode="SBAIH” moodCode="EVN">
(text>0. k. 4. r. 8{/text>
¢1— G. k. 4.r.8: Dosage Text #1-6 ~—2>
<effectiveTime xsi:type="SXPR_TS">
Ccomp xsiitype="PIVL_TS™>
{period value="10" unit="G.k. 4r3h
¢l-- G.k.4.r. 2! Number of Units in the Interval #1-6 —>
¢!— G.k 4.1.3: Definition of the Time Interval Unit #1-6 —>
{fconp>
<comp xsiitype="IVL_TS” operator="A">
<low value="200901017/>
{l— G.k. 4.1, 4: Date and Time of Start of Drug §1-6 —>
<width value="4" unit="G.k.4.1.6b°/>
<!— G.k.4.r.6a: Duration of Drug Administration (number) #1-6 —>
<l=- G.k.4.r.6b: Duration of Drug Administration (unit) #1-6 —>
</comp>
{comp xsi:type= IVL_T5" operator="A">
<high value="20090101"/>
{l— G.k.4.r.5: Date and Time of Last Administration #1-6 —>
</comp>
</effectiveTime>
CrouteCode code="G.k. 4.r.10.2b" codeSysten="2.16. 840, 1. 113883, 3, 989.2. 1. 1. 14" codeSystenVersion="G.k. 4. r. 10. 287>
¢l— 6.k.4.r.10. 2a: Route of Administration TermID Version Pate / Number #1-6 —>
<1— G.k.4.r.10.2b! Route of Administration TermID #1-6 —>
CoriginalText?G. k. 4.x. 10, 1{/ariginalText>
¢~ G.k.4.7.10, 1: Route of Administration (free text) K1-6 —>
</routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1b7/>
<]— G.k.4.r.la Dose (number} §1-1 —>
¢I— G.k. 4.r. Ib: Pose (unit) H1-1 —>
{consumable typaCode="CSH™>
<instance0fKind classCode="INST™> .
{productInstancelnstance classCode="MMAT" determinerCode="THSTANCE™>
<lotNumberText>G. k. 4. r. 7¢</lotNuzbexrText>
. €l—~ Gk 4.r7: Batch / Lot Number #1-1 —>
¢/productInstancelnstance>
¢kind0fProduct classCode="3MAT" determinerCode="KIND™>
<formCode code="G. k. 4.¥. 9, 2b" codeSystem="TBD-DoseForn” codeSystemVersion="6.k. 4.r.9.2a™>
¢l— G.k.4.r.9, 2a! Pharmaceutical Dose Form TermID Yersicn Date / Number #1-6 —>
<l— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-6 —>
<originalText>G. k. 4. r. 8. 1{/originalText>
¢]— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-6 —>
</ formCode>
</kind0fProduct>
</instance0fKind>
¢/censumable>
{inboundRelationship typeCode='REFli'>
Cobservation classCode="0BS” moodCode="EVN"?
<code code="28" codeSystem="2. 16, 840. 1. 113883, 3,989.2.1. 1,197 displayName="parentRoute0fAdninistration”/>
¢value xsi:type="CE" code="G.k.4,r.11.2b" codeSystem="2. 16.840.1.113883.3.989.2. 1.1, 14" codeSystenVersion="G. k. 4.T.

11.2a™>
¢{l— G.k 4.r. 11.2a: Parent Route of Administration TermID Yersion Date / Number #1-6 —>
¢l— G.k.4.r. 11, 2b; Parent Route of Adwinistration TermlD #1-6 —>
<originalText>G. k. 4. 1. 11, I</originalText>
¢l— G.k.4.r.11.1: Parent Route of Administration (free text) #1-6 —>
</value> .
{/chservatiah)
</inboundRelationship>
{/substanceAdministration>
{foutboundRelationship2>
CoutboundRelationshipn? typeCode="COMP™>
¢I— G.k 4.r: Dosage and Relevant Information (repeat as mecessary) #1-7 —
¢substanceAdninistration classCode="SBADH" maodCode="EVN">
- {text>G. k. 4.r. 8/ textd
¢l— G. k. 4.r. 8: Dosage Text #1-7 ——>
¢effectiveTime xsi:type="SKPR_TS">
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{comp xsiitype="IVL_TS™>
<low value="20090101"/>
{le= G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k. 4.r.6b"/>
¢I-- G.k 4.r.6a Duration of Drug Administration (number) #1-7 —>
¢l— G.k. 4,1.8b7 Duration of Drug Administratien (unit} #1-7 —>
</comp>
<comp xsittype="IVL_TS" operator="A">
¢high value="200901017/>
¢1— G,k 4.1.5: Date and Tiwe of Last Administration #1-7 —>
</comp>
{/effectiveTime>
<routeCode code="G. k. 4.1, 10,2b” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 14" codeSystemVersion="G.k.4.r. 10.2a">
<}— G.k.4.r.10.2a: Raute of Administration TermID Versicn Date / Number #1-7 —>
<!— G.k.4.r.10.2b: Route of Administration TermID #1-7 —>
<originalText>G. k. 4. 1. 10, 1</originalText>
<1— G.k.4,1.10.1: Route of Administration (free text) #I1-7 -——>
. {/routeCaded
<doseQuantity value="10" unit="G.%.4.r. 167/>
<!— G.k.4.1r.1a Dese (number) #1-7 —>
(lew G k. 4.1r. 1b: Dose {unit) #1-7 —>
<consumable typeCode="CSH™>
¢instanceGfKind classCode="INST™>
{productInstancelnstance classCade="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/lotNunherText>
¢t— G.k.4.r.7: Batch / Lot Number #I-7 —>
¢/productInstancelnstance’
<kind0fProduct classCode="MMAT" determinerCode="KIND™>

¢formCode code="G. k. 4.r. % 2% codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a™>
¢l— G,k,4.1.9. 2a: Pharmaceutical Dose Form TermID Yerzien Date / Number #1-7 —>
<I— G.k, 4.1.9. 2h: Pharmaceutical Dose Form TermID #1-7 —>
<originalText>G. k. 4. r. 9. i{/originalText>
<{l— G.%. 4.r.9.1: Pharmaceutical Dose Form (free text) #1-7 —>
¢/formCode>
¢/kind0fProduct>
</instanceOfKind>
{/consumable>

<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" maodCode="EVN™>
{code code="28" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="parentRouteQfAdministration”/>
Cvalue xsi:type="CE™ code="G.k 4.r. 11. 24" codeSystem="2, 16, §40. 1. 113883. 3. 089.2. 1. 1. 14" codeSystemVersion="G. k. 4.r.
11,2a">
¢l— G,k.4.r, 11.2a: Parent Route of Administration TermID Version Date / Number H1-7 —>
¢l=~ G.k.4.1r.11.2b: Parent Reute of Administration TermID $1-7 -=>
CoriginalText)G. k. 4. r. 11. 1</originalText>
¢!— G.k.4.1.11. 17 Parent Route of Administration {free text) HI1-7 —>
</value>
</ohservation?
</inboundRelaticnship>
{/substanceAdministration>
</outboundRelationship2?
CoutboundRelationship? typeCode="SUMM">
{observation classCode="0B5" moodCode="EVN™>
{eode code="14" codeSystem="2. 16. 840. L. 113883, 3. 989. 2. L. 1. 19" displayName="cumulativeDoseToReaction”/>
¢value xsi:type="PQ" value="10" unit="G. k. 5b"/>
¢l=— G.k.5a: Cumulative Dose to First Reaction {(number} #1 ——>
<4— G.k.5b: Cumulative Dose to First Reaction (unit) #1 —>
{/abservation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS" moodCode="EVN">
{code code="16" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 197 displayName="gestationPeriod”/>
¢value xsi:type="PQ” value="10" unit="G.k. 6b"/>
{l~= G.k.6a: Gestation Pericd at Time of Exposure (number} #I —>
¢{]— G.k.6b: Gestation Peried at Time of Exposure {unit) #1 —>
</observation?
</outboundRelationship2>
LoutboundRelationship2 typeCode="PERT">
<ohservation classCode="0BS” moodCode="EVN™>
{code codes"31" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2, 1. 1. 19" displayName="recurranceDfReaction”/>
(value xsiztype="CE” code="G.k.9.i.4" codeSysten="2, 16,840, 1, 113883, 3.989, 2. 1. 1. 16"/>
¢1— 6.k 9.1i.4: Did Reaction Recur on Readministration? Drug #1, Reaction #I —>
<outboundRelationshipl typeCode~"REFR™>
<actReference classCode="0BS™ moodCode="EVN™>
<id root="154e¢b889-058b-45f2-a02f-42d4dEF465TE />
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{/actReference>
</outboundRelationshipl>
{/observationd -
£/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{obhservation classCode="0BS" moodCode="EVN">
<code code="31* codeSysten="2. 16. 840. 1. 113863. 3. 989, 2, L. 1. 19" displayName="recurrance0fReaction”/>
<value xsi:type="CE" code="G.k.9.i.4” codeSystew="2.16.840. 1, 113883.3.989.2.1. 1. I6"/>
¢!— G.k.9.1.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —>
¢outboundRelationshipl typeCode="REFR™>
{actReference classCode="0BS™ maodCede="EVN™>
<id root="2baa28d6-cIe8-4c6c-93e9~-5bBE0LI142207/>
¢/actReference>
</eutboundRelationshipl>
¢/observation>
{/cutboundRelationship2>
<outboundRelationship? typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN™>
¢code code="9" codeSyster="2. 16. 840. 1. 113883. 3. 989, 2, 1. 1. 19" displayName="cededDrugInformation™/>
¢value xsi:type="CE” code="G.k. 10.x¥" codeSystom="2. 16,840, 1, 113883. 3.989.2. 1, L. 17°/>
¢l— G.% 10.xr: Additional Information on Drug (coded) (repeat as necessary) #l-1 -—>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN™>
<code code="9" codeSystem="2. 16. 840. 1. 113882, 3,889, 2. 1. I. 19" displayName="codedDrugInformation”/>
{value xsiitype="CE" code="G.k. 10, r" codeSystem="2.16.840.1. 113883.3.989.2. 1. 1. 17°5
<1— G.k.10,r: Additional Information on Drug (coded) (repeat as necessary) #1-2 —>
{/ahservation?
</outboundRelationship2>
CputhoundRelationship2 typeCode="REFR™>
{ohservation classCode="0BS" moodCode="EVN">
¢code code="2" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. L, L. 19" displayName="additionalInfermation”™/>
<value xsi:type="ST">G.k. 11<{/value>
¢]— Gk E1: Additienal Information on Drug (free text) #1 —>
</vbservation>
</outbotndRelationship2>
{inboundRelationship typeCnd%'RSDN')
{observation classCode="0BS" moodCode="EVN™>
{code code="19" codeSystem="2, 16. 840. 1. 1138832, 3.989. 2. 1. 1. 19" displayName="indication”/>
¢value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2. 16, 840, 1. 113883. 6. 163" todeSystenVersion="G.k. 7.1.2a">
{l—— G.%. 7.r. 2a: MedDRA Version for Indication #1-1 —>
<t— G, % 7.1.2b° Indication (MedDRA code) #1-1 —>
<originalfext>G.k. 7. r. 1{/originalText>
¢!~ G.k.7.r.1: Indication as Reported by the Primary Source H1-1 —>
{/value>
<performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED™>
<code code="3" codeSyster="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 21" displayNane="sourceReporter™/>
{fassignedEntity>
{/performer>
{/abservation?
¢/inhoundRelationship>
¢iphoundRelationship typeCode="RSON™>
{observation ¢lassCode="0B5S" moodCode="EVN™>
Ccode code="19" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="indication”/>
¢value xsiitype="CE” code="G.k.7.r.2b" codeSysten="2. 16,849, 1. 113883, 6. 163" codeSystenVersion="G.k.7.r.2a™>
¢l— 6.k, 7.r.2a: MedDRA Version for Indicaticn #1-2 —>
¢l— G.k.7.1.2b: Indication (MedDRA code) #1-2 —>
CoriginalText>G. k. 7. r. 1{/originalText>
{I=~ G.k.7.r.1! Indication as Reported by the Primary -Source #1-2 —>
</value>
{parformer typeCode="PRF™>
<assignedEntity classCode="ASSIGNED™>
<code code="3" codeSysten="2. 16. 840. 1. 113883, 3, 589, 2. 1, 1. 21" displayName="sourceReporter”/>
{fassignedBntity>
</performer> -
{/observation>
</inboundRelationship> .
<inboundRelationship typeCode="CAUS"}
" <aet classCode="ACT” moodCode="EVN™>
{eode code="G.k.B" codeSystem="2. 16.840. 1. 113883, 3, 989.2. 1. 1. 16"/>
¢l— 6.k 8: Action(s) Taken with Drug #1 ~->
<fact>
</inboundRelationship>
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{/substanceAdministration?
</component>
<!— G.k Drug(s) Information (repeat as necessary) #2 —>
<component typeCode="COMP">
¢substanceAdninistration classCode="SBADM” moodCode="EVN">
¢id root="68d6{5ce~3b3b-45c7-02dd-69e06730c3a" />
{consumable typeCode="CSH™> '
¢instanceOfKind classCode="INST™>
<kind0fProduct c¢lassCode="MMAT" determinexrCode="KIND">
<code code="G, k.2, 1. 26" codeSystem="TBD-PhPID” codeSystemVersion="G.k, 2.1.2a"/>
<l— G.k.2.1.2a: PhPID Version Date / Number #2 —>
<l— G.k.2. 1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
<nameXG. k. 2. 2{/name>
¢l-= 6.k.2.2! Wedicinal Product Name as Reported by the Primary Source #2 ~~>
{asManufacturedProduct classCode="HANU™>
<subjectOf typeCode="SBJ">
<approval classCode="CNTRCT” moodCode="EVN™>
<id extension="G.k.3.17 root="2,16.840.1.113883.3.989.2.1.3.4"/>
<l— G.k.3.1: Authorisation / Application Number #2 —>
<author typeCode="AUT™> -
{territorialAuthority classCode="{ERR™>
{territory classCode="NAT" determinerCode="INSTANCE™>
<code code="G.k. 3.2" codeSystem="1. 0. 3166.1.2.27/>
<l— 6.k 3.2: Country of Authorisation / Application #2 —>
{fterritory?
{/territorialAuthority>
</auther>
<pertinentInformation typeCode="PERT™>
{paliey classCode="POLICY” mocdCode="EVN™>
<code code="]2.5. k" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.4"/>
— #88)2.5. k: —MRAERRFOV A IESE 2 —>
{/policy>
</pertinentInformation>
</approval>
¢/subjectOf>
<subjectOf typeCode="SB]™>
<characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. I. 113883. 3.989. 5. 1, 3. 2. 1. 107 displayName="#EIRHZDIRMED"/>
<value xsi:type="CE” code="J2.4.%" codeSysten="2.16.840.1.113883.3.989.5.1.3.2. L.3"/>
<I— #80)2. 4. k: FHERLFORRE S #2 — ’
{/characteristic>
¢/subject0f>
¢/asManufacturedProduct?
<ingredient classCode="ACTI™>
{quantity>
{numerator value="10" unit="G.k.2.3.r.3b"/>
¢le- G. k.2, 3.r.3a: Strength (number) #2-1 —>
¢le— G.k.2.3.r. 3b: Strength (unit) #2-1 -=>
{dencminater valus="17/>
{/quantity>
<ingredientSubstance classCode="MMAT® determinerCode="KIND">
" Ceode code="G. k.2.3.r.2b" codeSysten="TBD-Substance” cadeSystenVersion="G.k. 2,3, r,2a"/>
¢1— G. k. 2.3.r.2a: Substance / Specified Substance TermlD Version Date / Number #2-1 ——>
¢l— 6. k. 2.3.r. 2b Substance / Specified Sebstance TermID H2-1 —>
{name>G. k. 2, 3. r. 1</nane>”
¢]— 6.k 2.3.r.1: Substanee / Specified Substance Name #2=-1 -=>
</ingredientSubstance>
<{/ingredient>
<ingredient classCode="ACTI">
<quantity»
<{numerator value="10" unit="G.k.2,3.r.3b"/>
{l— G.k.2.3.r. 3a: Strength (number) #2-2 —>
<l— G.k. 2 3.r.3b: Strength (unit) #2-2 —
{denominator value="17/>

</quantity?
{ingredientSubstance classCode="MMAT" determinerCode="KIND™>
Ccode code="G. k. 2.3.r.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>

{1— G.k.2.3.r. 2a: Substance / Specified Substance TermID Version Date/Number #2-2 —>
¢]-~ G.k.2.3.r.2b Substance / Specified Substance TermID {#2-2 ~=>
<nhame>G. k. 2, 3, r. 1</hana’
<l G.k.2.3.r.1: Substance / Specified Substance Name #2-2 ~>
¢/ingredientSubstance}
</ingredient>
</kindOfProduct>
<subjectOf typeCode="SB] >
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{praductEvent classCode="ACT” moodCode="EVN™> .
{code code="1" codeSystem="2. 5, 840. 1. 113883, 3, 989, 2. 1. 1. 18" displayName="retailSupply”/>
<performer typeCode="PRF">
CassignedEntity classCode="ASSIGNED">
<representedOrganization ¢lassCode="0RG™ determinerCode="INSTANCE™>
{addr>
Ccountry>G. k, 2, 4{/country>
¢l— 6.k 2.4: Identification of the Country Where the Drug Was Obtained #2 —>
<faddr>
{/represented0rganization’
{/assignedEntity>
{/pexrformer>
<{/productEvent>
</subjectOf>
{subjectOf typeCode="SBJ">
{observationEvent ¢lassCode="0BS™ moodCode="EVN™>
{code code="2" codeSystem="2. 16. B40. 1. 113883, 3,989,5.1.3.2. 1. 10" displayName="— HEHK LD ATER />
{value xsi:type="CE” code="J2.6.k" codeSystew="2.16.840. 1. 113883,3,989.5.1.3. 2. L.5"°/>
<l— egdJz. 6. k: —RAERRKOATFER #2 —
<fobservationEvent>
¢/subject0f>
</instance0fKind>
</consumable>
<outboundRelationshipl typeCode="SAS™>
CpauseQuantity value="10" unit="G.k.9.1.3.1b"/>
¢1— G.%.9.1i.3. 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {number) Drug #2,
Reaction #1—> '
¢<I— G,k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit} Drug #2,
Reaction #1 —>
<actReference classCode="0BS” moadCade="EVN™>
<id root="154ebBBG-958h-45F2—a02r-42d4d6L465717 />
{factReference>
</outboundRelationshipl>
<outboundRelationshint typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. ti.3.2b"/>
<J—— G.k.9.4.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (mumber} Drug #2, Reaction $1 —>

¢l— 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #1 —>
<actReference classCode="0BS" moodCode="EVN™> )
{id root="154eb889-958h~45f2-a02f-42d4d6£4657F" />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pausa£]uant1ty value— 10" unit="G.k.9.i.3.1b /)
Reaction #2 —>
<!— .k, 9.i. 3. 1b: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Event {(unit) Drug #2,
Reaction #2 —>
{actReference classCode="0BS” noodCode="EVN">
<id root="2baa?8d6-c9el-4ebe-93e9-5bBE0LI142207 />
{/actReference
¢/outhoundRelationshipl)
{outboundRelationshipl typeCode="SAE™>
{pauscQuantity value="10" unit="G.}k 9.1.3.2b"/">
¢!— G.k.9,i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug $2, Reaction 2 —

<l— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event {unit) Drug #2, Reaction H2 —>
<actReference classCode="0B$” moodCode="EVN™>
<id root="2baaZBd6-cYeB-4efc-93e9-5b8BG0OL3142207 /0
{/actReference>
¢/outboundRelationshipl>
<onthoundRelationshipl typeCode="SAS™>
<pausefuantity value="10" unit="G.k. 9.i.3.1b"/>
¢l=-~ G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #3 —>

Reaction #3 —>

<actReference classCede="0BS" moodCode="EVN™>
- ¢id root="328626cb—9f1b-4ea8-8alf-e0ff34430adf"/>
</actReference>

</outboundRelationshipl?>

<outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" wnit="G.k 9. 1i.3.2b"/>
<I— 6.k 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #3 --
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Reactien #4 —>

Reaction #4 —>

Reaction #5 ~—>

Reaction #5 ~=>

Reaction #6 —>

Reaction #6 —>

Reaction #7V ——>

Reaction #7 ——

¢!— G.k.9.4.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS" moodCode="EVN™>
<id root="3aB626ch-9f1b-dea8~Balf-e0ff34430adf”/>
{/actReference>
¢/outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS8">

<pauseQuantity value="10" unit="G.k 9. i.3.1b"/>
¢l— G.k.9.i,3.1a: Time Interval between Beginning of Drug
¢l— G. k. 9.1, 3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS™ moodCode="EVN™>
{id root="2e¢99840f-08b4-499c-80ff-ddB415f4£8a5" />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.%.1.3.2b"/>
¢l-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug

<l— 6,k.9,i.3,2b: Tiee Interval between Last Dose of Drug
<actReference classCode="0BS" moodCode="EVN™>
<{id root="2099840f-08b4~499c-80ff~ddB415f4f8at"/>
{/actReference>
{/outboundRelationshipl?
<outboundRelatienshipl typeCode="SAS™>
<{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢l== 6.k.9.i.3. 1a: Time Interval between Beginning of Drug

¢!— G.%.9.1.3. 1b: Time Interval between Beginning of Drug

CactReference classCode="0BS™ moodCode="EVN™>
<id root="1071064c-cf10-4a3b-83cl-34f9ddbTeabd™ />
<factReferehce>
{foutboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
(l— G.%. 9.i.3.2a: Time Interval between Last Dosec of Drug

{!— G.%.9.i.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS™ moodCode="EVN™>
<id root="1071064c~cf10=4a3b~83cI~34f9ddbTeabd”/>

</actReference?

</outboundRelationshipl>

<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9. i.3.1b"/>
(l-— 6.k.9.i.3. 1a: Time Interval between Beginning of Drug

¢l— 6.%.9.i. 3. 1b: Time Interval between Beginning of Drug

<actReference classCode="0BS" mocdCode="EVN™>
<id root="1f927283-10b6~4334-9d43-e925640fL18BE" />
{/actReference>
</outboundRelationshipl>
<outboundRelatienshipl typeCode="SAE™>
{pavgeQuantity value="10" unit="G.k 9,i.3.2b"/>
<l— G.k.9.i.3.2a: Time Interval between Last Dose af Drug

{!— G.k.9.i.3.2b: Time Interval between Last Dose of Drug
{actReference classCode="0BS” moodCode="EVN">
(id root="1£927283~10b6-4334-9d43-e925640fb1BE"/>
{/actReference>
{/outboundRelationshipl>
{outbeundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k. 9, i.3.1b"/>
<|— G.k.9.1.3.1a: Tine Interval between Beginning of Drug

<l— 6.k.9.1.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS" moodCode="EVN™>
<id reot="e0342069-38be-423f-b6bb-celdbc279d8e"/>
{/actReference>
¢/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unii="G.%. 9.i.3.2b7/>
¢l— G.k.9.1i.3.2a: Time Interval between Last Dose of Drug
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and Start of Reaction / Event (unit) Drug ¥2, Reactien #3 —>

Administration and Start of Reaction / Event {number) Drug #2,

Adwinistration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #4 —

and Start of Reaction / Event (unit) Drug #2, Reaction #4 ~~»

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reactien / Bvent (unit) Drug #2,

and Start of Reaction / Bvent (number) Drug #2, Reaction $¥F —

and Start of Reaction / Event (unit) Drug #2, Reaction #§ —>

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #6 —

and Start of Reaction / Event (unit) Drug £2, Reaction #6 —>

Adninistration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (humber) Drug #2, Reaction #7 —



(actReference clasande— “0BS” moodCode="EVN">
<id root="e0342969-38be-423f-hfbb-celdbe279d8e™/>
</actReference>
£/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS">
(pauseQuantity value="10" unit="G, k. 9.1i.3.16"/>
¢!— G.k.9.1.3. la: Time Interval between Beginning of Drug Administration and Start of Reactmn / Event (number) Drug #2,
Reaction #B ~->

Reaction #8 —>
CactReference classCode="0BS” moodCode="EVN™>
¢id root="s15be092-8070-426d-af04-6863263443e07/>
{/actReference>
- {/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢l— G.k.9. 1.3 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event {number} Drug #2, Reaction H& —

>
¢l— G.% 9.1i.3.2b: Time Interval between Last Dose of Drug and Start of Reactmn / Event (unit) Drug #2, Reaction #8 —>
<actReference classCode="0BS" moodCede="EVN™>
<id root="al5be092-8070-426d-af04-6863263443e07/>
</actReference?
¢/outhoundRelationshipl>
{outhoundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
¢code code="6" codeSysten="2. 16, 840. 1. 113883, 3, 989, 2. 1, 1. 19" displayName="blinded"/>
Cvalue xsi:type="BL" value="true™/>
{l— 6.k 2.5° Investigational Product Blinded #2 —>
{/ehservation>
</outhoundRelationship2>
. ¢outboundRelationship2 typeCode="COMP™>
¢l— G.k. 4.1 : Dosage and Relevant Information (repeat as necessary) #2-1 —>
¢substanceAdninistration classCode="SHADM" meodCode="EVN™>
{text>G. k. 4. 1. 8</text?
<1~ G.% 4.1.8: Dosage Text #2-1 —>
effectiveTime xsi:type="IVL_TS8™>
<low value="200901017/>
¢J=- G.k.4.1.4: Date and Time of Start of Drug #2-1 —>
<high value="200901017/>
(1= G.k.4.1r.5: Date and Time of Last Administration #2-1 —>
</effectiveTimed
<routeCode code="G.k.4.r.10.2b" codeSystem="2, 16, 840. 1. 113883. 3. 889. 2, 1, 1. 14 codeSysten¥ersion="G. k. 4. r. 10. 2a7>
¢!— 6.k 4,r.10.2a: Route of Administration TermID Version Date / Number #2-1 ==>
¢<!— G.k.4.r.10.2b: Route of Administration TermID #2-1 —>
<originalText>G. k. 4. x. 19. 1{/ariginalText> "
{l— G.k.4.7.10,1: Route of Administration {(free text) H2-1 —
{/routeCode>
{doseQuantity value="10" unit="G k. 4.r.1b"/>
¢(l— G.k.4.r. 1a Dose (number) #2-1 —>
¢l-- G. k. 4.r.1b: Dose {(unit) #2-1 —>
<consumable typeCode="CSM™>
{instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNunberText>G. k. 4. r. 7</LotNumherText>
<1— G.k.4.1.7: Batch / Lot Number #2-1 —> ’
¢/productInstancelnstance>
¢kind0fProduct classCode="WMAT” determinerCode="KIND">
¢FormCode code="6.k.4.r.9, 2b" codeSystex="TBD-DoseForm” codeSystemVersion="G.k.4.r.9. 227>
¢l~~ G.k.4.r.9. 2a? Pharmaceutical Dose Form TermIl Version Date / Number #2-i ~>
¢l— .k 4.r. 9. 2b: Pharmaceutical Dose Form TermID #2-1 -5
SoriginalText)G. k. 4, r. 9. 1</originalText>
<l— G.%.4,1.9.1: Pharmaceutical Dose Form (free text) #2-1 —>
¢/EormCade)
{/kind0fProduct>
</instance0fKind> '
¢/consumable>
CinboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
<eode dode="28" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2, 1. 1. 197 displayName="parentRouteQfAdministration”/>
Cvalue xsiztype="CE™ code="G.k.4.T.1L 2b" codeSystem="2.16.840. 1. 113883, 3,989, 2, 1. 1. 14" codeSystenVersion="G. k.4.r.
1L 2a"

<!—-G. k.4.r.11.2a: Parent Route of Administration TermlD Version Date / Number ﬂ2—1 >
<|— G.k.4.r.11.2b: Parent Route of Administration TermID #2-1 —>
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<originalTextdG. k. 4. 1. 11. F{/originalText>
¢le= G.k.4.7,11, 1 Parent Route of Administration (free text) #2-1 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="CCMP™>
{l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-2 —>
{substanceAdministration classCode="SBADM™ moodCode="EVN™> '
C(text>G. k. 4. r. B</text> .
(l== G.k.4.r.8: Dosage Text #H2-2 —>
Ceffectivelime xsi:type="IVL_TS™>
{low value="200801017/>
¢!— G.k.4.1.4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k. 4.r, 6b"/>
<!— G.k.4.r.6a: Duration of Drug Administration (number) #2-2 —>
(l— G. k. 4.r.6b: Duration of Drug Administration {unit) #2-2 —>
{/effectiveTime>
<routeCode code="G.k. 4.r.10.2b" codeSystem="2. 16. 840. L. L13883. 3.989. 2. L. 1. 14" codeSystemVersion="G. k. 4.r. 10.2a">
¢l— G.k.4.1.10,2a: Route of Administration TermID Version Date / Number #2-2 —>
<l— G.%. 4.r.10.2b: Route of Administration TernID #2-2 ~—>
{originalText>G. k. 4. 1. 10. 1{/originalText>
. {l=~ G.%.4.1.10.1: Route of Administratien {frec text) §2-2 —>
{/routeCode>
<doseQuantity value="10" unit="G.%. 4.r. 16"/>
¢{l— G.k.4.r. 1a Dose (number) #2-2 —>
{!— G.k.4.r. 1b: Dose (unit) H#2-2 —>
<consumable typeCode="CSH™>
{instance(fKind classCode="INST™>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/lotNumberText>
{1—— G.k.4.1.7: Batch / Lot Number #2-2 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForn” codeSystemVersion="C.k. 4.r.9.2a">
{l-- G.k.4.1.9.2a: Pharmaceutical Pose Form TermlD Version Date / Number #2-2 —>
l— G.k.4.r.9 2b: Pharmaceutical Dose Form TermlID #2~2 =)
<originalText>G. k. 4. r. 9. 1</originalText>
I~ G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-2 —>
</fornCode> .
</kind0fProduct>
¢/instanceOfKind>
</consumable>
(inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN™> '
{code code="28" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="parentRouteOfAdninistration”/>
<value xsiitype="CE” code="G.k.4.r. 1l Zb” codeSystem="2_16. 840. 1. 113883, 3. 989. 2. 1. L. 14" codeSystenVersion="G. k. 4. r.
11.2a™>
{1~ G.k.4.1.11. 2a! Parent Route of Administration TermID Version Date / Number §2-2 —)
<l~— G.k.4,r, 11. 2b: Parent Route of Adwinistration TernlD #2-2 —>
CoriginalText>G. k. 4. r. 11. 1<{/originalText>
¢l— 6.k 4.r.11.1: Parent Route of Administration (free text) #2-2 ~w>
{/value>
{/observation®
{/inboundRelationship>
{/substanceAdministration>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
<{l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-3 -—>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>h. k. 4. r. 8{/text>
{I— G.k.4.1.8: Dosage Text #2-3 —>
{effectiveTime xsi:type="IVL_T87>
<width value="4" unit="G.k. 4. r.6b"/> B
{t— G. k. 4.r.6a: Duration of Drug Administration (number) #2-3 ~->
{!— G.k.4.r. Bb: Duration of Drug Administratien {unit) #2-3 —)
<high value="200901017/>
€l-- G.k.4.1. 57 Date and Time of Last Administration #2-3 —>
{/effectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2, 16. 840. 1. 113883, 3.989. 2. 1. 1. 14" codeSystemVersion="G, k. 4. r. 10. 2a™>
{l-= G.k 4.1, 10, 2a: Route of Administration TernID Version Date / Number §2-3 —>
<l~= G.k.4.r.10,2b: Route of Administration TermlD $2-3 —>
{originalText>G. k. 4. r. 10, I</originalText>
!~ 6.k 4.r.10.1: Route of Administration (free text) #2-3 «>
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¢/routeCode?
¢doseQuantity value="10" unit="G.k.4.r.1b7/>
¢l— G.k.4.r.la Dose (number} ¥2-3 —>
¢l— G k. 4.r. th: Dose {unit) #2-3 —>
Zconsumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText6. k. 4. r. 7¢/lotNumberText>
¢l G.k.4.1.7: Batch / Lot Number #2-3 —
¢/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>

(fornCode code="G. k. 4.1.9.2b" codeSystem="TBD-Doseform” codeSystemVersion="0. k. 4.1.9.2a™>
¢<l— G.k.4.1r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 ——>
¢!— G.k.4.r.9,2b Pharwaceutical Dose Form TermID #2-3 —>
CoriginalText)G. k. 4. r. 9. 1</originalText>
¢l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-3 —>
</fornCode>
¢/kind0fProduct>
</instance0fKind>
</consunable>

<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSystem="2.16. 840. 1. 113883.3.989.2. 1. L. 19" displayName="parentRouteOfAdministration™/>
¢value xsiitype="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 113863.3.989. 2. 1. 1. 14" codeSystenVersion="G. k. 4. 1.
11.2a7>
¢l~- G.%.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number f#2-3 —=>
¢l— G.k.4.r, 11.2b: Parent Route of Administration TermID #2-3 —>
CoriginalText>G. k. 4. r. 11, 1</original Text>
~ ¢1— G.k.4.r.11.1: Parent Route of Administration (free text) #2-3 —>
{/value>
¢/chservation>
</inboundRelationship>
¢/substanceAdministration>
<foutboundRelationship2>
¢outboundRelationship2 typeCade="COMP™>
¢l— 6. k. 4. r: Dosage and Relevant Information (repeat as necessary) #2-4 —»
{substanceAdministration classCode="SBADM" moodCode="EVN">
Ctoxt>G, k. 4. r B¢/ text)
¢l— G.k.4.1.8: Dosage Text #2-4 —>
<effectiveTime xsi:type="SXPR_TS™>
<comp xsiitype="PIVE_TS™>
¢period value="10" unit="G. k. 4.1.3 1
¢l G.k.4.1.2: Number of Units in the Interval #2-4 —>
¢1— G.k.4.r.3: Definition of the Time Interval Unit #2-4 —>
{/comp>
{comp xsi:type="IVL_TS” operater="A">
<low value="200201017/>
{l— G.k.4.1.4: Date and Time of Start of Drug H2-4 —> .
</comp>
{/effectiveTime>
¢routeCode code="G. k. 4. r. 10.2b" codeSystem="2. 16. 840. 1. 113883, 3.989.2. 1. 1. 14" codeSystenVersion= “G. k. 4.1, 10, 287>
¢~ G.k.4.1r.10,2a: Route of Administration TermID Version Date / Number #2-4 -=>
<}~ G.k.4.r. 10, 2b: Route of Administration TermID #2-4 —>
LoriginalText?G, k. 4. r. 10. I{foriginalText>
¢l— G.k.4.1.10, 1: Route of Administration (free text) #2-4 —>
{/routeCade>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
¢I— 6.k 4.1. la Dose (number) #2-4 —>
. ¢t— G.k.4.r.1b: Dose (unit) #2-4 —>
<consumable typeCode="CSH™>
{instanceOffind classCode="INST">
(productInstanceInstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. x. 7</lotNunberText>
{l— G.k.4.r.7: Batch / Lot Number #2-4 —>
</productInstancelnstance>
<kindOfProduct classCode="MWMAT" determinerCode="KIND™>
¢fornCode codes"G. k. 4.r. 9. 2b" codeSystem="TBD-DoseForn™ codeSystemVersion="G.k. 4.r. 9. 2a*>
¢l~— G.k.4.r, 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —3>
¢l=- G.k.4.r.9.2b: Pharmaceutical Dose Form TermID §2-4 -->
{originalText>G. k. 4. r. 9, 1</originalText>
¢l— .k 4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 —>
</fornCade>
</kindOfProduct>
</instance0fKind>
</consumab] e>
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<inboundRelationship typeCode="REFR">
<ohservation classCode="0B5S" moodCode="EVN">
{ecode code="28" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
{value xsiitype="CE” code="G, k.4.r, 11, 2b” codeSystem="2, 16, 840, 1. 113883, 3. 98%. 2. 1. L. 147 codeSystem¥ersion="¢.k.4.r.
11.2a">
<l— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-4 —>
¢l G.k.4.r.11,2b: Parent Route of Administration TermID K2-4 —>
{originalText>G. k. 4. r. 11. 1</ originalText> .
¢l— G.k.4.1.11.1: Parent Route of Administration (free text) #2-4 —>
{/value>
<{/abssrvation®
{/inboundRelationship>
{/substanceAdministration> .
</outboundRelationship2>
{outhoundRelationship2 typeCode="COMP">
{!— G.% 4.r: Dosage and Relevant Information (repeat as necessary) #2-5 —>
{substanceAdrinistration classCode="SBADH™ moodCode="EVN™>
{text>G k. 4. 1. B¢/ toxt?
{l=- G.%. 4.r.8: Dosage Text #2-5 ——>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="¢. k. 4.r.37/>
<t—— G.k.4.1.2: Number of Units in the Interval #2-5 —>
¢— G. k. 4.1.3: Definition of the Time Interval Unit §2-5 —>
</comp?
<comp xsi:type="IVL_TS” uperator="A">
<high value="200801017/>
¢— G.k.4.r.5: Date and Time of Last Administration #2-§ —>
</comp>
</effectiveTime>
<routeCode code="G. k. 4. r. 10 2b" codeSystem="2, 15, 840. 1, 113883, 3, 989, 2, 1. 1, 147 codeSystemVersion="G. k. 4. r. 10, 2a™>
(le= . k.4.r.10.2a: Route of Administration TernID Version Date / Number #2-5 —>
<l— G.k.4.1.10.2b: Route of Administration TermID #2-5 —>
<originalText>G. k. 4. r. 10. 1{/originalText>
{l—— G.k.4.1r.10. }: Route of Administration (free text) K2~ —>
</routeCode>
<doscQuantity value="107 unit="G.k.4.r.1b"/>
¢!— G.k.4.r. la Dose (number} #2-5 —>
{l— G.k.4.r. 1b: Dose (unit} H2-5 —>
{consumable typeCode="CSW™>
<instanceOfKind classCode="INST">
(productInstancelnstance classCode="MMAT® determinerCode="INSTANCE™>
<{lotNumberText>G, k. 4. r, 7¢{/1otNumberText>
<!— G.k.4.r.7: Batch / Lot Number #2-5 —>
<fpraductInstancelnstance
<kindOfProduct classCode="MMAT” determinerCode="KIND™>
<formCode code="G. k. 4.1.9.2b" codeSystem="TBD—DoscForm” codeSystemYersion="G.k.4.r.9. 2a™>
¢1~= G.k.4.r.9.2a: Pharmaceutical Dase Form TermlD Version Date / Number #2-5 —>
{l— G.k.4.r.9 2b: Pharmaceutical Dose Form TermID #2-5 —>
<originalText>G. k. 4, r. 9. 1</originalText>
¢!— G.k.4.r.9.1: Pharmaccutical Dose Form (frec text) H2-5 —> .
</formCode>
{/kindOfProduct>
</instanceOfKind>
</cansumabled
<inboundRelationship typeCode="REFR™>
{observation classCode="UBS” maodCode="EVN™>
{code code="28" codeSysten="2. 16.840. 1, 113883, 3,989, 2. 1. 1. 19* displayName="parentRouteOfAdrinistration”™/>
. {value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 089, 2. 1. 1. 14” codeSystemVersian="G. k. 4. .
11.2a™>
¢1— G.k.4.r. 11. 2a: Parent Route of Adwinistration TermlID Version Date / Number §2-5 —>
<!— G.k.4.r.11. 2b: Parent Route of Administration TermID #2-§5 -=>
<originalText>G. k. 4. 1. 11. 1</originalText>
<l— G.k.4.r.11.1: Parent Route of Administration (free text) ﬁ2—5’ —
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outhoundRelationship2 typeCode="COHP™>
<!-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
<substanceAdministration classCode="SBADM™ moodCode="EYN">
<Ctext>G. k. 4. r. 8</text>
<I— G.k. 4.1.8: Dosage Text #2-6 —>
CeffectiveTime xsi:type="SXPR_TS™>
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{comp Xaiitype="PIVL_TS™>
) <pericd values"107 wnit="G.k.4.r.3°/5
¢l— G. k. 4. r.2: Nupber of Units in the Interval #2-6 —>
¢{l— G,k.4.1.3: Definition of the Time Interval Unit #2-6 —>
- </coup?>
X <comp xsi:type="IVL_TS” cperator="A">
¢width value="4" unit="G k. 4.1.6b"/>
<l-- G.k.4.r.6a: Duration of Drug Administration (number) #2—6 —>
¢l—- G.k. 4.1.6b: Duration of Drug Administration (unit) #2-6 —>
</comp>
{/offectiveTime>
CrouteCode code="G.k 4.r.10.2b" codeSystem="2. 16.840. }. 113883,.3.989.2.1. 1. 14" cedeSysten¥ersion="G. k. 4. r. lO 2a™>
¢l G.k.4.1.10.2a: Route of Administration TermIP Versicn Date / Nuwber #2-6 —>
¢1— 6.k 4.r.10.2b: Route of Administration TermID #2-6 —>
CoriginalText>G. k. 4. r. 100 1<{/originalText>
¢l— G.k 4 r.10.1: Route of Administration (free text) #2-6 -=>
{/routeCode>
¢doseQuantity value="10" unit="G.k 4.r.1b"/>
<l— G.k.4.r.1a Dose (number) #2-6 —>
¢!— G,k 4.r.1b: Dose (unit) #2-6 —>
Cconsumable typeCode="CSM™>
¢instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE>
<lotNumberText>G, k. 4. r. 7</lotNumberText>
<}— G.k. 4.r.7: Batch / Lot Nuwber #2-6 —>
</productInstancelnstance?
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
<formCode code="G. k. 4. r. 9. 26" codeSysten— TBD-DoseForm” cndeSystemVersiun—'G k.4.r.9.2a7>
<!— Gk 4r.9. 21:- Pharmaceutical Dose Form TermlD #H2-6 —>
<originalText>G. k. 4. 1.9, 1</originalText>
¢l~- G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-6 —>
</formCode>
{/kind0fProduct>
{/instanceDfKind>
</consunable?
{inboundRelationship typeCode="REFR™>
{observation classCade="0BS” moodCode="EVN">
¢eode code="28" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19* displayName="parentRouteOfAdministration”/>
<value xsiitype="CE" code="G.k.4.r.11.2b" codeSystem="2. 16,840, 1. 113883.3.980. 2. 1. L 14" codeSystenVersion="G. k. 4. r.
11.2a">
! ¢l— G.%. 4.r. 11, 2a: Parent Route of Administration TermID Version Date / Number ¥2-6 —>
<l— G, k.4.r.11.2h: Parent Route of Administration TernlID §2-6 -=>
CoriginalText>G. k. 4. 1. 11. i{/originalText>
¢!— G.k.4.1. 11 1: Parent Route of Administration (free text} #2-6 —>
</value>
{/observation>
¢/inboundRelationship>
¢/substanceAdministrationd
<{/outboundRelationship2>
<outboundRelationship? typeCode="COMP">
¢I— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 ~—>
{substanceAdministration classCode=" SBADH moodCode="EVN™>
CtextG k. 4. r. 8¢/ text>
|- G.k.4.r.8: Dosage Text #2-T —>
<effectiveTime xsi:type="PIVL_TS™>
{period value="10" unit="6.k.4.1.37/>
¢|-— G.k.4.r.2: Number of Units in the Interval #2-7 —
¢l—= G.k.4.1.3: Definition of the Time Interval Umit #2-7 —> .
<{/effectiveTine>
{routeCode code="G.k.4.r. 10, 2b" codeSysten="2. 16. 840, 1. 113863, 3.989. 2. 1. 1. 14" codeSystenVersion="G, k. 4. r. 10. 2a">
{l— G.k 4.r. 10.2a: Route of Administration TermID Version Date / Number #2-7 —>
<t— G.k 4.7.10.2b: Route of Administration TermID #2-7 —>
<originalTextG. k. 4. r. 10. 1{/eriginalText>
¢!— G.k.4.r.10.1: Route of Adwinistration (free text) #2-7 —>
</routeCode>
{doseQuantity value="10" unit="G.%.4.r.1b"/>
<!— G.k. 4.r. la Dose (number) #2-7 —>
¢— G.k.4.r. 1b: Dose (unit) #2-7 —>
{consumable typeCode="CSH">
{instance0fKind classCode="INST">
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNunberText>
¢l— G.k.4.x.7: Batch / Lot Number #2-7 —>
</praductInstancelnstance>
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¢kindOfProduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion=“G, k. 4.r.9, 2%

¢l— G, k. 4.1, 9, 2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-7 ~—>
<!— G.k.4.r.9.2b: Pharmaceutical Dose Form TermiD #2-7 —>
<originalText>G. k. 4. r. 9. 1</originalText>
¢l— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-7 —>
</fornCode>
</kind0fProduct>
{/instanceOfKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™>
{code code="28" codeSystem="2, 16.B40. 1, 1£3883. 3,989. 2, 1. 1. 19 displayName="parentRouteOfAdministration”/>
{value xsiltype="CE” code="G.k. 4.r.11. 2b" codeSystew="2.16.340. 1. I13883. 3. 980. 2. 1. 1. 14" codeSystemVersion="G.k. 4.r.
11.2a™>
|~= G.k.4.r 11, 2a: Parent Route of Administration TermlD Version Date / Number £2-7 >
(!-- G.k.4.r.11. 2b! Parent Route of Administration TermlD H2-7 ——»
<originalText>G. k. 4. 1. 11. 1</originalText>
1= G.k.4.r.11. 1: Parent Route of Administration (free text) #2-7 —>
</value>
</observation®
</inboundRelationship>
¢/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
<!— G.k.4.r: Dosage and Relevant Information (repeat as necessary} #2-8 —
{substanceAdministration classCode="SBADM" maedCade="EVN™>
<text>G. k. 4. 1. 8¢/textd )
¢{l— G.k.4.r.8: Dosage Text #2-8 —>
CeffectiveTime xsi:type="IVL_TS™>
<low value="20080101"/>
¢l— .k, 4, r.4: Date and Time of Start of Drug #2-8 —>
{/effectiveTime>
(routeCode code="G. k. 4. 1. 10.2b” codeSystem="2, 16. B40. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G, k. 4, r. 10, Z2a”>
{1— 6. k.4,1.10, 2a;: Route of Administration TermID Version Date / Number #2-8 —>
<!— G k. 4.x.10.2b: Route of Administration TermID #2-8 —
CoriginalText>G. k. 4, r. 10. 1{/originalText>
{1— 6.k, 4.7.10.1: Route of Administration (free text) #2-8 —
{/routeCode>
{doseQuantity value="107 unit="G.k.4.r.1b"/>
¢{!— G.k.4.r.1a Dose (number} #2-8 —>
¢!— G.k 4.1, 1b: Bose (unit) H2-8 —>
{consumable typcCode="CSH™>
<instanceOfKind elassCode="INST™>
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText)G. k. 4. r. 7</lotNumberText>
<l—— G, k.4.r,7: Batch / Lot Number #2-8 —>
¢/praductInstancelnstance>
<kindOIProduct classCode="MMAT” determinerCodes"KIND”>
{fornCode code="G.k.4.1.9.2b" codeSystem="TBD-DoseForm™ codeSystemYersion="G. k. 4.r.9.2a">
{l— G.k.4.r.9.2a: Pharmaccutical Dose Form TernmID Version Date / Number #2-8 —>
<l-- G.k 41,9, 2b; Pharmaceutical Dose Form TormlID H2-8 ——>
originalText>G. k. 4. t. 9. 1¢/original Text)
{!— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-8 —>
</farmCode>
</kind0fProduct>
{/instanceCfKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="parentHouteOfAdministration™/>
{value xsiitype="CE” code="G.k. 4.r,11.2b" codeSystem="2, 16, 840, ], 112883, 3. 680, 2. 1. 1. 147 codeSystenVersion="G.%. 4.r.
11.2a">
{l== G.k.4.r. 11, 2a: Parent Reute of Administration TermID Version Date / Number #2-8 -->
{!— G.k.4.r.11. 2b: Parent Route of Adwinistration TermID #2-§ —>
{originalText>G, k. 4. 1. 11, 1{/originalText>
<!— G.k.4.r.11. 1: Parent Route of Administration (free text) §2-8 —>
{/value> '
</cbservation}
</inboundRelationship>
</substanceAdministration>
{foutbsundRelationship2?
<outboundRelationship2 typeCode="COMP”>
¢!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-9 —>
{substanceAdministratien classCode="SBADM™ mondCode="EVN™>
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{text)G. k. 4. r. B/ text>
¢l=- G,k 4.r.8: Dosage Text #2-9 -=>
¢effectiveTime xsi:type="IVL_T5">
<high value="200901017/>
¢1— G.k.4.1.5: Date and Time of Last Administration ﬁE-B —>
{/effectiveTime>
(routeCode code="G.k. 4. r.10,2b" codeSystem="2, 16.840. 1. 113882, 3, 989.2. 1. 1. 14" codeSystenVersion="G. k. 4.1, 10 2a™>
{l— 6.k 4.r. 10. 2a: Route of Administration TermID Version Date / Number #2-9 —>
<I— G.k.4.1r.10.2b: Route of Administration TermID #2-9 —>
CoriginalText>G. k. 4. 1, 10. 1</originalText>
¢|— G.k.4.r.10.1: Route of Administration (free text) #2-9 —>
{/rduteCode>
<doseQuantity value="10" unit="G.k. 4.r.1b"/>
¢l— 6.k 4.r.1a Dose (number) #2-9 —>
¢l— G.k 4.r.1bs Dose (unit) H2-9 —>
{consumable typeCede="CSH™>
CinstanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNusberText>G, k. 4. r. 7</lotNupberText>
¢l— G. k.4, r,7: Batch / Lot Number #2-9% —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
¢fornCode code="G.k. 4.1.9. 2b” codeSysten="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a">
¢1— G.k.4.1.9.2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-9 —>
{l— G,k 4 r.9.2b: Pharmaceutical Dose Form TermID #2-9 —>
<originalText>G. k. 4. r. 4, 1{/originalText>
¢l G. k. 4.7r.9.1: Pharmaceutical Dose Form (frec text} #2-9 -->
</fornCode>
{/kind0fProduct?
</instanceOfKind>
{/consumable>
(inboundRelationship typeCode="REFR™>
{ohservation classCode="0BS" moodCode="EVN" >
¢code code="28" codeSystem="2. 6. 840. 1. 113883, 3. 989. 2. 1. 1, 19" displayName="farentRoute0fAdministration™/>
¢value xsiitype="CE" code="G.k. 4.r.11.2b" codeSystem="2. 16. B40. 1. 113883.3.939.2,1, 1, 147 codeSystenVersion="G. k. 4. 1.
1E, 227> . .
¢1— G.k.4.r.11.2a: Parent Route of Administration TernID Version Date / Number #2-8 —>
¢l=— G.k.4.1.11, 2b: Parent Route of Administration TernlID #2-9 —>
originalText>G. k. 4. r. 11. 1</originalToxt>
<l-- G.k.4.r.11. 1 Parent Route of Administration {free text) #2-9 -~>
</value>
¢/observation>
</inboundRelationship>
¢fsubstanceAdministration>
¢/outboundRelationship2>
{outboundRelationship? typeCode="COMP™>
¢l=- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-10 —>
¢substanceAdministration ¢lassCode="SBADM™ moodCode="EVN™>
{textdG. 4. r. B¢/ text
{!— 6.k.4.r,8: Dosage Text #2-10 —>
{effectivelime xsiitypo="IVL_TS™>
¢width value="4" unit="G.k.4.r.66"/>
¢l~— G.k.4.r.6a: Duration of Drug Administration (number) #2-10 —>
{l— G.%. 4.r.6h: Duration of Drug Administration (unit) #2-10 —>
{/effectiveTime>
CrouteCode code="G. k. 4. T. 10, 2b" codeSystem="2, 16. 840. 1. 113883, 3.989. 2. 1. 1. 14" codeSystenVersion="6. k.4.1.10.2a">
¢!— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-10 —>
<!— G.k.4.r.10.2b: Route of Administration TermID #2-1¢ —>
CariginalText>G. k. 4. r, 10. 1<{/originalText>
¢l— G, k,4.r.10.1: Route of Administration (free text) #2-10 —>
</routeCode)
¢doseQuantity value="10" unit="G.k.4.r. 167/
¢lew G. k. 4.1. 1a Dose (number} #2-10 —>
{— G.k 4.r. 1b: Dose {(unit) #2-10 —>
{consurable typeCode="CSH™> ’
¢instanceOfKind classCode="INST*>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. x. 7</lotNunberText>
&l G k. 4.r.7: Batch / Lot Number #2-10 ~=>
<{/productInstancelnstance>
<kindDfProduct elassCode="MMAT® determinerCode="KIND">
<formCode code="G.k 4.r.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion=G.k. 4.1.9.2a™>
¢!— G.% 4.1.9. %a: Pharmaceutical Dose Form TermID Version Date / Number #2-1¢ —>
* ¢l-- G.k.4.1.9. 2b: Pharmaceutical Dose Form TermID #2-10 —>
<originalText?G. k. 4. r. 9, 1</originalText>
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.<!,_ G.k.A.r.9.1: Pharmaceutical Dose Form {free text) H2=10 -->
{/fornCode>
{/%ind0fProduct?
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR*>
{observation classCode="0BS" moodCode="E¥YN">
{code code="28" codeSystom="2, 16, B40, 1, 113883, 3,989, 2. 1. 1. 19”7 displayName="parentReute0fAdninistration™/>
Cvalue xsiztype="CE” code="G. k. 4.1. 11. 2b7 codeSystem="2. 16. 840. 1. 112883, 3,989, 2, 1. 1. 14" codeSystenVersion="G.k.4.r.
11.2a™
<}— G.k.4.7.11.2a: Parent Route of Administration TermlD Version Date / Number #2-10 —>
¢l— G.k.4.r.11.2b: Parent Route of Administration TermiD #2-10 —>
<originalText>G. k. 4. r. 11, 1{/originalText>
¢I~— G.k.4.r.11.1: Parent Route of Administration (free text) #2-10 —>
<{/value>
</observation?
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship? typeCode="SUMM">
{observation clagsCode="0BS" moodCode="EVN">
{code code="14" codeSystem="2. 16.840. 1. 1¥3883. 3. 989. 2. 1. 1. 19" displayName="cumulativeDoseToReaction />
Cvalue xsitype="PQ” value="10" unit="G. k. 5b"/>
<1— 6.k 5a: Cumulative Dose to First Reaction (number} #2 —>
¢1— G.k.5b: Cumulative Dose toa First Reaction {unit) #2 —>
{/obgervation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0B5" moodCode="E¥N">
{code code="16" codeSystem="2, 16. 840, 1. 113883, 3. 989. 2. 1. 1. 18" displayName="gestationPeriod”/>
Cvalue xsiitype="PQ” value="10" unit="G.k.6b"/>
¢l—- G.k.6a: Gestation Period at Time of Exposure {number) #2 —>
¢!— G.k.6b: Gestation Period at Time of Exposure {unit) #2 —>
<{/observation>
</outboundRelationship2> .
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
<code code="31" codeSystem="2. 16. 840. 1. 113863, 3. 980. 2. 1, 1. 19" displayName="recurrance0fReaction”/>
<{value xsi:type="CE" code="G.k.9.i.4" codeSystem="2.16.840.1, 113883.3.989,2,1,1.16"/>
{!— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #1 —>
<outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS" moodCode="EVN™>
¢id root="154ebB889-358b~45F2~a02f~42d4d6f4657E" />
</actReference?
{/outboundRelationshipl>
</abservation)
{/outhoundRelationship2>
{outboundRelationship2 typeCode="FERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="31" codeSystem="2, 16, 840, 1, 113883. 3. 989, 2. 1. 1. 19" displayName="recurranceOfReaction”/
Cvalue xsiitype="CE” code="G.k.9.i.4" codeSystem="2.16.840. 1. 113883, 3.989.2.1. 1. 16"/>
{!— G.k.9.i.4: Did Reaction Recur on Re~administration? Drug #2, Reaction #2 —>
<outhoundRelationshipl typeCode="REFR™>
{actReference classCode="0BS” moodCode="EVN™>
<id root="2baa2Bd6-cYe8-de6c-93e9-5hBE0b3142207/>
{/actReference>
</outboundRelationshipl>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS" moadCode="EVN">
{code code="9" codeSystem="2. 16, 840, 1, 113883, 3, 989, 2, 1, 1, 18" displayName="codedDrugInformation™/>
<value xsi:type="CE” code="G.k.10.r" codeSystem="2.16.840. 1. 113883. 3,989, 2,1, 1. 17"/>
¢l= G.k. 10.r: Additional Information on Drug (coded) (repeat as necessary} #2-[ «—>
</obsarvation>
</outboundRelationship2>
{outboundRelationship? typeCode="REFR">
<observation classCode="0BS" moodCode="EVN“>
Ccode code="9” codeSystem="2.15. 840, 1. 113883, 3.989, 2, 1. 1. 197 displayName="codedDrugInformation™/>
<value xsi:type="CE” code="G, k. 10,r" codeSystem="2, 16,840, 1. 113882, 3,989.2, 1. 1. 17"/>
{l=~ G.k 10.r: Additional Information on Prug (coded) (repeat as necessary) #2-2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationshin2 typefode="REFR™>
{observation classCode="0BS" moodCode="EVN™)>
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{code code="2" cadeSystem="7. 16, 840. L. 113883.3, 989, 2, 1. 1.19" displayName="additionalInformation”/>
Cvalue xsi:type="ST™6.k 11<{/value>
¢1=- G.k.11: Additional Information on Drug (free text) #2 —>
<fobservation>
</autboundRelationship2>
<inboundRelationship typeCode="RSONT>
¢observation classCode="0BS" moodCode="EVN™>
<code code="19" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" displayName="indication™/>
¢value xsi:type="CE” code="G.k.7.r.2b" codeSystemn="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="G. k. 7.1, 2a">
{l-- G. k. 7.r.2a: ModDRA Version for Indication #2-1 —>
¢t— G.k 7.x.2b; Indication (MedDRA code) #2-1 —>
<originalText>G. k. 7. r. 1</originalText>
¢I— G.k.7.7.1: Indication as Reported by the Primary Source #2-1 —>
£/value?
<performer typeCode="PRF™>
{assignedEntity classCode="ASSIGNED™>
Ceode code="3" codeSystem="2. 16. B40. 1. 113883, 3. 989. 2. 1. L. 21" displayName="sourceReporter™/>
{/assignedEntity>
{/performer>
¢/observation>
¢/inboundRelationship>
{inboundRelationship typeCode="RSON">
{observation elassCode="0BS" moodCode="EVN™>
¢code code="19" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 197 displayName="indication™/>
¢value xsi:type="CE” code="G.k.7.r.2b" codeSysten="2. 16. 840. 1. 113883, 6. 1637 codeSystenVersion="G. k. 7.1.2a">
<I~= G.k.7.r.2a: MedDRA Version for Indicatien #2-2 —>
¢— G.k.7.r.2b: Indication (MedDRA code) #2-2 —>
<originalText>G. k. 7, r. 1{foriginalText>
¢l-= G.k.7.r. 1: Indication as Reported by the Primsry Source #2-2 —>
</valued ’
{performer typeCode="PRF™>
<assignedBntity classCode="ASSIGRED™>
<code code="3" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.21" displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
</observationy
</inhoundRelationship>
¢inboundRelationship typeCode="CAGS™>
<act classCode="ACT” moodCode="EVN">
{code code="G.k. 8" codeSysten="2. 16.840. . 113883.3.989. 2. L. 1. 15" />
)=~ G.k.8: Action(s)} Taken with Drug #2 —>
<fact>
{finboundfelationship>
{/substanceAdministration>
{/component>
{/organizer>
</subject0fz>
(subjectOf2 typeCode="SBJ">
Corganizer classCode="CATEGORY" moodCode="EVN">
<code code="1" codeSystem="2, 16. 840, 1. 113883, 3.989. 5. 1. 3. 2. 1. 11" displayNaze="{%OEAE"/>
<component typeCode="COMP™> -
{observation classCode="0BS" mondCode="EVN™>
(code code="T" codeSysten="2.16.840. 1. 113683.3.089.5.1.3.2.1, 10" displayName="J& HE¥"/>
<value xsi:type="INT” value="17/>
¢l-- 088J2.13. 5. 1: JEHENE #1 —
{/abservation>
</compenent?
{component typeCode="COMP™>
{observation e¢lassCode="DBS” maodCode="EVN™>
¢eode code="8" codeSystem="2. 16,840, 1, 113883,3.989, 5.1.3. 2. L. 10" displayName="5F 8RB />
{value xsi:type="ED">]J2.13.r.2¢/value>
<l— 88872, 13.r.2: HEEH h —
{/obsexrvation>
</component>
{conponent typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
- Cgode code="9" codeSysten="2. 16. §40. 1. 113883, 3. 989, 5, 1. 3. 2. 1. 10" displayNeme="PA5E48"/>
“¢value xszi:type="CE” code="J2.13.1.3" codeSysten="2.16.840.1,113383,3,989.5.1.3.2. L. 0
¢(l— @@a)2, 13, r.3: PRI #1 —
{/observation>
</component>
{zompenent typefodes"COMP™>
¢observation classCode="0BS” toodCode="EVN">
<code code="10" codeSystem="2, 16, B40. 1. 113883, 3,989. 6. L. 3. 2. 1. 10" displayName="HIp DEFDTE"/>
Cvalue xsi:type="BL".value="trus"/>
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<l-- @872, 13.1. 4: BEPOEHOFE 1 —>
</cbservation>
</component>
<{/organizer>
</sub jectOf2>
CsubjectOf2 typeCode="SBJ">
<organizer classCode="CATEGORY" moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 11" displayName="FsBk > E"/>
<component typeCode="COMP™>
{observaticn classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16.840. 1. 113883, 3.985. 5. 1. 3. 2. 1. 10" displayNane="JHHEIF />
<value xsi:type="INT" value="1"/>
Cl-- #8812.13.r, 1: RHEEK #2 —>
{/abservation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EYN™>
Ccode code="8" codeSystem="2. 16.840. 1. 113883, 3.989.5. 1. 3. 2. 1. 10" displayName="3} R M"/>
<vslue xsi:type="ED">]J2.13.r.2¢/value> .
<l-- @8aJ2. 13.r.2: WPHRM 2 —
{/vbservation>
</component>
<compenent typeCode="COMP™>
{observation classCode="0BS™ moodCode="EYN™>

{code code="9" codeSystew="2. 16,840, 1. 113883.3.989.5.1.3. 2. L. 107 displayName="PpHFE40"/>
{value xsi:type="CE" code="J2.13.1.3" codeSystem="2.16. 840, 1, 113883.3.989, 5, 1.3. 2. L.7°/>
<l-— #28]J2.13.1.3: PI3E4E H2 >
{/obgervation>
{/conponent>

{compenent typeCode="COHP™>
{observation classCode="0BS" moodCode="EYN">
<cade code="10" codeSystem="2. 16. 840. 1. 113863. 3. 989.5. 1. 3. 2. 1. 10" displayName="B:FEPDEFDHE" />
{value xsi:type="BL" value="false”/>
<1— @#d]2.13. 1.4 BFHOEMDHE 12 -
{/observation?
</companent>
{/organizer>
</subjectDi2>
</primaryRole>
</subjectl>
<component typeCode="COMP">
<causalityAssessment classCode="0BS” mocdCode="EVN">
{eode code="20" codeSystem="2. 16,840, 1, 113883,3, 989, 2, 1.1, 97 displayName="interventionCharacterization”/>
<valve xsiitype="CE” code="G.k. 17 codeSystem="2, 16, 840, 1. 113883.3.989,2. 1. 1.13"/>
¢l=~ G.k. 1: Characterisation of Drug Role Drug #1 —>
<subject2 typeCode="SUB]">
{productUseRefercnce classCode="SBADH” moodCode="EVN">
<id root="3c91b4dS-e039-4aTa-9c30-67671b0ef9ed” />
¢/productlUseReference>
</subject2>
{/causalityAssessmentY
</component’>
<component typeGode="COMP™>
{causalityAssessment classCode="0BS” mocdCode="EYN™>
<code code="20" codeSystem="2.16.840. 1. 113983. 3. 989. 2. 1. 1, 19" displayName="interventionCharacterization”/>»
<value xsiitype="CE" code="G.k 1" codeSystem="2. 16.840. 1. 113883.3.989.2. L. 1. 13" />
¢l— G.k.1: Characterisation of Drug Role Drug #2 ~->
<subject2 typeCade="SUBJ™>
¢productlseReference classCode="SBADM" moodCoda="EVN™>
<id root="68d6f5ce-3b3b-45¢7-92dd-69e06730c3a0" />
{/productUseReference>
</subject2>
</causalityAssessment)
{/compenent>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS" moodCode="EVN™>
<code code="38" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="causality”/>
<value xsi:type="ST"DG.k. 9. 1,2 1, 3¢/value>

{)— G.k.9.i.2.r.3: Result of Assessmoent Drug #1, Reaction #1, Assessment §1 —>
<methodCode>

Corlginallext>G. k. . i, 2. r. 2¢foriginalText>

¢l— G.k.9.1.2.1.2: Method of Assessment Drug #1, Reaction #1, Assessment ¥l —>
</methodCode>

<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
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{code>

{originalText)G. k. 9. i. 2. 1. i/originalText
{l— G.k 0.i.2. 1.1 Source of Assessment Drug #1, Reactien #!, Assessment §1 —>
</code>
{/assighedEntity>
</author>

<subjectl typeCode="SUBJ">
{adverseEffectReforence classCode="0BS™ moodCode="EVN™>
¢id root="154eb889-958b—45f2-a02f-42d4d6£46571 />
{/adverseEffectReference>
{/subjectl>
{subject2 typeCode="SUB]™>
{productUseReference classCode="SBADM" mondCode="EVN™>
{id root="3¢91b4d5-e039-4aTa-9c30-67671b0eDed” />
</productlseReference>
{/suhject2>
{/causalityAssessment>
{/component?
{component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16. B40. 1. 113883, 3,988, 2, 1. 1. 19" displayName="causality”/>
<value xsi:type="ST™>G.k. 9. i.2.r.3{/value>
l==G.k 9.i.2.1.3: Result of Assessment Drug #1, Reaction H2, Assessment #1 —>
{methodCoede>
CoriginalText)G. k. 9. i. 2. x. 2{/originalText>
¢I—G. k. 9.1. 2. x. 21 Method of Assessment Drug #1, Reaction #2, Assesswent #1 —~>
</nethodCode> ]
Cauthor typeCode="AUT">
CassignedEntity classCode="ASSIGNED™>
{code>
CoriginalTextdG. k. 9. i. 2. 1. 1{/originalText>
¢l— G.k.9.i.2.x.1; Source of Assessment Drug #1, Reaction ¥2, Assessment #1 —>
</eade>
{/assignedEntity>
<{/auther>
<subjectl typeCode="SUBJ">
CadverseBffectReference classCode="0BS™ mowdCode="EVN™>
<id rout='2baaZBdE—GQeS-4ch-9389f55350h314220'/)
{/adverseEffectReference>
</subjectl>
{subject2 typeCode="SUBT™>
{productlUseReference classCode="SBADM™ moodCode="EVN">
<id root="3cH1bdd5—e039-4aT7a-9c30~6T671b0ei%e4” />
{/productliseReference?
{/subject2>
{/causalityAssessment>
</component’?
<component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCade="EVN™>
Ccode code="39" cadeSystewr="2, 16, B40, 1. 113883, 3.989. 2. 1. 1. 19" displayName="causality”/>
<{value xsittype="ST">G. k. 0. i. 2 r.3</value>
&l—G.%.9. 1.2 1, 3: Result of Assessment Drug ¥2, Reaction H2, Assessment #1 —> -
{methodCade? .

CoriginalTextdG. k. 9. i. 2. 1. 2{/originalText>
(I—G. k. 9.3, 2. 1. 2 Method of Assessment Drug #2, Reaction #2, Assessment #1 —>
{/methodCode>

<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED™>
<{eode>
{originalText¥G, k.9, i 2.r. 1<foriginalText)
¢— 6.k.9.i.2.7. 1: Source of Assessment Drug #2, Reaction $2, Assessment #1 —>
<feode> .
</assignedEntity>
</authar>
<subjectl typeCode="SUBJ™>
{adverseEffectReference classCode="0BS” moodCode="EVN™>
<id root="2baa28d6~cIeB-deGo-938-5b86003142207 /)
{/adverseEffectReference?
</subjectl>
<subject2 typeCode="SUBJ">
¢producilseReference classCode="SBADM” moodCode="EYN">
<id root="68d6f5ce~3b3b~46c7-92dd-69e06730c3a" /> {
{/productUseReference>
<{/subject2>
{/eausalityAssessment>
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<{/compohent>
<conponent typeCode="COMP™>
<gausalityhssessment classCode="0BS" moodCode="EVN™>
{code code="39" codeSystem="2. 6. 840. . 113883. 3. 988. 2. 1. 1. 19" displayName="causality”/>
{value xsitype="ST">G. k. 9. i.2. 1. 3¢/value>
<1—G. k. 9. 1. 2. 1. 3: Result of Assessment Drug #2, Reaction H2, Assessment #2 —>
<(methodCode>
CoriginalText>G. k. 9. i. 2. r. 2¢/originalText>
<I1--G.k.9.1.2. 1. 2! Method of Assessment Drug #2, Reaction #2, Assessment #2 —>
{/methodCode>
<author typeCode="AUT™>
<{assignedBntity classCode="ASSIGNED™>
{code>
{originalText>G. k. 9. 1. 2. 1. 1</originalText>
{l=~ 6.k, 9,1,2, r.1: Source of Assessment Drug #2, Reaction #2, Assessment #2 —>
</code>
</assignedEntity>
(fauthor>
<{subject} typeCode="SUB]">
<ndverscBf fectReference classCode="0BS™ moodCode="EVN™>
<id root="2baa28d6-cleB-1iebc-93e9-5bB60b3142207 />
{/adverseEffectReferenced
</subjectl>
{subject2? typeCode="5UBJ">
<productlseReference classCede="SHADM™ moodCode="EVN™)
<id root="6G8d6f5ce-3b3b—45c7-92dd-69e06730c3a9" />
{/productUseReference>
{/sub ject2>
¢/causalityAssessmentd>
</camponent>
<componentl typeCode="COMP™>
{abservationEvent classCode="0BS” moodCode="E¥YN">
<code code="10" codeSystem="2. 16, 540. 1. 113883. 3. 989. 2. L. 1. 197 displayName="comment”/>
Cvalue xsi:type="ED">H, 2{/value>
¢l-= H.2: Reporter’s Comments ~~>
<author typeCode="aUT"»
CassignedEntity classCode="ASSIGNED™>
<{code code="3" codeSysten="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 21" displayName="sourceReporter”/>
</assighedEntity>
</author>
</observationEvent>
</componentl>
<componentl typeCode="COMP™>
<observationEvent classCade="0BS" moodCode="EVN™>
Ccode code="15" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="djagnosis”/>
{value xsiitype="CE” code="I. 3.r.1b" codeSystem="2. 16, 840. 1. 113883, 6. 163" codeSystemVersion="H.3.r.1a"/>
(!=- H.3.r.1a: HedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #l —>
¢!— H.3.r.Ih: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event {MedDRA code} #1 —>
<author typeCode="AUT™> !
{assignedEntity classCode="ASSIGNED™>
<code code="1" codeSysten="2, 16. 840, 1. 113883, 3. 989. 2. 1. 1. 21" displayName="scnder”/>
{fassignedEntity>
</author>
¢/observationEvent? .
</componentl>
<componentl typeCode="COMP™>
<observationEvent ¢lassCode="0BS" moodCode="EVN™>
{code code="15" codeSystem="2, 16, B40, 1, 113883, 3,989, 2. 1, 1, 13”7 displayName="diagnosis"/>
<value xsi:type="CE” code="H.3.r.1h" codeSysten="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="H.3.r.1a"/>
<!— H.3.r.1a: HedDRA Yersion for Sender' s Diagnosiz / Syndrome and / or Reclassification of Reaction / Event #2 —>
¢l—= H.3.r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #2 —»
<auther typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
eode code="1" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" displayName="sender”/>
{/assignedEntity>
{/author>
</obsexrvationEvent>
{/component1>
<componentl typeCode="COMP™>
<observationEvent classCode="0B5" moodCode="EVN">
{code cede="10" codeSystem="2. 16,840, 1, 113883.3.989, 2. 1. 1, 19" displayName="comment”/>
{value xsi:type="ED")H. 4¢/value>
{1— H.4: Sender's Comments —=>
<author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED™>
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{code code="1" codeSystem="2. I6. 840. 1, 113883, 3
{fassignedEntity>
{/author>
{/observationEvent>
</componentl>
<compenentl typceCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN™>

.989.2.1.1. 21" displayName="gender”/>

<code code="3" codeSystem="2, 16. 840. 1. 113883, 3. 989.5. 1. 3. 2. 1. 10" displayName="3K5E JTITHTH =AY /5

<value xsi:type="ED">J2.7.2¢/value¥
(I— gea)2.7.2: RETIHTI24-F —
{/observationEvent>
</component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN™>

<code code="4" codeSystem="2. 16.840. 1. 113883.3.989. 5. 1. 3. 2. 1. 107 displayName="SREEDB R HE"/>

<value xsi:type="ED">J2.9{/value>
|- 480]2. 9: WMUJEOMEHE —
</observationEvent>
</component1>
<component] typeCode="COMP™>
<observationBvent classCode="0B5" mocdCode="EYN™>

¢code code="5" codeSystem="Z. 16. 840. [, 113883. 3. 989.5. 1. 3. 2. 1. 10" displayName="4-#&DHH"/>

{value xsi:type="ED7>]J2. 10</value}
<l— #8012, 100 SHEOFE —
</observationEvent>
</eomponentl>
{componentl typeCode="COMP™>
{observationBvent c¢lassCode="0BS" moodCode="EVN™>

{code code="G" codeSystem="2. 16. 840. 1. 113883. 3.989.5.1.3.2, 1, 10" displayName="% DS EWHE"/>

¢value xsi:type="ED">J2.11</value>
— g8z, 11 EOhEEWHE —>
¢/observationEvent>
<{/componentl>
¢conponentl typeCode="COMP™>
¢observationEvent classCode="0BS” moodCode="EVN™>

Ccode code="12" codeSystem="2. 16, 840. 1. 113883, 3.989.5.1.3.2, 1. 107

<yalue xsi:type="ED">]J2. 16{/value>
<i-- 8802, 16: HMERNFOER —
{/observationEvent>
¢/component1>
<component] typeCode="COMP™>
<observationBvent classCode="0BS™ moocdCade="EVN™>

{code code="13" codeSystem="2. 16. 840. 1. 113883, 3. 985.5. 1.3. 2. 1. 107

<value xsi:type="ED">J2. 19¢/value>
<) @80z 19 WHL —
</observationEvent>
{/component1>
{compenent] typeCode="COMP™>
{cbservationBvent classCode="0B5" moodCode="EVN™>

<eode code="14" codeSystem="2. 16. 840. 1. 113683, 3,989.5.1.3. 2. 1. 10"

Cyalue xsi:type="ED">]2. 20¢/value>
b 88872.20: {RE2 —>
{/observationEvent>
</componentl>
{component} typeCode="COMP™>
{observationEvent classCade="0BS” moodCode="EVN™>

(code code="15" codeSystem="2, 16. 840. 1. 113883.3.989.5.1.3. 2. 1. 107

{value xsiitype="ED">JZ, 21<{/value>
<1— @@erz.21: {HE3 —
{/fobservationEvent>
</componentl>
¢componentl typeCoda="COMP">
{observationEvent classCode="0BS" moodCode="EVN™>

displayName="$BENEDELR" />

displayName="f§%&1"/>

displayName="{52"/>

displayName="{f§&3"/>

<code code="16" codeSystem="2.16.840, 1. 113883, 3, 989.5. 1. 3. 2. 1. 10" displayName="H#iZ4"/>

Cyalue xsi:type="ED">]2, 22{/value>
(I— eda72. 22: fEEd —>
¢/ohservationEvent>
¢/componentl>
¢/adverseEventAssessment>
</component?
{component typeCode="COMP">
{observationEvent c¢lassCode="0BS" moodCode="EVN™>
<code code="1" codeSystem="2. 15. 840. 1. 113883. 3. 989. 2. 1
<value xsi:type="BL" value="true”/>
¢l-— C.1.6.1: Are Additional Documents Available? —>

.1.19" displayName="additionalDocumentsAvailable”/>

— 48 —



{/observationEvent?
</component>
{component typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVR™>
{code code="23" codeSystem="2. 16.840. 1. 113883. 3.989. 2, 1. 1. 18" displayName="localCriteriaForExpedited”/>
<value xsi:type="BL" value="truc"/
¢!— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? ——>
</observationEvent>
{/component>
{component typeCode="COMP™)>
<observationBvent classCode="0BS™ moodCode="EVN">
{code code="36" cedeSystem="2. 16. 849, 1. 113883, 3,989, 2, 1. 1. 19" displayName="summaryAndComment”/>
Cvalue xsi:type="ED” language="Il. 5.r.1b">H. 5. r. la¢/value>
{1~ H.6.r.la: Case Summary and Reporter’'s Comments Text #1 —>
¢l— H.5.r. 1b: Case Summary and Reporter’ s Commwents Language #1 —>
{author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
<code code="2" codeSystem="2. 16, 840, 1. 113883, 3.988. 2. 1, 1. 217 displayName="reporter”/>
{fassignedEntity>
</author>
{/vbservationEvent>
</component>
{compenent typeCode="COMP™>
{observationBvent classCode="0BS” moodCode="EYN™>
{code code="36" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” displayName="summaryAndComment”/>
<{value xsi:type="ED" language="H.5.r.1b">H. 5. r. la{/value>
<|—— H.5.r. la: Case Summary and Reporter's Comments Text H2 —>
¢l— H.5.r, 1b: Case Summary and Reporter's Comments Language #2 —>
{author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
¢code code="2" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 21” displayName="reporter”/>
<{/nssignedBntity>
{fauthor>
</observationEvent>
{feomponont>
<outboundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG” moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 22" displayName="initialReport™/>
<subject0f2 typeCode="SUBJ™>
<controlActEvent classCode="CAGT” moodCode="EVN">
<author typeCode="AUT™>
¢assignedintity classCode="ASSIGNED™>
<eode code="C, 1, 8,27 codeSystem="2. 16. B40, 1, 113883, 3,989.2. 1. 1.3"/>
<!— C.1.8.2: First Sender of This Case —>
{/assignedBntity>
<fauthor>
¢{/controlActEvent)>
</subject0f2>
¢/relatedInvestigation?
<foutboundRelationship>
<outboundRelationship typeCode="SPRT">
<rolatodInvestigation classCode="INVETG™ meodCode="EVN™>
<code nullFlavor="NA"/>
{subjectOf2 typeCode="SUBJ]">
{controlActEvent classCode="CACT” moodCode="EYN™>
<id extension="C. 1. 10.r" root="2, I6. 840. 1. 113883. 3.989.2.1.3.2°/>
<1— C.1.10.r: Tdentification Number of the Report Which Is Linked io This Report {repeat as necessary)
{/controlActEvent>
</subject0f2>
</relatedInvestigation’
{foutboundRelationship>
<outboundRelationship typeCode="SPRT">
CrelatedInvestigation classCode="INVSTG" moodCode="EVN™>
{cede nullFlavor="NA"/>
<subject0f2 typeCode="SUB]")>
{cantrolActEvent classCode="CACT” moodCode="EYN">
€id extension="C. 1. 10.1" root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
{I— €, 1,10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
€/controlActEvent>
</subject0f2>
</relatedInvestigation>
¢/outhoundRelationship>
<outboundRelationship typeCode="SFRT">
<priorityNumber value="1"/>
¢l— C.2.1.5: Primary Source for Regulatory Purposes #1 —>
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<relatedInvestigation elassCode="INVSTG” moodCode="EVN™>
{code code="2" cadeSystem="2. 16. 840. 1. 113883, 3,589. 2. 1. 1. 22° displayNeme="sourceReport™/>
<subjectOf2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EYN™>
{author typeCode="AUT™>
¢assignedEntity classCode="ASSIGNED">
<addr>
¢streetAddressLinedC. 2. r, 2, 3{/streetAddressLine>
¢l— C,2.1.2.3: Reporter’'s Street #1 —>
{eity>C. 2. r. 2. 44/ /city>
{l— C.2.r.2.4: Reporter's City #1 —>
{state>C. 2. r. 2. 5{/state>
{l-~ C.2.r.2.5: Reporter's State or Pravince #I —>
¢postalCode>C. 2. 1, 2, 6¢/postalCade> .
¢1— C.2,1.2 6: Reporter’s Postcede Hl —>
</addr>
<telecom value="tel:C.2.1.2.7°/>
<!— C.2.1.2.7: Reporter’ s Telephone #1 —>
<assignedPerson classCode="PSN™ determinerCode="INSTANCE™>
<name?
<prefix>C. 2. r. 1, 1</prefixd
<l— C.2.r.1. 1: Reporter's Title #1 —>
CgivendC. 2. 1. 1, 2</given>
¢|— C.2.r.1.2: Reporter’s Given Name H1 =~>
<given>C. Z.r. 1. 3¢/given>
I~ C.2.r. 1.3 Reperter’s Kiddle Name #1 —>
<family>C. 2. ¥, 1, 4¢/Family>
<I— €. 2. r.1.4: Reporter's Family Name #1 —>
</name>
<asQualifiedEntity classCode="QUAL™>
¢code 'code="C. 2. 1. 4" codeSysten="2. 16. 840. 1. 113883, 3.989.2. 1. 1.6"/>
¢le~ C.2.r. 4! Qualification #1 —>
</asQualifiedEntity>
{asLocatedBntity classCode="LOCR™>
{location classCade="COUNTRY” determinerCode="INSTANCE™>
<cade code="C.2.1.3" codeSysten="1.0.3166.1.2.2°/>
<l— C.2.r.3: Reporter’s Country Code #1 —>
¢{/lacation>
<{/asLocatedEntity)>
{/assignedPerson>
<representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2{/name>
¢1— C. 2. 1.2 2: Reporter s Department #il —>
{assignedEntity classCode="ASSIGNED™>
<representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<name>C. 2, 1. 2. 1</name>
<l— €. 2.r.2.1: Reporter' s Organisation #1 —>
{/represented0rganization’
{/assignedEntity>
{/represented0rganization>
{fassignedEntity>
£{/author>
* {/controlActBEvent>
¢{/suhject0f2>
<{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT™>
<relatedInvesiigation classCode="INVSTG" moodCode="EVN™>
¢code code="2" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 22" displayName="sourceReport™/>
¢subjectOf2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVYN™>
{author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™> .
<addr>
{streetAddressLine>C. 2. r. 2. 3{/streetAddressLine>
<l-- C.2.r.2.3: Reporter's Street #2 —>
LeitydC. 2.1, 2, 4¢/ city?
<}— C.2.1.2.4: Reporter's City #2 —>
{statedC. 2. r. 2, 5¢/state>
{!— C.2.r.2.5: Reporter's State or Province #2 —>
{postalCodedC, 2, 1. 2. 6</postalCode>
¢lu= C.2,r.2.6: Reporter’s Postcode #2 —>

</addr>
<telecom value="tel:C.2.r.2.7°/>
<l— €.2.2.2.7: Reporter's Telephone #2 —>
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{assignedPerson classCode="PSN” determinerCade="INSTANCE™>

{name>
<prefix>C. 2.1, 1. 1¢/prefix>
{l=— C.2.r.1.1: Reporter's Title #2 —>

<givendC. 2.1, 1, 2¢/given>
{lu= €. 2.1.1.2: Reporter’ s Given Name #2 —>
{given>C. 2. 1. 1. 3¢/givend>
{l— C.2.r.1.3: Reporter’' s Middle Name #2 —>
Family>C. 2.1, 1. 4</fanily>
<|{== C.2,r.1.4: Reporter's Family Name §2 —>
{/nane>
¢asQualifiedEntity elassCode="QUAL">
Ccode code="C.2.r.4" codeSystem="2.16.840. 1. 113883. 3. 989. 2. L. 1.6"/>
(I~ C.2.r.4: Qualification #2 —>
{/asQualifiedEntity>
{asLocatedEntity classCode="LOCE™>
¢lacation classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C, 2, 1,3" codeSystem="1.0. 3166, 1,2.27/>
<t-- C.2.1.3: Reporter’s Country Code #2 —>
</location>
</asLocatedEntity>
¢/assignedPerson?
{representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
{name>C. 2. r. 2. 2{/name>
¢I~~ C.2.x.2.2: Reporter's Department #2 —>
CassignedEntity classCode="ASSIGNED”>
(repregentedOrganization classCode="ORG™ determinerCode="INSTANCE™>
<nawedC. 2. r. 2. 1<{/name>
<l— €.2.r.2.1: Reporter’s Organisation #2 —>
{/representedlrganization>
</assignedEntity>
<{/represented0rganization’
{fassignedEntity>
{/author>
{/controlActBvent>
</subjectDf2>
</relatedInvestigation>
¢/outboundRelationship?
<subject0f1 typeCode="SUB]">
<controlictEvent classCode="CACT” moodCode="EVN™)>
<author typeCode="AUT™>
¢assignedEntity ¢lassCode="ASSIGNED >
<code code="C.3.1" codeSystem="2. 16. 840. 1. 113883, 3.989.2. 1. 1.7°/>
<l— C.3.1: Sender Type —>
<addr>
(streetAddressLine’C. 3. 4. 1</streetAddressline’
{]— C.3.4.1: Sender’s Street Address —>
<citydC. 3, 4, 2¢/city>
¢]— C.3.4.2: Sendexr’s City —>
{statedC. 3. 4. 3{/state>
¢l— €, 3.4.3: Sender’s State or Province —>
{/addr>
{telecon value="tel:C.3.4.6"/>
¢lew C.3.4.6: Sender’s Telephone —>
<telecom value="fax:C.3.4.7°/>
<l-- 6. 3.4.7: Sender’s Fax —>
<telecom value="mailte:C,3,4.87/
¢l== C,3.4.8! Sender’s E-mail Address —>
¢assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>
<prefix>C. 3. 3. 2{/prefix>
Cl=- €. 3.3.2: Sender’ s Title —>
<{given>C. 3. 3. 3</given>
¢I— C.3.3.3: Sender’'s Given Name —>
<given>C. 3. 3. 4</given>
<!— €. 3.2, 4. Sender’ s Kiddle Name —=>
<family>C. 3. 3.5¢/family> )
<I— C.3.3.5: Sender’ s Family Name —> -
{/name>
{asLocatedEntity ¢lassCode="LOCE™>
<location elassCode="COUNTRY" determinerCode="INSTANCE">
¢code code="C.3.4.5" codeSystem="1.0.3166.1.2.2"/>
<!— C.3.4.5: Sender’s Country Code —>
{/location>
{/asLocatedEntity>
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(/assignedPerson>
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
{name>C, 3, 2{/name>
¢l— C.3.2: Sender’s Organisation —>
</representedOrganization’
{/assignedEntity>
{/author>
<primaryInformationRecipient typeCode="PRCP™)
<assignedEntity classCode="ASSIGNED">
<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<hame>
<prefix>]2. 18. 2<{/prefix>
<!— @@ajJz. 18. 2: ZEHE HEZ —>
<family>J2. 18. 3</family>
<!l— 88@J2.18.3: FiFHE ¥ —
<given>]2. 18. 4{/given>
<I— esarz. 18, 4: BiELE & —
{/name>
<{fassignedPerson?
<representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
{name>J2. 18. 1{/name>
<I— @888)2. 18. 1: BN HEE —
{/represented0rganization>
</assignedEntity>
</primaryInformationRecipient>
{/controlActEvent>
{/subjectOf1>
¢subject0fl typeCode="SUB]™>
{controlActEvent classCode="CACT™ moodCode="EVN™>

¢id assigningAuthorityName="C.1.9. L. r.1” extension="C.1.9.1r.2" root="2, 16, 840. L. 113883. 3.980.2.1.3.3"/>
{I— C. 1.9, 1.1.1: Source(s) of the Case Identifier (repeat as necessary) Hl ——>
¢I-- C.1.9.1.r.2 Case Identifier{s} #I —>
{/controlActEvent>
</subject0f1>

<subjectf] typeCade="SUBJ">
{controlActEvent classCode="CACT™ moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r. 1" extension="C. 1.9.1.r.2" root="2. 1. 840, 1, 113883. 3.989,2.1.3.3"/>
{I— C.1.9. L. r.1:.Source (s} of the Case Identifier (repeat as necessary) #2 —>
{l— C.1.9.1.1.2 Case Identifier(s} #2 —>
</controlActEvent>
{/subjectOfL>
<subject®f? typeCode="SUB]">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 23" displayName="ichReportType™/>
Cvalue xsi:type="CE” code="C. L. 3" codeSysten="2. 16.840. 1, 113883, 3,989.2, 1.1, 27/>
<l— C. 1.3 Type of Report —>
</investigationCharacteristic?>
</subject0f2>
<subject0f2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS" moodCode="EVN">
Ceode code="2" codeSystom="2. 16, B40, 1. 113883, 3, 989, 2, 1, 1, 237 displayName="otherCaselds™/>
{value xsiitype="BL" value="true”/>
¢!— C. 1.9.1 Other Case Identifiers in Previous Transmissions —2>
¢/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ]">
<investigationCharacteristic classCode="0BS" moodCode="EVN">
C(code code="3" codeSystem="2. 16, B40. 1. 113883, 3. 989.2. 1. 1. 237 displayName="nullificationAmendmentCode”/>
Cvalue xsiitypes”CE” code="C.1.11.1" codeSystem="2. 16. 840. 1. 113883. 3,989.2.1, 1.5"/>
¢!-- C.1.11 1: Report Nullification / Amoendment —>
¢/investigationCharacteristic>
{/subjectOf2>
{subject0f2 typeCode="SUBJ*>
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="4" cadeSysten="2. 16. 840. 1. 113E83. 3, 989. 2. 1. L. 23" displayName="nullificationAmendmentReason”/>
{value xsi:type="CE">
<originalText>C. L. 11, 2¢/originalText>
¢l== C.1.11.2: Reason for Nullification / Amendment —>
<fvalue>
{/investigationCharacteristic>
{/subjectdf2>
{subjectOf2 typeCode="SUB]™>
<ipvestigationCharacteristic classCode="0BS" moadCode="EVN™>
<{code code="1" codeSystewm="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. L. 12* displayName="RESUEHS (GRESE) "5
{value xsi!type="CE” code=")2. 1a" codeSystem="2. 16, 840.1. 113883. 3. 989.5. L. 3.2.1.1"/>
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<l— 88012, 1a: MBIES (MYEHEW —
{/investigationCharacteristic>
</subject0f2)
<subject0f2 typeCode="SUR]">
<investigationCharacteristic ¢lassCode="0BS” moadCode="EVN™>
<code code="2" codeSystem="2.16.840. 1. 113883. 3.9588.5.1.3.2. 1. 12" disployName="$8%EBH B"/>
<value xsi:type="T5" value="20130107"/>
<l— @paj2.2.1: WLREEA —
</investigationCharacteristic>
{/subject0f2>
<subjectOf2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS™ moodCode="EVN™>
<code code="3" codeSystem="2.16.840. 1. 113883. 3.9380.5. 1. 3. 2. 1. 12" displayNane="H&ERH AIZFTI 2 A ¥ N
Cvalue xsi:type="ED">J2. 2. 2{/value>
<l 988J2.2.2: @EERAIWTSIASF —
{/investigationCharacteristic>
</sub ject0f2>
<subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS" moodCode="EVN™>
¢code code="4" codeSysten="2. 16. 840. 1. 113883, 2,989, 5, 1.3, 2. 1, k27 displayName="BIBfReE7 5 &7/
¢valug xsiitype="CE” code="]2, 3" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.2"/>
- g@i)2.3: MEET F 7 —
</investigationCharacteristied
</subject0f2>
{subject0f2 typcCode="SUB]">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code code="5" codeSysten="2. 16. 840, 1. 1138683, 3. 989, 5. 1. 3. 2. 1, 127 displayName="$3536 @5 75 270
{value xsi:type="CE” code="]2.8. 1 codeSystew="2, 16.840. 1, 113883, 3.989.5.1.3.2.1.6"/>
<l-- @d0J2.8.1: WEHBATFY —>
</investigatienCharacteristic>
{/subject0f2>
¢subject0f2 typeCode="SUB] ">
{investigationCharacteristic classCede="0BS" moodCode="EVN">
{code code="6" codeS¥sten="2, 16, 840, 1. 113883, 3. 989.5.1. 3. 2, 1. 12° displayName="$ ot st BB/,
<value xsiitype="ED">]2, 8. 2<{/valued
<l-- #08]2.8.2: fHEHRNORH —>
{/investigationCharacteristic>
¢/subject0F2>
{/investigationEvent>
</subject>
</controlAciProcess>
</PORR_INO49016UV>
{}— Message #1 —>
¢!— Hessage #2 ~—>
<!— PORR_INO49D16UY —>
<!-- /PORR_INO49OL6LV —>
&t~ Message #2 —>
{receiver typeCode="RCY¥">
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.1.4” root="2, 16. 840. 1. 113883. 3.969. 2. 1. 3. 14" />
(f—— N.1.4: Batch Receiver Identifier —>
</device>
{/receiver?
¢sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE™>
¢id extension="N. 1.3 root="2, 16. 840. 1. 113883, 3.989. 2. 1.3.13"/>
<1— N.1,3: Batch Sender Identifier —2> "
</device>
(/sender>
</MCCT_IN200L00UVO1>
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MBHBA S RE A (AFFEss)

¢?aml version="1.0" encoding="UTF-8"7>
<MCCI_IN200100UV0! ITSVersion="YML_I.0" xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100UV01. xsd” xmIns="urn:hl7-org:v3d” xmlns:xsi="http://wew. %3, org/
2001/¥MLSchema—instance”>
<id extension="N.1.2" root="2, 16,840, 1. 113883, 3. 989.2.1.3.22"/>
{l=- N.1.2: Batch Number —>
<creationTime value="201012141516177/>
¢l-- N.1.5: Date of Batch Transmission —>
<responseModeCode code="D"/>
CinteractionId extension="MCCI_TN200LGOUYOL™ root="2.16.840. 1. 113883, 1.6"/>
¢name code="N.1.1" codeSystem="2, 16. 840. 1. 113883, 3,989, 2,1.1.1°/>
(l-—— N.1.1: Type of Mossages in Batch —>
{I— Message #1 —>
<PORR_INO43016WV>
¢id extension="N.2.r.1" root="2.16.B40. 1. 113883. 3. 989. 2. 1.3. 1"/>
¢]— N.2.r.1: Wessage Identifier —>
CcreationTime value="201012141516177/>
¢{1— N.2.r.4: Date of Message Creation ——>
¢interactionld extension="PORR_INC49016UV* Toot="2, 16, 840. 1. 113883. 1.67/>
<processingCode cade="P"/>
<processingodeCode code="T />
¢acceptAckCode code="AL"/>
{receiver typeCode="RCY™>
<device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.Z2.r.3" root="2.16.840.1. 113883, 3.989.2.1.3.12"/>
{I— N.2.x.3: Message Receiver Identifier —>
</device>
{/receiver>
<gender typeCode="SND">
<device classCode="DE¥" determinerCode="INSTANCE™>
<id extension="N.2.r.2" reot="2.16.840. 1. 113883, 3,989. 2. 1. 3. 11"/>
¢I— N.2.r.2: Wessage Sender Identifier —>
<fdeviced -
</sender?
{controlActProcess elassCode="CACT" moodCode="EVN™>
<code code="PORR_TE049016WW" codeSysten="2. 16. 840. 1. 113883. 1. 187/>
<!— HLT Trigger Event 1D —>
CeffectiveTime value="201012141516177/>
¢l— C.1.2: Date of Creation —>
- {subject typeCode="SUBJ">
<investigationEvent classCode="INVSTG™ woodCode="EVN™>
¢id extension="C.1,1” root="2. 16, 840. 1. 113883.3.989.2.1.3. 1"/>
<1— C.1.1: Sender's (case) Safety Report Inique Identifier —>
<id extension="C, L.8.1" root="2. 16.540. 1. 113883.3.989. 2, 1.3.2"/>
¢1— C.1.8.1: Worldwide Unigue Case Identification Number —>
¢id extension="J2.1b* root="2, 16.840.1.113883.3.989.5.1,3.2.3.17/>
¢I— @8RI2. th: BAIEE (FH) —
{cede code="PAT_ADV_EVNT” codeSystem="2. 16. 840, 1. 113883.5.4"/>
CtextH. 1</ texty
¢!1— H.1: Case Narrative Including Clinical Course, Therapeutie Measures, Outcome and Additional Relevant Informatien ——>
{statusCode code="active™/>
A— 28812, 7.1 BT, RRTES —
{effectiveTime>
<low value="20090101"/>
¢1— C.1.4: Date Report Was First Received from Source —)
{/effectiveTime> ’
{availabilityTime value="20090101"/>
<!— C.1.5! Date of Most Recent Information for This Report -->
{reference typeCode="REFR™>
{document classCode="DOC” moodCode="EVN">
{code code=”2” codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 27" displayName="1iteraturcReference”/>
{titlerJ2, 17. rd/titled
<|— #E)2. 17.r B /AROSE #1 —>
<text mediaType="npplication/pdf” representation="B647>C.4. r. 2</text>
<!—'C.4.1.2: Included Documents #1 —> )
<bibliographicPesignationText>C. 4. r. 1¢/bibliographicDesignationText>
¢l €. 4. 1.1 Literature Reference(s) #1 —>
{participation typeCede="AUT™> '
{assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG™ determinerCode="INSTANCE™>
(asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY™ determinerCode="INSTANCE™>
{code code="]J2.15,r" codeSystem="1. 0. 3166. 1.2.27/>
<l— 860J2.15.r RFE #1 >
</location>
{/aslocatedEntity>



</reprasentedOrganization>
{/assignedEntity>
</participation>
</document>
{/reference’
<reference typeCodo="REFR™>
<document classCode="DOC" moodCode="EVN">
Ccode code="2" codeSystem="2. [6. 840. L. 113883, 3. 989, 2. 1. 1. 27" displayName="1iteratureReference”/>
<title>J2. 17, ré/titled
A— @ea)2.17. r KR /BHEOSM 82 —
{text nediaType="application/pdf” representation="BEE47>C.4.r.2¢/text>
{le~ C.4.r.2; Included Documents #2 —>
<bibliographicBesignationText>C. 4. x. 1{/bibliographicDesignationText)
{1~ C.4.r. 1! Literature Reference(s} #2 —
¢participation typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<representedOrganization classCode="0RG" determinerCode="INSTANCE™>
CasLocatedEntity classCode="LOCE™>
<location classCode="COUNIRY” determinerCode="INSTANCE™>
<code codes"]2, 15.r” codeSystem="1. 0. 3166. 1.2.2"/>
<1-~ @88J2.15.r ARE #2 —>
<flecation>
{/aslocatedEntity>
</representedOrganization? .
</assignedEntity>
{/participationd
</document ¥
</reference>
{component typeCode="COMP™>
<adverseEventAssessment classCode="INVSTG™ moodCode="EVN™>
{subjectl typeCode="SB)™>
<primaryRole classCode="INVSB]™>
¢playerl classCode="PSN” determinerCode="INSTANCE"™/>
(subject0f] typeCode="SB]"> ’
{researchStudy classCode="CLNTRL™ moodCode="E¥N™>
<id extension="C.5.37 reot="2.16.840. 1. [13883.3.989.2.1.3.5"/>
¢l— £ 8§ 3: Sponsor Study Number ——>
<code code="C.5. 4" codeSystewm="2. 16. 840. 1. 113883.3.989,2. 1. 1.87/>
¢l— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed ~~>
<title>C. 5. 2¢/title>
<!— €.5.2: Study Name —>
<autherization typeCode="AUTH™)
{studyRegistration classCode="ACT" wondCode="EVN™>
(id extension="C.5.1.r.1" root="2. 16.840.1.113883.3.589.2.1.3.6"/>
<l— C.6.1.r.1: Study Registration Number ¥I —=>
Cauthor typeCode="AUT™>
<territorialAuthority classCode="TERR">
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5,1.r.2" codeSystem="1.0. 3166.1.2.2%/>
{l== €. 5.1.r.2: Study Registration Country #1 —>
<{/governingPlace>
{/territorialAuthority>
{/author>
¢/studyRegistration>
¢/authorization>
{authorization typeCode="AUTH™>
{studyRegistration classCode="ACT” moodCode="EVN™>
<id extension="C.5,1.r.1" root="2, 16,840, 1, 113883, 3.989. 2,1, 3,6°/>
¢l=~ C.B.1.r.1 Study Registration Number #2 —>
<author typeCode="AUT™>
{territorialAuthority classCade="TERR™>
CgoverningPlace classCode="COUNTRY™ determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSystem="1. 0. 3166.1.2.2"/>
¢(l-= C.5. 1.x 27 Study Registration Country #2 —>
{/governingPlace> :
{/territorialduthority>
{/authar>
</studyRegistration>
</authorization>
</researchStudy> ’ .
</subjectOfl>
<subject0f2 typeCede="SB]">
{erganizer classCode="CATEGORY" mocdCode="EVN™)
<code code="4" codeSystem="2, 16, B40, 1, 113883, 3, 989. 2. 1. 1. 207 displayName="drugInformation™/>
¢I— G.% Drug(s) Information (repeat as necessary) #1 —>
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{campanent typeCode="COMP“>
{substanceAdninistration classCode="SBADM™ moadCode="EVN">
<id root="3c91b4d5-c039-4a7a=0c30-67671b0efed” />
<consumable typeCode="CSH™>
{instanceOfKind classCode="INST™>
<kinddfProduct classCode="MMAT” determinerCode="KIND™>
{code code="G.k.2.1.1b" codeSystem="TBD-UPID"/>
{l— G.k.2.1.1b: Medicinal Product Identifier (MPID} #1 -->
<name>G. k. 2. 2</name>
¢lu= G.k.2.2: Wedicinal Product Name as Reported by the Primary Source ¥1 --=>
{asManufacturedProduct classCode="MANU™>
C(subjectOf typeCode="SBJ™>
<approval classCode="CNTRCT” moodCode="EVN">
¢id extension="6.k.3.1° root="2.16.840. 1. 113883,3.989,2.1,3.4"/>
d— 6. k. 3. 1° Avthorisation / Application Number #1 -=>
<author typeCade="AUT™>
<territorialAuthority classCode="TERR™>
{territory classCode="NAT™ determinerCode="INSTANCE™>
<code code="G.k.3.2" codeSysten="1.0, 3}166.1.2.27/>
¢!— G.k.3.2: Country of Authorisation / Application #1 —>
{/territory>
{/territorialAuthority>
<fauthor>
{pertinentInformation typcCode=" PERT >
<policy classCode="POLICY” moodCode="EVN™>
Ccode code="]2, 5 k" codeSystem="2. 16. 840. 1. 113883, 3.980,5.1.3.2. L.4"/>
<I— 880J2. 5. k: —RAERLFOY AZESH #1 —
</policy>
</pertinentInformationd
{/approval>
" </subject0f>
<{subjectOf typeCode="SB]">
{characteristic classCode="0BS" moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1. 3, 2, 1. 10" displayNane="3HERLHF ORRES"/,
<value xsi:type="CE" code="J2.4,k" codeSystom="2, 16. 840, 1, 113883. 3. 989.5.1.3.2. 1. 370
(I— @912, 4. k: FEXELKSORREES #1 —
{/characteristic>
¢/subject0f>
{/asManufacturedProduct>
{asSpecializedKind classCode="GEN">
{generalizedaterialKind classCode="MAT" determinerCode="KIND™>
{code>
CoriginalText>J2. 12¢/original Text>
<I— @872, 12: WREESILE —>
</code>
</generalizeddaterialKind>
</asSpecializedKind>
¢ingredient classCode="ACTI™>
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
{code code="G.k.2.3.r.2b" codeSystem="TBD~Substance”/>
¢l G. k. 2, 3. r.2b: Substance / Specified Substance TermlD #1~1 —>
<namedG. k. 2, 3, r. 1</nane> '
¢1— G.k.2.3.r. 1! Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
{/ingredient>
{ingredient classCode="ACTI™>
(ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.%.2.3.1.2b" codeSystem="TBD-Substance”/>
{1— G.k.2.3.r.2bt Substance / Specifiod Substance TernmlID #1~2 -
<nameG. k. 2. 3. . 1</name>
{1— G.k.2.3.r.1: Substance / Specified Substance Name #1-2 —>
</ingredicntSubstance>
£/ingredient>
</kind0fProduct>
{suhjectOf typeCodes"SB]™>
<observationEvent classCode="0BS” moodCode="EVN™>
{code code="2" codeSystem="2, 1B, 840, 1, 113883. 3.989.5.1.3. 2. 1. 107 displayName=" —&FﬂEﬁﬁ:@]\?&!ﬁ'ﬁ
<value xsiitype="CE” code="}2.6.k" codeSystem="2. 16. 840. 1. 113883, 3. 989.5.1.3.2. 1.5"/>
<l— 8@8]2.6. k: —BRAERKOAFER #1 —
</observationEvent>
{/subject0f>
</instancedfKind>
{/consumable>
¢/substanceAdministration’ -
</component>



<{/organizer>
</subjectDE2>
{subject0f2 typeCode="SBI">
Corganizer classCode="CATEGORY" moodCode="EYN™>
{code code="1" codeSysten="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 11" displayName="{EBRDME"/>
<component typeCode="COMP™>
Cobservation classCode="0BS" mocdCode="EVN">
<{code code="7" codeSystem="2.16.840. 1. 113883. 3.985.5.1.3. 2. 1_10" displayNamq:'EﬁHﬂ[ﬂiﬁ'/)
<value xsi:type="INT" value="1"/>
{l— @e8J2. 1. r. 1 BB 81 —>
{/observation>
{/component>
{component typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code cade="8" codeSystem="2.16.840. 1. 113863.3. 989.5. 1. 3. 2. 1. 107 displayName="3 88" />
{value xsi:type="ED">J2, 13, r, 2¢{/value>
<l 888J2.13,r.2: WEEMH 1 —>
{/observation>
</component>
<component typeCode="COMP™>
{observation classCode="0BS" mondCode="EVN™>
{code code="9" codeSystem="2. 16, 840. 1. 113883, 3,985.5.1.3.2. 1. 10" displayName="PIREIE"/>
{value xsitype="CE" code="}2.13.r,3" codeSystem="2.16.840.1. 113883.3.989.5.1.3.2.1.7°/>
Cl— @80]2,13,r.3: MRIA #1 —>
{/observation?
</component>
{component typeCode="COMP™>
{observation classCode="0B5" moodCode="EVN™)»
<eode code="10" codeSystem="2, 16, 840, 1,113883.3, 989, 5. 1. 3. 2. L. 10" displayNane="{33Rth 0 iEFIo 17 H" />
<value xsi:type="BL" value="true”/>
<l— 888J2.13. r. 4: REPOEROFE 81 —
¢/observation>
</component>
{forganizer>
</subjectO2>
{subject0f2 typeCode="5B]">
{organizer classCode="CATEGORY” moodCede="EVN™>
{code code="1" codeSystem="2.16. 840. 1. 113883. 3.989.5.1.3. 2. §. 11” displayName="{5%0#E" />
Sconponent typeCade="COMP™>
{observation classCode="0BS” moodCode="EVN™>
<code code="7" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1, 3. 2. 1. 10" displayName="/F% HHEIKL"/>
<value xsiitype="INT" value="17/>
Cle— @88J2.13.xr. L EHEE #2 —
{/observation>
</ccnponent>
<component typeCode="COMP™>
<observation classCode="(BS” moodCode="EVN™>
{code code="8" codeSystem="2, 16, 840, 1. 113883. 3,989, 5. 1. 3. 2. L. 10" displayName="%1REH />
<value xsi:type="ED">J2.13.r.2¢{/value>
<l— @8aJ2.13.r.2: MRS #2 —
¢/observation?
</component>
{component typeCode="COMP™>
{abservation classCode="0BS" moodGode="EVN™>

{code code="9" codeSystem="2, 16, 840, ], 113883, 3,989, 5. 1. 3. 2. 1. 10" displayName="BRZE4E“/>
<value xsi!type="CE" cade="J2.13.r.3" codeSyster="2.16. 840, 1. [13883.3,989,5.1.3.2. 1.7°/>
<l— @8eJ2. 13.1.3: DA%e4A #2 —>
{/ohservation>
</component>

<component typeCode="COMP">
{ohservation classCode="0RS" moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5.1. 3, 2, 1, 10” displayName="$F3Kh OEEF OHE"/>
<value xsi:type="BL" value="false”/>
(l-- 880]2.13. . 4° REPOEHOHE 42 —>
</observation?
</component?
</organizer>
</subject0f2>
{/primaryRole>

</subjectl>

{componhent! typeCode="COMP™>

{observationEvent classCode="0BS" moodCode="BEYN™>
<code code="10" codeSystem="2, 16. 840. 1. 113883_3. 989. 2, 1. 1. 19" displayName="comment”/>
Cvalue xsi:types"ED">H, 4</valued>
¢]—— H.4: Sender's Comments ==}



<author typeCodo="AUT™>
{assignedEntity classCode="ASSIGNED™>
{code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 217 displayName="sender”/>
{fassignedEntity> ’
</author>
{fobservationEvent>
{/component1>
<componentl typeCode="COMP™>
{chservationEvent classCode="0BS" mocdCode="EVN™>
<eode code="3" codeSystem="2, 16, 840, I. 113883, 3.989.5.1.3.2. 1. 107 displayNape="3RETICHTHI A}/
<value xsi:type="ED">J2.7.2¢{/value>
KI— e#8J2.7.2: RETREATELIA L —
{/observationEvent>
{/coempenent1>
<componentl typeCode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN">
¢eode code="5" codeSystem="2, 16. B40. 1. 113883. 3.989.5. 1. 3. 2. 1. 10" displayName="4 %D E"/>
¢value xsi:types"ED">]2, 10¢/value>
<l— @@aJ2, 10: SEDHE —
</observationEvent>
¢/componentl1>
{componentl typeCode="COWP™>
<observationEvent classCode="0BS" moodCode="EVN™>
<code code="6" codeSystem="2. 16. 840. 1. 113883, 3.98%.5. 1. 3.2. 1. 10° displayName="-¢ D{LEXWITRE"/>
Cvalue xsiitype="ED">]2, 11</value}
- #8012, 11: ZOMBERIHRE —
</cobservationEvent>
</component1>
<componentl typeCode="COMP™>
<observationEvent c¢lassCode="0BS” moodCode="EVN™>
<code code="12" codeSystem="2. 16, 840. 1. 113883. 3.989.5.1. 3. 2. 1. 16" displayName="{#EPEDBR"/>
{value xsi:type="ED">]J2. 16¢/value>
<1— @daJ2. 16: WENFHEL —>
</observationEvent>
</eomponentl>
{/adverseEventAssessment>
{/component>
{component typeCode="COMP™>
<ohservationEvent classCode="0BS™ moodCode="EVN">
{code code="23" cadeSystem="2. 16, 840, 1. 113883, 3,989, 2. 1, 1, 197 displdyName="localCriteriaForExpedited”/>
{value xsiltype="BL™ value="true"/>
{1— C.1.7: Does This Case Fulfil the Local Criteris for an Expedited Report? -->
{/observationEvent)
</component> - .
<eutboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG" moodCode="EVN™>
<code code="1" codeSysten="2, 16. 840. 1, 113883. 3. 989. 2. 1. 1. 22" displayName="initinlReport”/>
<subject0f2 typeCode="SUB]™
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT™>
¢assignedEntity classCode="ASSIGNED™>
<code cade="C.1.8.2" codeSystem="2, 16. 840, 1. 113883.3.5989. 2. 1. 1. 3" />
¢}— C.1.8.2: First Sender of This Case —>
{/assignedEntity> .
{/author>
{/controlActEvent>
</subject0fz>
{/relatedlnvestigation>
{/authoundRelationship>
<autboundRelatiohship typeCode="SPRT">
(relatedInvestigation classCode="INVSTG™ moocdCode="E¥YN™>
{code nullFlavor="NA"/>
<subject0f2 typeCode="SUBJ™>
<controlActEvent classCode="CACT” moodCode="EVN™>
<id extension="C.1.10.r" reot="2. 16.840.). 113883. 3.980.2. 1.3.2°/>
{l=- €.1.10.r: Identification Number of the Report Which Is Linked to This Report: (repeat as necessary) #1 —
{/controlictEvent> :
{/subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
<outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG" moodCode="EVN™>
{code nullFlavor="NA"/>
{subjectOf2 typeCode="SUBJ">
{controlActEvent classCode="CACT” macdCode="EVN">



<id extension="C.l.10.r" root="2. 16, 840. 1. 113883. 3. 989. 2. 1. 3. 2"/>
¢l=- C.1,10.r: Identification Mumher of the Report Which Is Linked to this Report {repeat as necessary} #2 -=>
<fcontrolActEvent>
¢/subjectOF2>
<{/relatedInvestigation
</outhoundRelaticnship>
<subject0f1 typeCode="SUB]™>
<eontrolActEvent classCode="CACT™ moodCade="EVN™>
<author typeCode="gUT™>
¢assignedEntity classCode="ASSIGNED™>
<addr>
{streetAddressLine>C. 3. 4. 1</streetAddressLine>
¢l-- C.3.4.1: Sender’'s Street Address —»
Leity>C. 3. 4. 2</city>
<!—— (. 3.4.2: Sender's City —>
{state>C. 3. 4. 3{/state>
{!— C.3.4.3: Sender’ s State or Province =~
{faddr>
<assignedPerson classCode="PSN™ determinerCode="INSTANCE™>
<{name>
<prefix>C, 3. 3. 2</prefix>
<I— €.3,3.2: Sender’s Title —>
<given>C. 3. 3. 3<¢/given>
<!— (.3.3.3: Sender' s Given Name —>
<given)C. 3, 3, 4¢/given>
{<l— C.3.3.4: Sender’ s Middle Name =~»
{family>C. 3. 3.5¢/family>
<{I— C.3.3.5: Sender's Family Name —>
</name>
¢asLocatedEntity classCode="LOCE™>
<loeation classCade="COUNTRY” determinerCode="INSTANCE™>
<code code="C. 3, 4.5 codeSysten="1.0. 3166. 1. 2.27/>
¢<!— C.3,4.5: Sender’s Country Cods —>
</tocation>
{/asLocatedEntity>
{/assignedPersen> .
{representedOrganization classCode="DRG" determinerCede="INSTANCE">
{name>C. 3. 2</name>
{l— C.3,2: Sender’s Organisation —»
{/representedOrganization>
</assignedEntity>
</author>
{/controlActEvent>
{/subject0fl>
¢subjectOfl typeCode="SUB]">
{centrolActEvent classCode="CACT™ moodCode="EVN™>

<id assigningAuthorityName="C.1.9. 1. r. 17 extension="C. 1.9.1.r. 2" root="2, 16. 840, 1, 113883, 3,989.2. 1. 3. 3" />
¢l— C. L9 Lr.1: Sources) of the Case Identifier (repeat as necessary) #1 —>
(1=~ C.1.9.1.r.2 Case Identifier(s) #1 —>
{/controlActEvent>
</sub jectOFL>

{subjectOf1 typeCode="SUR]">
{controlActEvent classCode="CACT” mocdCode="EVN™)
<id assigningAuthorityName="C.1.9.1.r.17 extension="C.1.9.1.r. 2" root="2. 16. 840. 1. 113883. 3.982.2.1.3.3"/>

¢t— €. 1.9.1.1. 12 Source(s) of the Case Identifier (repeat as necessary) #2 —>
¢(l~~C.1.9,1, 1,2 Case Identifier(s) #2 —>
</controlActEvent>
{/subjectdf1>

{subject0f2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="ichReporiType”/>
<value xsittype="CE” code="C. 1.3" codeSysten="2. 16. 840. 1. 113883.3.088.2. 1. 1.27/>
<1— €, 1.3 Type of Report —>
{/investigationCharacteristic>
{/subjectDf2>
{subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS™ moodCode="E¥YN">
<code code="2" codeSystem="2. 16.840. 1. 113883. 3, 889.2, 1, 1. 237 displayName="otherCaselds”/>
<value xsi:type="BL" value="true”/>
<l— C.1.9.1 Other Cese Identifiers in Previous Transmissiens —>
{/investigationCharacteristie>
¢/subject0f2y
<subjectdf? typeCode="SUB]">
¢investigationCharacteristic classCode="0BS" moocdCode="EVN™> ,
{cade code="3" codeSystem="2. [6. 840. 1, 113883, 3. 989.2. 1. 1. 23" displayName="nullificatisnAmendmentCode™/>

..E..



Cvalue xsittype="CE” cade="C.1. 111" codeSystem="2, 16, 840. 1. 113883. 3.989. 2. L. 1. 5"/>
1— {.1.11. 1: Report Nullification / Amendment —>
</investigationCharacteristic»
</subjectDf2>
¢subjectOf2 typeCede="SUBJ">
<investigationCharacteristie classCode="0BS™ moodCode="EVN™>
<cade code="4" codeSystex="2. 16.840. 1. 113883, 3,989. 2. 1. 1. 23" displayName="nullifieatiorAmendmentReason”/>
<value xsiitype="CE™>
CoriginalText>C. 1. 11. 2</originalText?
¢l— C.1.11.2: Reason for Mullification / Amendment -—>
{fvalued
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS” mocdCode="EVN™>
{code eode="1" eodeSystem="2. 16. 840. 1. 113883. 3. 089. 5. 1. 3. 2. 1. 12° displayName="MR5IH5 (&)
¢value xsi:type="CE” code="J2, 1a” codeSysten="2. 16.840. 1, 113883, 3.980.5. L.3.2.1.1°/>
<I— @edJ2. 1a: WEFER (HEIR) —
</investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="2" codeSystew="2. 16.840. 1. 113683, 3,989, 5, 1, 3,2, 1, 27 displayName="$852H A"/
<value xsiitype="TS" value="201301077/>
i— egp)2. 2 1: HERRA —
</investigationCharacteristic)
¢/sub ject0f2>
¢subjectDE2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS” moodCode="E¥N™>
<cade code="3" codeSystem="2. 16. B40. 1. L13BE3. 3. 989, 5. 1.3. 2. 1. 12" displayName="RERHA BT E 3270
<value xsi:type="ED">J2, 2, 2¢/value>
<1— g@8)e. 2.2: MERHAKETEIASF —
{/investigationCharacteristic>
{/subject0f2>
{/investigationBvent)>
</subject>
{/controlActProcess>
{/PORR_THO45016UV>
<!— Message #1 —>
(l— Message #2 ~>
<|— PORR_INO48016UV —>
¢l=~ /PORR_INO49016UV —>
¢!— Hessage #2 —>
{receiver typeCode="RCV™>
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N, 1. 4" root="2.16.840. 1. 113883.3.989.2.1.3.14"/>
¢!-—= N.1,4: Batch Receiver Identifier —>
</device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEY” determinexCode="INSTANCE™>
<id extension="N.1.3” root="2.16. 840, ].113883,3,989,2,1,3.137/>
<l N.1.3: Batch Sender Identifier —>
{/device>
</sender>
</MCCI_IN2ooL00UVOL>



XMLBRBA A& R (A EEEESRS)

<7aml version="1.0" enceding="UTF-8"7>
<MCCI_INZ00100UV01 ITSVersion="XML_1. (" xsi:schewalocation="urn:hl7-org:v3 MCCI_INZ00LOOUVOL. xsd” xmlns="urn:hl7-org:v3™ xmlns:xsi="http://www. w3.org/
2001/XMLSchema-instance”>
<id extension="N. L. 2" root="2.16,840.1. I13883,3,989,2,1,3, 227/>
¢l— N.1.2: Batch. Number —>
{creationTime value="20101214151617"/>
¢!— N.1.5: Date of Batch Transmission —
{responseModeCode code="D"/>
<interactionld extension="MCCI_IN200100UVO1“ root="2.16.840. 1. 113883. 1. 67/>
<name code="N, 1. 17 codeSystem="2, 16, 840, 1, 113883, 3. 989, 2, 1,1.17/>
<|— H.1.1: Type of Hessages in Batch —>
<!— MWessage #1 —>
<PORR_INO49016UV>
<id extension="N, 2, r,1” root="2, 16. 840, 1, 113883, 3,989, 2. 1,3, 1" />
<l~— N.2.r.1: Message Identifier —>
{creationTime value="20101214151617°/>
¢l— N.2.r.4: Date of Wessage Creation —?
{interactionld extension="PORR_INOASO16UV" root="2, 16.840. 1. 113883, 1.67/>
{processingCode code="P"/>
{processinghodeCode code="T"/>
<acceptAckCode code="AL"/>
<receiver typeCode="RCV">
{device classCode="DE¥" determinerCode="INSTANCE™>
{id extension="N.2. r.3” root="2. 16.840, 1. 113883.3.989. 2. 1. 3. 12"/>
<I— N.2.r.3: Message Receiver Identifier —>
{/device>
<{/receiver>
¢sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.Z2.r.2" root="2 16.840.1.113883,3.989,2,1.3.117/>
{l=~ N, 2.1, 2: Message Sender Identifier —>
</device>
</sender>
{contralActProcess ¢lassCode="CACT” moodCode="EVN™>
<code code="PORR_TE(M9016UY" codeSystem="2. 16. 840. 1. 113883. 1. 18" />
<l=- HL? Trigger Event ID —>
{offectiveTime value="2010t2141516177/>
<l— C.1.2: Bate of Creation —>
{subject typeCode="SUBJ">
<investigationBvent classCode="INVSTG™ maodCade="EVN™>
<id extension="C, I, 1" root="2. 16, 840.1. 113883, 3.989,2, 1.3, 1" />
¢1— C.1.1: Sender's (case} Safety Report Unigue Identifier —>
{id extension="C.1.8.1% root="2.16.840.1.113883.3.989.2.1.3.2" ">
¢1— C.1.8.1: Yorldwide Unique Case Identification Number —
<id extension="]2, 16 root="2, 16, 840. 1. 113883, 3.989,5,1.3.2.3,1°/>
<J— #g8)z. 1b: WBIES (FH) —
<code code="PAT_ADV_EVNT” codeSystem="2. 16. 840. 1. 113883.5.4"/>
{text>H, 1{/text>
<l— H.1: Case Narrative Including Clinical Course, Therapeutic Weasures, (utcome and Additionzl Relevant Information —>
{statusCode code="active”/> '
<1~ 880J2.7,1 T, RETES —>
{effectiveTima> .
<low value="20090101"/> -
¢l== C.1,4: Date Report Was First Received from Source =->
</effectiveTime>
<availabilityTime value="20090101%/>
<!— C.1.5: Date of Most Recent Information for This Report —>
Creference typeCode="REFRt™>
{document classCode="DOC" moodCode="EVN">
{code code="2" codeSystem="2. 16. §40. I. 113853, 3.989, 2. 1. 1. 27" displayName="1iteratureRefercnce”/>
{text mediaType="application/pdf” representation="BBA™)C. 4. r. 2{/text>
{1— C.4.r.2: Included Documents #1 —>
<bibliographicBesignationText>C. 4. 1. I{/bibliographicDesignationText>
¢lw— € 4.1, 1: Literature Reference(s) #1 ==>
.{participation typeCode="AUT™>
{assignedBntity classCode="ASSIGNED™>
{representeddrganization classCode="0RG™ determinerGode="INSTANCE™>
{aslocatedEntity classCode="10CE">
<location classCode="COUNTRY" deteiminerCode="INSTANCE™>
{ctde code="J2, 15. 1" codeSysten="1.0,3166.1.2.2"/>
<l 8€8J2.15.r X[ #1 —>
</location®
</asLocatedEntity>
{/representedOrganization?
{/assignedintity>



</participation>
(/document>
{/reference>
<reference typeCade="REFR">
Cdocument classCode="DOC” moodCode="EVN™>
¢eode code="2" codeSystem="2.16.840, 1. 113883, 3, 989, 2, 1, 1. 27" displayName="1iteratureReference”/>
¢text mediaType="application/pdf” representation="B647)C. 4. r.2¢/text?
<1— C.4.r.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. 1. 1</bibliographicDesignationText>
¢l C,4.r.1: Literature Reference(s) 2 —>
<participation typeCode="AUT">
<assignedEntity classCodc="ASSIGNED™>
(representeddrganization classCode="0RG™ determinerCode="INSTANCE™>
¢asLoeatedEntity classCode="LOCE™>
(location classCode="COUNIRY” determinerCade="INSTANCE™>
¢code code="J2. 15. 1" codeSysten="1. 0. 3166. 1.2.27/>
<1—— @agajz, 15. r 2%E #2 -->
{/Tocation>
{/asLocatedEntity>
¢/representeddrganization>
¢/assighedEntity>
</participation>
</document>
</reference?
{component typeCode="COMP™>
CadverseEventAssessment: classCodes"INVSTG” moadCode="EVN">
{subjectl typeCode="SB]™>
{primaryRole classCode="INVSBI™>
<playeri classCode="PSN" determinerCode="INSTANCE"/>
<subjectOf1 typeCode="5B}">
{researchStudy classCode="CLNTRL™ moadCode="EVN">
(id extension="C.5.3" root="2.16.840. 1. 113883.3.989.2,1.3.5°/>
<!— C.5.3: Sponsor Study Number —>
Ceode code="C.5.4” codeSystem="2. 16. 840, ). 113883, 3.989.2. 1. 1. 87/>
<l— €.5.4: Study Type Where Reaction(s} / Event(s) Were Observed —>
CtitledC. 5. 2</title>
<l— C.5.2; Study Neme ——>
<authorization typeCode="AUTH™>
{studyRegistration elassCode="ACT" moodCode="E¥YN™>
<id extension="C.5.1.1. 17 reot="2. 16.840. L. 113883, 3.989.2. 1.3.6"/>
¢|— C.5. L r 1: Study Registration Number #1 —>
<author typeCode="AUT*>
{territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
Leode code="C.5, 1.r.2" codeSysten="1,0. 3166.1.2.27/>
¢l— C.5. 1.1 2: Study Registration Country #1 —>
</governingPlace? ’
. {/territorialAuthority>
</author>
<{/studyRegisiration>
</authorization>
<authorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN">
¢id extension="C.5.1.r.1"” root="2. 16. 840, ], 113883. 3.989. 2. 1. 3.6"/>
<l— C.5 L.r.1 Study Registration Numbher #2 —>
<author typeCode="AUT">
CterritorialAuthority classCode="TERR™>
<governingPlace clazsCode="COUNTRY” determinerCede="INSTANCE™>
<code tode="C.5.1.r.2" codeSystem="1.0.3166.1.2.2"/>
¢I— €. 5.1.r.2: Study Registration Country 2 —>
{/governingPlace>
{/territerialauthority»
¢/author>
</studyRegiztration:
{/authorization>
{fresearchStudy?
{/subjectOf1>
¢subjectOf2 typeCode="5B]">
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="4" codeSystem="2, 16, 840. 1. 113883. 3. 989.2. 1. 1, 20" dlsplayName- drugInformation”/>
¢l— G.k Drug(s) Information (repeat as necessary) #1 —> .
{conmponent typeCode="COMP™>
{substanceAdninistration classCode="SBADM™ moodCode="EYN™>
<id root="3c91b4d5-039~4a7a~9c30-67671b0efed”/>
{consumable typeCode="CSH™>



<instanceOfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{code code="G.k.2. 1. 1b" codeSysten="TBD-MPID"/>
I~ G. k.2, 1, 1b: Medicinal Product Identifier (MPID) #1 —>
<name>G, k. 2. 2{/name>
<l=~ G k.2, 2: Medicinal Product Name as Reported by the Primary Source $1 —>
<asManufacturedProduct classCode="MAKU™>
<subjectOf typeCode="SB]">
<approval classCode="CNTRCT” moodCode="EVN™>
<id extension="G.k. 3.1 root="2. }6.B40. 1. 113883.3.989.2.1.3.4"/>
<l— G.k.3.1: Authorisation / Application Number #1 —5
<author typeCode="AUT">
{territorialAuthority classCode="TERR™>
{territory classCode="NAT" determinerCode="INSTANCE™>
<code code="G.k. 3.27 codeSystem="1, 0, 3166, 1.2.2"/>
<l—— G.k.3.2: Country of Authorisation / Application #1 ~=>
{/territory>
{/territorialAuthority>
{/author?
<pertinentInformation typeCode="PERT™>
<policy classCode="POLICY” woodCode="EVN™>

{code code="J2.5.k" cadeSystem="2. 16.840.1.113883.3,989,5.1.2.2. 1. 4"/>
<l— 888]2.5. k1 —HRAERSKFOY X 7EFF B —>
{/policy>
</pertinentInformation> .
</approval)
{/subjectOf>

{subjectOf typeCade="SB]">
{characteristic classCode="0BS” moodCade="EVN™)>
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3,989. 5, 1, 3.2, 1, 10" displayName="FHEX IS ORRES"/>

{value xsi:type="CE" code="J2.4.k" codeSysten="2. 16. 840. I. 113883.3,989,5.1.3.2.1.3"/>
— @fp)2 4 k: FEESSORRES 11 —
{/characteristic>
</subject(f>

{/asManufacturedProduct>
<asSpecializedlind classCode="GEN™>
{generalizeddaterialKind classCode="WAT" determinerCode="KIND">
<cede>
{originalText>J2. 12{/originalText>
<1— 88)2.12: BBEARET —
</code>
{/generalizedMaterialKind>
{/asSpecializedKind>
{ingredient classCode="ACTI™>
<ingredientSubstance classCode="MWAT" determinerCode="KIND™>
{code code="G.k 2.3.1.2b" codeSystem="TBD-Substance”/>
{I— G,k 2. 3.r.2b Substance / Specified Substance TermID #1-1 —>
<{name>G. k. 2. 3. r, I<{/nane)
<!— G.%. 2.3.r.1: Substance / Specified Substance Nawe H1-1 —>
{/ingredientSubstance
{/ingredient>
{ingredient classCode="ACTI™>
<ingredientSubstance classCode="MMAT” determinerCade="KIND™>
{code code="G, k. 2.2.r.2b" codeSystem="TBD-Substance”/>
<1— G.k.2.3.1.2b: Substance / Specified Substance TermID §1-2 —>
<name>G, k. 2. 3. r. 1</nane>
<!-- 6.k 2,3,7,1: Substance / Specified Substance Name #1-2 —>
{/ingredientSubstance>
{/ingredient>
</kind0fProduct>
<sub ject(f typeCode="SB]">
<observaticnEvent classCode="0BS" moodCode="EVN">
{code cade="2" codeSysten="2. 16, 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displeyName="—R¥ fIERSOAFER />
{value xsittype="CE" code="]2,6, %" codeSystew="2. 16, 844 1. 113883.3.989.5.1.3.2.1.5"/>
<— e8a)2. 6. k: —BAERROAFER #1 —
</observationEvent>
</subjectD>
{/instance0fKind>
¢/consumable>
{/substanceAdninistration?
{fcomponent>
{/organizer>
{/subjectDf2>
<subject0f2 typeCode="5B]">
{organizer classCode="CATEGORY” moodCode="EVN™)



{code code="1" codeSysten="2. 16. 840. 1. 113883.3.980. 5. 1. 3, 2. 1, 117 displayNeme="{4ROBME"/>
{component typeCode="COMP™>
{observation classCode="0B5" moodCode="EVN">
(code code="7" codeSystem="2. 16.840. 1. 113883, 3. 989. 5. 1.3. 2. I, 107 displayName="/HEHEE"/>
¢value xsi:type="INT™ value="1"/>
<1— @88J2.13.r. 1: BIHE #1 —
{/observation>
</component>
<component typeCode="COMP™>
{observation ¢lassCode="0BS™ moodCode="EVN™>
{code code="B" codeSystem="2. 16.840. 1. 113883.3.989.5. 1. 3. 2. 1, 10" displayName="3}SRM"/>
<value xsi:type="ED">]J2.13.r.2{/value>
<l— @aaje. 13 r. 2 RSB T — !
{/cbservation>
{/camponent>
{component typeCode="COMP™>
{observation classCode="0BS™ moodCode="EVN">
{code code="9" codeSystew="2. 16,840, 1, 113883. 3, 989. 5. 1.3. 2. L. 10" displayName="PREEH"/>
<value xsi:type="CE” ecode=")2.13.r. 3" codeSystem="2.16.840. 1. 113883.3.980.5.1.3.2. L.7°/>
(l-- @gaj2. 13.r.3: ARE &1 >
</observation>
{/component>
<component typeCode="COMP">
Cobservation classCode="0BS” moodCode="EVN™>
{code code="10" codeSystem="2. 16. 840. 1, 113883. 3. 989. 5. 1. 3.2, 1. 10" displayName=" 1 FEPOELH OATE"/>
<value xsiitype="BL" value="true”/>
<I— @@8J2. 13.r. 4 BEPOEFOTE #1 —
</ebservation}
{/conponent?
{forganizer>
{/subject0f2>
<subjectOf2 typeCode="5B]">
{organizer classCode="CATEGORY™ moodCode="EVN">
<code code="1" codeSystem="2. 16.840. ], 113883,3,989.5.1.3.2. L. 117 displayName="FsSDLE"/>
{eomponent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
{code code="7" codeSystem="2. 16. 840, 1, 113883, 3.989. 5. 1. 3. 2, 1. 10" displayName="/gH{[EI¥"/>
¢value xsi:type="INT” value="1"/>
<1— @eayz. 13.r. I: JHHENK #2 —
{/chservation’
</component>
{component typeCode="COMP">
{ohservation classCode="0BS” moodCode="EVN™>
Ceode code="8" codeSystew="2, 16,840, 1, 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="%}&HEM"/>
<value xsi:type="ED">J2.13.r.2{/value>
(-~ 88832 13.r. 2! RSB 2 —
</ohservation>
</component>
{eomponent typeCode="COMP™>
<observation classCode="0B5" moodCode="EVN">

¢eode code="%" codeSystem="2. 15. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1, 10" displayName="[SE4R7/>
<value xsittype="CE" code="J2.13.r.3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1.7°/>
¢J— @@8Jz2. 13.r. 3 BRI 12 — .
¢/observation>
{/component>

{conponent typeCode="COHP™>
<observation classCode="0B5" moodCode="EVN™>
¢code code="10" codeSystew="2. 16. 840. L. 113683, 3.989. 5. L. 3. 2. 1. 107 displayNene="13EPDIEFI OF ]| />
<value xsi:type="BL" value="false”/>
- <l-- 888)2. 13. 1. 4t BEDOEFAOHE 2 —>
{/ohservation?
{/component?
{/organizer>
</subjectf2>
</primaryRole>
{/subject1>
<component] typeCode="COMP“>
{observationEvent classCode="0OBS” moodCode="EVN">
{code code="10" codeSystem="2, 16.840. 1. 113883. 3. 989. 2. 1. 1. 197 displayName="comment”/>
<value xsi:type="ED"J. 4</valuc>
<b=— H.4: Sender's Comments —>
<auther typeCode="AUT™>
CassignedBntity classCode="ASSIGNED™>
<eode code="1" codeSystem="2. 16, 840, 1. 113833 3,989, 2. 1. 1. 21" displayName="sender”/>
{/assignedEntity>



{/author>
{/chservationEvent?
¢fcomponentl>
{componentl typeCode="COMP">
<observationBvent c¢lassCode="0B5" moodCode="EVN™>
{code code="3" codeSystem="2. 16, 840. 1. 113883. 3. 989.5.1.3.2. 1. 10" displayNeme="R5ETIeHT 522 "N
<value xsi:type="ED">]2 7. 2¢{/value>
<1— @8a12.7.2: RETRGTSaA»+ >
{/observationEvent>
</component1>
{componentl typeCode="COMP™>
<observationEvent classCode="0B3" moodCode="EYN™>
<code code="5" codeSysten="2, 16. 840, 1. 113883.3.989.6.1.3.2. 1, 10° displayName="45{ DXIE"/>
<valua xsiitype="ED">]J2. 10{/valued
<t— g8RJ2. 10 SHOFE —~>
{/observationEvent>
{/component1>
{componentl typeCode="COMP™>
<observationEvent classCode="0BS” moodCode="E¥N™>
" <code code="6" codeSystem="Z, 16, B40. 1. 113883. 3.989.5.1.3. 2. 1. 10" displayName="% DibBEWIHE"/>
Cvalue xsi:type="EI">J2. 11</valued
<l— 884J2.11: LOBBEBWHE >
</observationEvent>
{/component1>
{component]l typeCode="COMP™>
{observaticnEvent classCode="0BS" maodCode="EYN">
{code code="12" codeSystem="2.16.840. 1. 113883.3.989.5. 1.3, 2. 1. 10" displayName="$R4E5NEOEL"/>
<value xsi:type="ED7»]J2. 16<¢/valued
I— ead)2.16: HERATOEA —
</observationEvent>
{/component 1>
¢/adverseEventAssessment>
</component>
<component typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="23" codeSystem="2. 16. B40. 1. 113883. 3. 989, 2. 1. 1. 19" displayName="localCriteriaForExpedited”/>
<value xsi:type="BL" value="true”/> .
¢{1— C.1.7: Does This Case Pulfil the Local Criteria for an Expedited Repert? —>
. {/observationEvent>
</component>
CoutboundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG" moodCode="E¥N">
<code code="1" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. [. 1. 22" displayName="initialReport”/>
<subjectOf2 typeCode="SUB]™>
<controlActEvent classCode="CACT” moodCode="EVYN™>
<author typeCode="AUT"> "
<assighedEntity classCode="ASSIGNED™>
{code code="C.1.8.2" codeSystem="2. 16. 840, 1, 113883, 3,989, 2. 1. 1,3"/>
{1— €. 1.8.2: First Sender of This Case —>
{/assignedEntity>
</author>
{/eontrolActEvent
{/subjectDf2>
{/relatedInvestigation>
{/outhoundRclationship>
<outboundRelationship typeCode~"SPRT>
<relatedInvestigation classCode="INVSTG" moodCode="EVN">
{code nullFlaver="NA"/>
{subject0f2 typeCode="SUB]™>
<controlActEvent classCode="CACT”™ moodCode="EYN">
<id extension="C. 1. 10.r” root="2. 16. 840.1. 113883.3.989.2.1.3.2°/>
<!— C.L. M.r: Identification Nuwber of the Report Which Is Linked to This Report [repeat as ﬁecessary) #1 =-=>
</controlActEvent>
{/subject0f2>
</relatedInvestigation>
{/outboundRelationship>
<outhoundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVETG™ moodCode="EVN*>
{eade nullFlaver="Na"/>
<subjectOf2 typeCode="SUBJ">
{contrelActEvent classCode="CACT” moodCode="EVN*>
<id extension="C.1.10.r" root="2. 16. 840, }. 113883. 3.98%. 2. 1. 3. 2"/>
¢l—= C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary} #2 ==
{fecontrolActEvent>
</sub ject0f2>



{frelatedInvestigation>
</outhoundRelaticnship>
{subjectOf1 typeCode="SUB]™>
<controlActEveni classCode="CACT™ moodCode="EVN™>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<adde>
{streetAddressLineC. 3. 4. 1{/streetAddressLine> .
¢1— ¢.3.4,1: Sender’ s Street Address —>
{eity>C. 3. 4. 2¢/cityd>
{1— C.3.4.2: Sender's City —>
{statedC. 3, 4, 3¢/state>
{l— C.3.4.3: Sender's State or Province —>
{/addr>
{assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{nama>
<prefix>C. 3. 3. 2<{/prefix>
<1— C.3,3,2: Sender’s Title —>
<given>C. 3. 3. 3¢/given>
<1— €.3.3.3: Sender’ s Given Name ~—>
<given>C, 8, 3, 4<{/given>
<l— C.3.3.4: Sender’s Middle Nawe —> '
<family>C. 3. 3. 5</family>
¢I~— C.3.3.5! Sender’ s Family Name —>
{/name>
(asLocatedEntity classCode="LOCE">
Clocation classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C. 3, 4,57 codeSystem="1. 0.3166.1.2.27/>
¢1— €. 3,4,5: Sender’'s Country Code —>
</location>
</asLocatedEntity>
</assignedPerson>
<representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<{name>C, 3. 2{/name> .
¢ln= C 3.2: Sender’ s Organisation —>
¢/representedOrganization>
(/assignedEntity>
</authar>
{/controlactEvent>
¢/subject0f1>
<subjectOfl typeCode="SUB]™>
<contrelActEvent classCade="CACT” moodCode="EVN™>
¢id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.9.1.1.2" root="2, 16. 840.1.113883.3.989.2.1.3.3"/>
<]~- C.1.9.1.x.1: Source(s) of the Case Identifier (repeat as necessary) #I —>
¢I— € L9 112 Case Identifier(s) #1 ——>
{/centrolActEvent>
¢/subject0fl>
CsubjectOf1 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>

¢id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.9.1.r.2" root="2. 16, 340. L. 113883.3,989.2,1,3,3"/>
¢l== C.1.9.1.x.1: Source(s) of the Case Identifier (repeat as necessary} #2 —>
¢I— €. 1.9.1.1.2 Case Tdentifier(s) #2 —>
{/controlActEvent)>
{/subject0f1>

<subject0f2 typeCode="SUB]"> .
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="1* codeSystem="2. 16, 840, 1, 113883. 3.989. 2. 1. 1. 23" displayName="ichReportiFype”/>
Cvalue xsi:type="CE" code="C.1.3" codeSysten="2, 16.840, 1, 113883.3.989.2. 1. 1.2°/>
{I— C.1,3 Type of Report —>
<finvestigationCharacteristic>
{/subject0f2>
<subjectDf2 typeCode="SUB]™>
<investigationCharaeteristic classCode="0BS" moodCode="EVN™>
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3.985. 2, 1. 1. 23" displayName="otherCaselds™/>
<value xsi:type="BL" value="true”/>
¢I—= €.1.9.1 Other Case Identifiers in Previous Transmissions -3
¢/investigationCharacteristic> -
</subject0f2>
£subject0f2 typeCode="SUBI™>
<investigationCharacteristic classCode="0BS" moodCode="EVN™>
Ccode code="3" codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 23" displayName="nu]lificationAmendmentCode”/>
<value xsi:type="CE~ code="C.1.11.1° codeSysten="2. 16,840, 1.113883.3,989.2.1.1.5"/>
¢I— C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic> ’
{/subjectDf2>



<subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="EVN">
Ccade code="4" codeSystem="2. 16. 840. 1, 113883. 3.989. 2. 1. 1. 23" displayName="pullificationAmendnentReason™/>
Cvalue xsi:type="CE™>
<originalText>C, 1, 11, 2¢/originalText>
¢!— C.1.11.2: Reason for Nullification / Amendment —>
<{/value>
{/investigationCharacteristic>
{/subject0f2>
{subject(f2 typeCode="SUBJ">
{investigationCharacteristic c¢lassCode="0BS" moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. L. 113883, 3, 980. 5. 1. 3. 2. 1. 12" displayName="BRBIE S (HEHE "5

{value xsiitype="CE" code="]2.1a" codeSystem="2, 16,840, 1. 113883.3.98%.5.1.3.2. 1.17/>
<1— 888j2, 1a: WRES (BERT —
</investigationCharacteristic> .
</subject0f2>

(subject0f2 typeCode="SUBY™>
CinvestigaticonCharacteristic classCode="0BS" moodCode="EVN™>
{code code="2" codeSystem="2, 16.840. 1. 113883.3.989.5.1.3. 2. 1. 12" displayName="{35R¥ B"/>
<value x3i:type="T5" value="20130107"/>
<1— @#g8)z.2.1: HLEEE —
</investigationCharacteristic>
</subject0f2>
<subject0f2 typcCode="SUB]">
{investigationCharacteristic classCode="0BS" moodCode="E¥N">
Ccode code="3" codeSystem="2. 16. 840, 1. 113883, 3,989, 5. 1. 3. 2. 1. 127 displayName="8&BR BT B3 A N
Cvalue xsi:type="ED">J2.2.2¢/value>
<l-- #88J2.2.2: @SRRI ZoA —
¢/investigationCharacteristic}
</subject0f2>
{subject®f? typeCode="SUBJ">
{investigationCharacteristic classCode="0BS™ moodCode="E¥YN">
{code code="4" codeSystem="2. 16. 840, 1, 113883, 3, 989.5. 1. 3. 2. 1. 12" displayName="BRS§HitE 7 5 &7/
<value xsiltype="CE” code="J2.3" codeSystem="2. 16,840, 1, 113883, 3,989, 5.1.3.2.1.2"/>
<I-- @@dJ2.3: BIRFREZ Z S —>
{/investigaticnCharacteristic>
¢/subjectOf2>
</investigationEvent>
</subject>
</controlActProcess>
</PORR_INO4901617V>
¢l— Message #1 —>
— Message #2 —>
¢!— PORR_ING4G016UV —~>
<!-— /PORR_INO49016UV —>
<!— MWessage #2 —>
<receiver typeCode="RCY">
{device c¢lassCode="DEV™ determinerCode="INSTANCE™>
{id extension="N.l.4” root="2. 16.840. 1. 113883, 3.969.2. [. 3. 14"/>
¢l== N.1.4: Batch Receiver ldentifier —>
</device>
{/receiver)
{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.1.3" root="2.16. 840. L. 113883, 3. 989, 2, 1, 3. 13" />
¢!— N.1.3: Batch Sender Identifier =->
</device) N
&/sender>
(mCCi_INZOOlOOUVDl)
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XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.01[@xsi‘schemalocation="urn:hl7-
org-v3 '
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcess{@classCod
e="CACT1[@moodCode="EVNY/subject{@typeCode='SUBJ'][1)/investigationEvent
[@classCode="TNVSTGH[@mood Code="EVN' V/subjectOf2[@typeCode="SUBJ'][inve
stigationCharacteristic/code[@code="1'l[@codeSystem='2.16.840.1. 113883.3.989.5.
1.3.2.1.127][1)/investigationCharacteristic[@classCode='OBS'l [@mood Code="EVN'
Vivaluel@xsi: type-'CE][@codesystem—'z 16.840.1.113883. 3 989.5.1.3.2.1.1']/@c0de
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XPath /MCCI_IN200100UV01[@ITS Version=XML,_1.01[@xsi:schemal.ocation="urn:hl7-
orgiv3
MCCI_IN200100UV01.xsd'J/PORR _ INO49016UV[r]/c0ntrolActProcess[@classCod
e="CACT][@moodCode="EVIN'//subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/id[@root='2.16.840.1.113883.3.989.5.
1 3 2.3. 1][1]/@extensmn
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XPath

/MCCI_IN200100UV01[@ITSVersion=XMIL,_1.0"] [@xsi:schemal.ocation="urn:hl7-
orgv3 _

MCCI_IN200100UV0 1.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN']/subject(@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'l[@moodCode=EVN/subjectOf2[@type Code="SUBJ'l[inve
stigationCharacteristic/codel@code='2'l{@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1.1271[1)/investigationCharacteristicl@classCode="OBS'l [@mood Code="EVN'
]!value [@x31 type="TS'V/@value
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0')[@xsi:schemal.ocation="urn:hi7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcessl@classCod
e='CACTI[@moodCode="EVN'l/subject(@typeCode="SUBJ'][1]/investigationEvent
[@classCode=INVSTGH@mood Code="EVN/subjectOf2[@type Code="SUBJ l[inve
stigationCharacteristic/code[@code='3'][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121][1)/investigationCharacteristic[@classCode="OBS'l[@mood Code="EVN'
Jivaluel@xsi: type“'ED']/textO
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. XPath

/MCCI_IN2001000V01[@ITSVersion=XML_1.0'}[@xsi:schemal.ocation="urn:hl7-
orgv3d

MCCI_IN200IOOUVO1.xsd']/PORR_INO4901GUV[r]/controlActProcess[@cléssCod
e="CACT'][@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="TNVSTG'][@moodCode="EVN'l/subjectOf2{@type Code="SUBJ'[inve
stigationCharacteristic/code[@code="4'[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristic[@classCode="OBS'{@mood Code="EVN'
]/value[@xm type—'CE][@codeSystem“'Z 16.840.1.113883.3.989.5.1.3.2.1.2' ]!@code
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XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'][@xsi:schemalocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd l/PORR_IN049016UV(r}/controlActProcessi@classCod
e='CACT'[@moodCode="EVN'l/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG 1 [@moodCode='EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TINVSTG'][@mo
0dCode="EVN/subject1[@typeCode="SBJ'|[1)/primaryRole[@classCode=TNVSBJ'
JsubjectOf2[@type Code="SBJ'l[organizer/code[@code="4'][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20][1)/organizer[@classCode='"CATEGORY'| [@mood Code="E
VN')/component[@typeCode="COMP'][substanceAdministration/idi[kl/substanceA
dministrationf@classCode="SBADM'][@mood Code="EVN'/consumable[@typeCode
='CSM')[1}/instanceOfKind[@classCode="TNST/kind OfProduct[@classCode="MM
AT'][@determinerCode="KIND"l/asManufacturedProduct[@classCode="MANU"/su
bjectOfl@typeCode='SBJ'l[characteristicl[1)/characteristiclcode[@code="1][@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10][1][@classCode="OBS] [@mood Cod
e='"EVN'l/valuel@xsi:type='CE'] [@codeSystem'"'Z 16.840.1.113883.3.989.5.1.3.2.1.
3'/@code '
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XPath /MCCI IN200100UV01[@ITSVersmn—'XML 1.0'][@xsi'schemal.ocation="urn:hl7-
org-v3

MCCL IN200100UV01 xsd'l/PORR_IN049016UV(r}/controlActProcessl@classCod
e='"CACT"l{@mood Code="EVN'l/subject(@type Code="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN']/componentf@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'H@mo

odCode="EVN']/subject1[@typeCode="SBJ'][1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode="SBJ'l{organizer/codel@code='4'][@codeSystem="2.16.840.

1 1.113883.3.989.2.1.1.20] [1]/organizer[@classCode='"CATEGORY'[@mood Code="E

VN'l/component[@typeCode='COMP'l [substanceAdministration/id][k]/substanceA
dministration[@classCode='"SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'H1)/instanceOfKind[@classCode="INST'}/kindOfProduct[@classCode="MM
AT'l[@determinerCode="KIND')/fasManufacturedProducti@classCode="MANU"/su
bjectOf[@typeCode='SBJ'[approvall{1)/approvall@classCode='"CNTRCT'l[{@mood
Code="EVN'l/pertinentInformation[@typeCode="PERT'][1)/policy[@classCode="PO
LICY'll@moodCode="EVN/code[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.
4')/@code
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XPath
(value)

/MCCI_IN200100UV01[@ITSVersion="¥ML_1.0[@xsi'schemaLlocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR INO49016UV[r]/controlActProcess[@classCod
e="CACT']|[@moodCode="EVNY/subjecti@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="TINVSTG'][@moodCode="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode="INVSTG'l{@mo
0dCode="EVN')/subject1[@typeCode="SBJ'][1}/primaryRole[@classCode='INVSBJ'
V/subjectOf2[@typeCode="SBJ'] [oxganizer/code[@code="4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'1] [1)/organizerl@classCode="CATEGORY'] [@moodCode="E
VN"/componentl@typeCode="COMP'][substanceAdministration/idl[kl/substanceA
dministration{@classCode="SBADM'] [@moodCode="EVNl/consumablel@typeCode
='CSM'1[1]/instanceOfKind[@classCode=TNST')/subjectOfi@type Code="SBJ'l/obse
rvationEventlcodef@code="21[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"
N{1)[@classCode="OBS'] [@moodCode—'EVN']/value[@x31 type="CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@code

XPath
(aull

flavor)

/MCCI_IN200100UV01[@ITS Version=XML_1.0'][@xsi:schemalocation="urn:hl7-

org-v3

MCCI_IN200100UV01.xsd I/PORR_IN049016UV[r]/controlActProcessl@classCod
e='CACT'l[@moodCode="EVN'I/subjectl@typeCode='SUBJ'|[1}/investigationEvent
[@classCode="INVSTG']|[@mood Code="EVN'l/component[@typeCode='"COMP'l[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'] [@mo

odCode="EVN'l/subject1[@typeCode="SBJ'][1]/primaryRole[@classCode=TNVSBJ'
I/subjectOf2[@typeCode="SBJ'H[organizer/codel@code="4'][@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'11[1)/organizer[@classCode='"CATEGORY J{@moodCode="E
VN'1/componenti@typeCode='COMP'] [substanceAdministrationfid][1]/substanceA

| dministrationl@classCode='SBADM'][@moodCode="EVN'l/consumablel@typeCode

= CSM'H1)instanceOfKind[@classCode='TNST'l/subjectOfl@type Code="SBdJ'l/obse
rvationBventlcode[@code="21[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10'
11[1][@classCode='"0OBS1[@mood Code="EVN'l/value[@xsi‘type="CE'll@codeSystem

J2.7. 1 mT'

='2.16.840.1. 113883 3 989.5.1.3.2.1.5']/@nu]lFlavor
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/MCCI_IN200100UV01 [@ITSVe_rsion='XML_1. 0'l[@xsi:schemalocation="urn:hl7-

XPath
orgv3
MCCL_IN200100UV01.xsd'l/PORR_IN049016UVIx)/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="TNVSTG'I[@moodCode="EVN'/statusCode/@code
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HERH %mT%ﬁiODi}ﬁAii ﬂimTﬁE’cﬂ:U)EEE 75:'?1"?’

M5 2L

TR 10000d

TAEE =l E 2

XPath /MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l[@xsi:schemalocation="urn:hl7-

orgv3
MCCI_IN200100UV01.xsd'I/PORR_IN049016UVI[r}/controlActProcessl@classCod
e="CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TINVSTG'][@mood Code="EVN'}/component[@typeCode='COMP'}[adv
erseEventAssessment][{1]/adverseEventAssessment{@classCode="INVSTG'l [@mo
0dCode="EVN'V/component1[@typeCode='"COMP'][observationEvent[code[@code="
3'1[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'11l[1)/observationEvent[@c

lassCode="OBS'] [@moodCode—'EVN ]lvalue [@xs1 type='ED']ltextO
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi‘schemaLocation="urn‘hl7-

org:vd
MCCI_IN200100UV01.xsd'I/PORR_IN0490168UV[r)/controlActProcessl@classCod
e='CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'I[1)/investigationEvent
[@classCode="INVSTG'l{@moodCode="EVN'l/subjectOf2[@typeCode='"SUBJ'llinve
stigationCharacteristic/code[@code="5'"1[@codeSystem="2.16.840.1.113883.3.989.5.
1.8.2.1.12'11[1}/investigationCharacteristic[@classCode="OBS'l1[@mood Code="EVN'

J2.82. WERSAOHEE

Ifvaluel@xsi: type—'CE'] [@codesystem—'z 16 840 1 113883 3. 989.5.1.3.2.1.6']/@c0de

b%é‘b:ﬁé
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F—&E 10000J

HEE B B 50

XPath /MCCI_IN2001000UV0 1[@ITSVersion=‘XML_1. 0'l[@xsi:schemaliocation="urn-hl7-
org-v3

MCCI_IN200100UV01.xsd'I/PORR_IN049016UVIx)/controlActProcessl@classCod
e='CACT][@moodCode="EVN'/subjectl@typeCode='SUBJ'I[1VinvestigationEvent
[@classCode="INVSTG] [@mood Code='"EVNl/subjectOf2[@typeCode="SUBJ'][inve

| stigationCharacteristic/code[@code="6'l[@codeSystem="'2.16.840.1.113883.3.989.5.

1.3.2.1.12')[1)/investigationCharacteristicl@classCode="OBS' [@mood Code="EVN'

]/value[@x51 type“'ED']/textO
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XPath /MCCIL_IN200100UV01[@ITSVersion="XML_1.0[@xsi:schemaLocation="urn:hl7-
orgv3d )

MCCI_IN2001OOUVO1.xsd']!PORR__IN049016T.TV[r]!coﬁtrolActProcess[@classCod
e='CACT"|[@moodCode="EVN/subjecti@typeCode="SUBJ'[1]/investigationEvent
[@classCode='INVSTG'] [@moodCode="EVN'l/component@typeCode='"COMP"l{adv
erseEventAssessment][(1]/adverseEventAssessment[@classCode=TNVSTG[@mo
0dCode="EVN')/component1[@type Code="COMP'l[observationEventlcode[@code='
41[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'][1]/observationEvent[@c

lassCode="OBS'] [@moodCode—'EVN']/value [@xsi: type"'ED']/textO
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XPath

MCCI IN200100UV01[@ITSVer81on"'XML 1.0 [@xsi:schemal.ocation="urn:hi7-
orgv3

MCCI_IN200100UV01.xsd IY/PORR_IN049016UV[r]/controlActProcessli@classCod
e='CACT][@mood Code='"EVN'Isubject[@typeCode="SUBJI[1)/investigationEvent
[@classCode="TNVSTG'] [@moodCode-'EVN‘]/component[@typeCode 'COMP'][adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode=TINVSTG'] {@mo
0dCode="EVN'l/component1[@typeCode='COMP'l{observationEventl[code[@code="
5'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'][l[1)/observationEvent[@c
lassCode="OBS'T{@mood Code="EVN"/valuel@xsi:type="ED'l/text(
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IR
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML:_1.0'l[@xsi:schemal.ocation="urn:hl7-
org:v3 '
MCCI_IN200100UV01.xsd')/PORR._IN049016UVIrl/controlActProcessl@classCod
e="CACT'l[@mood Code="EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component{@type Code='"COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'] [@mo
0dCode="EVN"l/component1{@typeCode="COMP'] [observationEvent[code [@code='
6' [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'T11[1]/ocbservationEvent[@c
lassCode="OBS1[@moodCode="EVN/value [@x51-type='ED']/textO
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV0L.xsd'l/PORR_IN049016UVIx)/controlActProcessi@classCod
e='CACT'][@mood Code="EVN')/subject(@typeCode='"SUBJ'] [l]llnvestlgatlonEvent
[@classCode=INVSTG'{@moodCode="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]//adverseEventAssessment[@classCode="INVSTG'][@mo
odCode="EVN'l/subject1[@typeCode="SBJ'][1)/primaryRole[@classCode=TNVSBJ’
l/subjectOf2[@typeCode='SBJ'l[organizer/codel@code="4"l[@codeSystem="2.16.840.
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1.113883.8.989.2.1.1.2011[1]/organizer(@classCode='"CATEGORY'| [@moodCode="E
VN'l/component[@typeCode="COMP'l[substanceAdministration/idl/substance Ad

ministrationl@classCode="SBADM'][@moodCode="EVN'l[consumable/instanceOf

Kind/kindOfProduct/asSpecializedKind/genera]izedMateria]Kindfcode/briginalTe
xt][1]/consumable[@typeCode='"CSM'[1VinstanceOfKind[@classCode="TNST'V/kin
d0fProductl@classCode="MMAT'] [@determinerCode="KIND')/asSpecializedKind[
@classCode="GEN'[1)/generalizedMaterialKind[@classCode="MAT'] {@determiner
‘Code="KIND')/code/originalText/text()
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XPath /MCCI_IN200100UV01[@ITSVersion=XML,_1.0"1[@xsi:schemal.ocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'}/PORR_IN049016UV[r)/controlActProcessl@classCod
e='"CACT']{@moodCode="EVN'/subjectl@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/component{@typeCode="COMP'|[adv
erseEventAssessmentl[1]/adverseEventAssessmentl@classCode=INVSTG'l[@mo

0dCode="EVN'l/subject1[@typeCode="SBJ'|[1]/primaryRole[@classCode=TNVSBJ'
VsubjectOf2[@typeCode="SBJ'[organizer/code[@code="1"][@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.111][r}/organizerl@classCode='CATEGORY'] [@mood Code
="EVN')/component[@type Code="COMP')/observation[@classCode='OBS'H@mood

Code=EVN'l[codel@code="7"] [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'

Nivaluel@xsi:type='INT/@value
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F— 58 1000J

HRE B B

XPath /MCCI_IN200100UVO01[@ITSVersion="XML,_1.0'[@xsi:schemal.ocation="urn‘hl7-
orgv3d

MCCI_IN2001000UV01.xsd'l/PORR_IN049016UV[r]l/controlActProcessl@classCod
e='CACT'][@moodCode="EVN'l/subjectl@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG1@moodCode="EVN'l/component@type Code="COMP"][adv
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erseEventAssessmentl[1]/adverseEventAssessment[@classCode="INVSTG'] [@mo

0dCode="EVN'/subject 1[@typeCode="SBJ][1l/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode="SBJ'l[organizer/code[@code='11[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'll[x]/organizerl@classCode='"CATEGORY'] [@mood Code
=EVN'l/ecomponent[@type Code="COMP'l/observation[@classCode="OBS'] [@mood

Code="EVN'l[code[@code="81[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10"

Nivaluel@xsitype="ED'l/text(

EBRY | BEEEEECER SOV AR R T

ok E ik BRAHBEHEZRE L TWAEEICR, Bf2EMIT s LT3, 2B, 1B%
' EREFEZRE L TORWEAICIE, B#KS LB ho— FESERLCRE TS -

&o

7 —HE IN

FrEfE BI#E 5 2R

XPath /MCCI_IN200100UVO01[@ITSVersion=XML_1.01[@xsi:schemalocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'/PORR_IN049016UVI[r)/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subject[@typeCode="SUBJ'l[1)/investigationEvent,
[@classCode='"INVSTG'[@mood Code="EVN'l/component[@typeCode='"COMP][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVN'l/subject1[@typeCode="SBJ1[1]/primaryRole[@classCode="TNVSRJ'
l/subjectOf2[@typeCode="SBJ"l[organizer/codel@code='11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11']][r)/organizer(@classCode="CATEGORY'l [@mood Code
="EVN'l/component[@typeCode="COMP'l/observation[@classCode='OBS'] [@mood
Code="EVN'l[code[@code='9'][@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10' )
ivaluel@xsi:type="CE][@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.7Y@cod

e

J2.13.r.4 - E%tlmﬁmoﬁ.,

BEHHH 2 5% iﬂt':@?“?ﬁﬁiﬁa\%ﬂ%qﬂ@*ﬁﬁ%@ﬁﬁ%m?u

Ao IR O — FETRZS T—ARTEHEAERWDIESIT True=F] %, WARNESIT
[False=&| #&EiRTHZ L,

F—HEH | T 10A

A true=7F
false=1E
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org:v3 '
MCCI_IN200100UV01.3sd/PORR_IN049016UVI[r)/controlActProcessl@classCod
e='CACT{@moodCode="EVN'/subject[@typeCode='"SUBJ'][1)/investigationEvent
[@classCode=TNVSTG'] [@mood Code="EVN'l/component@type Code="COMP'] [adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode=INVSTG1{@mo
odCode='EVN']/subjéct1[@typeCode='SBJ'][1]/primaryRole[@classCode='INVSBJ '
I/subjectOf2[@typeCode="SBJ") [organizer/codel@code="1"l[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.111] [x)/organizer[@classCode='CATEGORY' [@mood Code
=FVN')/component[@typeCode='COMPVobservation[@classCode="0BS][@mood
Code="EVN'[code[@code="10'][@codéSystem="2.16.840.1. 113883 3.989.5.1.3.2.1.1

J2.145 K- BERL L

0Mlivalue [@x51 type—'BL ]/@value

HEHH

F‘%ﬁmﬁé\ é #&ﬁ@ﬁﬂ{’ﬁﬂﬁ%ﬁ:%ﬁﬁﬁmggw Eﬁ';ﬁl “c% ttwb 0)’(%%’)%—'&@:
S, FOMOBESIIEME T 5, ICSREE D Ei.2.1b BIfEA AEHFR (MedDRA
a— R) FEBEST Sh. BHEREICHRM - BEREME5T 5. (FRHEDRBTELER,
ABAED 18 FOMOERBMEALEREIRL TOEEFH) © (1) 2387
Bk

Ei VR

— FEPOBIRLUTRERTDH T &,

7— 5B

1IN

FFAE

I=2RH
2=FE5m

XPath

/MCCI_IN200100UV01[@ITS Version="XML,_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3 ‘
MCCI_IN200100UV01.xsdJ/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT"l[@mood Code="EVN')/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="TINVSTG'1[@mood Code="EVN'l/component[@typeCode='"COMP'I[adv
erseEventAssessmentl[1}/adverseEventAssessment[@classCode="INVSTG'[@mo
0dCode="EVN')/subject1l[@typeCode='SBJ'|[1]/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode='SBJ' [observationfidllcode[@code="29{@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19T1][l/observation[@classCode='OBS' [@moodCode=
'EVNT/outboundRelationship2[@type Code=PERT'] [observation/code[@code="11'1[
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']]{1)/observation[@classCode=
'OBS' [@moodCode="EVN')/value[@xsi‘type="CE'l[@codeSystem='2.16.840.1.11388
3.3. 989.5.1.3.2.1.8']/@code

J2 15r

ASRE

Iﬁﬁﬁfﬁ

H%ﬁ’zi&U%@#&%iﬁﬁ;h_ b\'C &qu_ b\(ﬁttpq/ ﬁ&%én—dxg-g@;
AREERT,
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ROk Eo— Fho@Eflia— FE8RLTEETIZ L.
MIEMEDRE. BEE/LBEEEOMENL. RREREFOEEZRR T =&,
o, SEREREOHES. BBEEFTokEZRMITIE,
HEHEICBW T, BEEORFILBICL > TR—OEBER L ENEES. 12D
HFLLTHRELTELIZRY, TORICEREE2 1 FRICTH L., 29 IELEF]
ALT, ZFHUBILEOMhOARBEEZTH TS Z &,
®E. F—OBEMIE TR SHEAITE. SHAREI OV TEINRET 5, -
O, BIERRE ORICET THZEBMREORREE2 R TS = &, YZ@Eo
AREVEEDHZBEIEVRLEFATEZ L,
BB, FEOHENENAELRIBEER, JBRELT5 L,

F— & Bl 2A

FFEME IS0 3166-1 747 7-2 DE=2—F

XPath MCCI_IN200100UV01[@ITSVersion="XML,_1.0'}[{@xsi:schemalocation="urn:hl7-

org:vd
MCCI_IN200100UV01.xsd'//PORR_IN 049016UV[r]!controlActProcess[@classCod
e='CACT)[@mood Code="EVN'/subject{@typeCode="SUBJ1[1)/investigationEvent
[@classCode='INVSTG][@mood Code="EVN'l/reference[@typeCode="REFR'l{docu
ment/code[@code="2'] [@codesys_temﬁz. 16.840.1.113883.3.989.2.1.1.27][r)/docum
entl@classCode="DOCT[@mood Code="EVNI/participation[@type Code='AUT/assi
gnedEntity[@classCode='ASSIGNEDl/representedOrganization[@classCode='"OR
G'l[@determinerCode="INSTANCE'//asLocatedEntity[@classCode='LOCE/locatio
nl[@classCode="COUNTRY'l[@determinerCode=TNSTANCE'l/code[@codeSystem=
'1.0.3166.1.2.27/@code

J2.16 BENEOES

SR OMEOERETRT,

T B A FERER Uﬂ@?’t%ﬁi@%

FCH T ik 7L

TF—FH 500J

FEE B H ECi

XPath /MCCI_IN200100UV01[@ITSVersion="XML._1.0'] [@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr}/controlActProcess[@classCod
e='CACT"l[@moodCode="EVN/subjectl@typeCode='SUBJ'I[1]/investigationEvent
[@classCode="INVSTG'] [@moodCode=‘EVN']/comp0nent[@typeCode='CQMP'] [adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode='INVSTG'[@mo

0dCode="EVN'l/component1[@typeCode="COMP"][cbservationEventlcode[@code='
12'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'][I{1}observationEvent[@

classCode='OBS'] {@moodCOde—'EVN']lvalue [@x51 type—'ED ]/text()

J217r ﬁﬁ/ﬁf%ﬁ@ﬁ}ﬁ
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TH A A BrocspE n1Ba. TR A% Xid [FERRRERER /%) DRERY,
o 2L '
F—F®™ 1IN
TEE 1=FRIRABR, W50
2=JE R SRR, HTIE
XPath ' MCCI_IN200100UV01{@ITSVersion="XML,_1.01[@xsi:schemalocation="urn’hl7-
orgv3 :
MCCI_IN200100UVO01. xsd']/PORR IN049016UVIrl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN/subject(@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="TNVSTGl{@moodCode="EVN'l/reference[@typeCode=REFR'][docu
ment/codel@code="2"1{@codeSystem="2.16.840.1.113883.3.989.2.1.1.271}[x]/docum
ent[@classCode 'DOC ] [@moodCode—'EVN ]!t1tle/text0
J2:18.1 iEEMSL L - ,
TH B A ICSR @ {.:- %‘@ﬁﬂ%ﬁ% %:T‘?“o
ot R s HSZATEEA E%nn EREISRRATIE L ETRT D,
F—&8 | 100J
TAE B HFEHL
XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemaLocation="uxn:hl7-
org:v3d '
MCCI_IN200100UV01.xsd'//PORR_ IN049016UV[x)/controlActProcessl@classCod
e="CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'I[1)/investigationEvent
[@classCode="TNVSTG'] [@mood Code="EVN'}/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent/primarylnformationRecipient][1)/controlActEventl@classCode='"CAC
T [@moodCode="EVNl/primaryInformationRecipient[@typeCode="PRCP'}/assign
edEntity[@classCode='ASSIGNEDV/representedOrganization[@classCode="ORG']
[@determmerCode—‘INSTAN CE'] /nameftexto '
J2:18:2 ﬁ%"ﬂﬁﬁ R ‘
gﬁ%ﬁﬁfﬁ ICSRUD {n%‘ﬂ)f‘i’a‘ %:T‘J"
LR HEE LR 5,
7 — & A 100J
FFEE B Hie#k
XPath . /MCCI_IN200100UV01[@ITS Version="XML_1.0'][@xsi:schemaLocation="urn‘hl7-
orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcess@classCod
e='CACT"][@moodCode="EVN'l/subject[@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'l{@mood Code="EVN'//subjectOf1[@typeCode="SUBJ"] [cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode='CAC
T][@mood Code="EVN'/primarylnformationRecipientl@type Code="PRCP'Vassign
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edEntity[@classCode='ASSIGNEDI/assignedPersonl[@classCode='"PSN'l[@determ
1nerCode—'INSTAN CE']/namelpreﬁx[l]/textO

J2.18.3 1 RIBHRE BT -

T H A ICSR @%i‘%"aﬂi%ﬂ‘ﬂ"

B TE HBEOBREROKERHT S,

TR 100J

AR B HFEH .

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0"{[@xsi'schemalocation="urn:hl7-
org:-v3
MCCI_IN200100UV01.xsd')//PORR_IN049016UVI{rl/controlActProcess(@classCod
e='CACT'll@mood Code=EVN'l/subject[@type Code="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@mood Code=EVN'V/subjectOf1[@typeCode='SUBJ"[cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent{@classCode="CAC
T} [@moodCode='EVN']/primaryInformationRecipient[@typeCode=‘PRCP']/assign
edEntityl@classCode='ASSIGNED'//assignedPerson[@classCode="PSN'[@determ
1nerCode—'INSTAN CE'l/mame/family[1]/text(

J2.184 BisEE .

HEME | ICSR @mf”%"ﬂ)ﬁ R,

B ks BEOBEER DA FRHT 5,

— &% | 100d

FEE H R

XPath -[ MCCI_IN200100UV01[@ITSVersion=XML,_1.0'][@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd I/PORR_IN049016UV[x]/controlActProcess[@classCod
e='CACT'][@moodCode="EVN')/subject[@typeCode='SUBJ ']Il]/investigationEvent
[@classCode=TNVSTG'][@mood Code='EVN'/subjectOf 1 [@type Code="SUBJ][cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode="CAC
T'][@moodCode="EVN'/primaryInformationRecipient[@typeCode="PRCP")/assign
edEntityl@classCode='"ASSIGNED/assignedPerson[@classCode="PSN"][@determ
inerCode="TNSTANCE"//name/given[1]/text()

J2.19 . MEE1 -

HEA THEE

EL Wika 2L

7T—FE $0000J

TEE B B EEid

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'l[@xsi:schemaLocation="urn:h}7-
org-v3
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[r]/controlActProcessl@classCod
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e='"CACT']{@mood Code="EVN'l/subject@type Code="SUBJ'][1]/investigationEvent
[@classCode="TNVSTG'[@moodCode="EVN'l/component@typeCode='"COMP'][adv
erseBventAssessment] [1_]/adverseEventAssessment[@classCode=‘INVSTG'] [@mo
0dCode="EVN'//component1[@typeCode="COMP'] [observationEventlcode[@code="
13'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101]i[1)/observationEvent[@

classCode="0BS1[@mood Code="EVN/value[@xsi‘type="ED']/text(}

5 B #HA FiEEE
RO 7L
F-Z& | 10000J
HFAEE B Bk
XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'[@xsi:schemaLocation="urn:hl7-
org:v3 |
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcessl@classCod
e='CACT'][@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode="COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG][@mo
0dCode="EVN")/component1[@typeCode='"COMP'][observationEvent[code[@code='
141[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.107]{1)/observationEvent[@
- | classCode="OBSl[@mood Code="EVN']/valuel@xsi:type="EDV/text( -
TR A R S
HE A FiEER
RLAk G TR 2L
F—&% | 10000J
FEE B i Fak
XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'][@xsi:schemaLocation="urn:h17-

' org:v3d .
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV(r}/controlActProcess(@classCod
e='CACT'I[@mood Code="EVN'l/subject(@typeCode="SUBJ'|[1])/investigationEvent
[@classCode=TNVSTG [@mood Code="EVNYcomponentl@typeCode="COMP'[adv
erseEventAssessmentl[1]/adverseEventAssessment{@classCode=INVSTG'][@mo
0dCode="EVN")/component1[@typeCode="COMP'][observationEventlcodel@code="
15'[@codeSystemn='2.16:840.1.113883.3.989.5.1.3.2.1.10'][l{1l/observationEvent[@
classCode="OBS" [@mood Code="EVN'l/value[@xsi:type=ED'//text(

IH B A THER
OB L
5 — & El 10000J
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FrAE

H b

XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'/[@xsi:schemaLocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd//PORR_IN049016UV[r)/controlActProcessl@classCod
e='CACT']|[@mood Code="EVNT/subject@typeCode="SUBJ'I[1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN"//component[@typeCode="COMP][adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode='INVSTG '] [@mo
o0dCode="EVN/component1[@typeCode='"COMP'l[observationEvent[code[@code="
16'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1071][1)/observationEvent[@
classCode='0BS'][@mood Code='EVN')/value[@xsi:type="ED'l/text(
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